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Seat

No. [4701]-301

T.Y. B.A. EXAMINATION, 2015

COMPULSORY ENGLISH

(Text : Reflections III)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 80 words each (any

two) : [16]

(i) Write a character sketch of Schatz with reference to ‘A Day’s

Wait’.

(ii) Trace the journey from ‘guru’ to ‘father’ in the relationship

between Pandit Ravi Shankar and George Harrison.

(iii) How does the character of the Swallow in ‘The Happy Prince’

grow and develop ?

2. Answer the following questions in about 80 words each (any

two) : [16]

(i) Discuss ‘The Unicorn in the Garden’ as a story about the battle

of sexes.
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(ii) What are the steps to resolve conflicts ?

(iii) Comment on the relationship between the chimney sweeper

and his master.

3. Attempt the following in about 100 words each (any two) : [16]

(i) Write a letter to your friend inviting him/her to spend the

summer vacations at your place.

(ii) Write a paragraph on importance of bio-diversity in our

lives.

(iii) Write an essay on the following (any one) :

(a) The Uses and Misuses of Mobile Phones

(b) The Role of Youth in Nation Building.

4. Attempt the following (any eight) : [16]

(i) Form one word each using the following suffixes (any two) :

(a) ---ment

(b) ---ful

(c) ---hood

(d) ---al.

(ii) Make adjective forms of the following (any two) :

(a) Symbol

(b) Enjoyment

(c) Sympathy

(d) Cooperation.
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(iii) Find out the odd words in the following (any two) :

(a) computer, screen, diary, mouse

(b) sickle, rope, plough, sword

(c) borrow, receive, provide, obtain.

(iv) Give synonyms of the following words (any two) :

(a) Confident

(b) Intelligent

(c) Credible.

(v) State whether the following are the instances of British English

or American English :

(a) movie

(b) lift

(c) garbage

(d) wardrobe.

(vi) Fill in the blanks with appropriate phrasal verbs given in the

brackets :

(a) Tom had just ....................... an ointment on his wound.

(put out, put on)

(b) Mr. Patil was ....................... his old grandmother.

(looking up, looking after)

(vii) Write down the right combinations of the collocations of the

following alternatives :

(a) a large mistake/a big mistake

(b) tell a lie/speak a lie.
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(viii) Fill in the blanks choosing the correct alternatives given in

the brackets :

(a) Ornithology is a study of ....................... .

(birds, plants)

(b) Misogynists hate ....................... . (men, women)

(ix) Give the full forms of the following :

(a) MIDC

(b) FIR.

(x) Complete the following sentences choosing an appropriate

alternative :

(a) If you are constantly tempted to steal, you are

a ....................... . (kleptomaniac/nymphomaniac)

(b) A ....................... person is able to speak two languages

equally well. (multilingual/bilingual)

5. Attempt the following (any eight) : [16]

(i) Punctuate and rewrite the following sentence :

leela where are we going asked margaret

(ii) Use the correct tense forms of the verbs given in the

brackets :

(a) Mary ....................... coffee in the morning every day.

(drink)

(b) We ....................... all day yesterday. (work)
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(iii) Make your own sentences using the following phrases :

(a) Beware of

(b) Give up.

(iv) Change the voice of the following :

(a) The police arrested many criminals yesterday.

(b) The government has decreased the price of petrol

again.

(v) Change the following sentences into impersonal, formal, public

notice :

(a) You are not allowed to park your car near the signal

post.

(b) You are not allowed to spit at the public places in

India.

(vi) Fill in the blanks with appropriate articles :

(a) Ramesh is ....................... university student.

(b) She is ....................... untidy girl.

(vii) Complete the following sentences with ‘will’ or ‘going to’ as

appropriate :

(a) I (book) the cab if you get the train tickets.

(b) All right then, I (leave) the cheque with you and he

can pick it up later.
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(viii) Underline the subordinate clauses in the sentences given

below :

(a) When I went to the station, the train had already

left.

(b) Unless you are confident, you should not make that

venture.

(ix) Fill in the gaps with appropriate discourse markers given in

the brackets :

Do you know what happened ?

......................., let me tell you what happened.

(now then/well then)

(x) Match the words given in the Column ‘A’ with their meanings

given in the Column ‘B’ :

Column ‘A’ Column ‘B’

(a) Exhilarated (i) Excellent

(b) Top-notch (ii) Petrol in American English

(c) Gas (iii) A fight or argument

(d) Confrontation (iv) Very excited and happy.
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Total No. of Questions—5+4] [Total No. of Printed Pages—7

Seat

No. [4701]-302

T.Y. B.A. EXAMINATION, 2015

MARATHI (ejkBh)

lkekU;Lrj vH;klif=dk ÿ-&3 (G-3)

(vk/kqfud ejkBh lkfgR; o mi;ksftr ejkBh)

(2008 PATTERN)

vH;klÿe :— (i) xzaFk ijh{k.k-

(ii) izkFkZusph ?kaVk («f«r «s[klaxzg)µvðkksd dksrok«-

(iii) fpuh ekrhrh« fnol (izokl o.kZu)µ«{e.k xk;dokM-

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj f«gk % [16]

(v) xzaFk ijh{k.kkph iz;kstus FkksMD;kr f«gk-

fdaok

xzaFk ijh{kdkP;k vaxh dks.krh ik=rk vlkoh \

(c) rqEgk«k Hkko«sY;k ,[kknÓk lkfgR;œrhps ijh{k.k djk-
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2. [kk«h«iSdh izR;sd xVkrh« rhu izðukaph mŸkjs ohl ðkCnkai;±r f«gk % [12]

(v) (1) «f«r xnÓkph O;k[;k f«gk-

(2) «f«r xnÓkP;k izsj.kk dks.kR;k \

(3) «f«r xnÓklkBh ^xqtxks"Vh* gk ðkCn dks.kh ;ksft«k vkgs \

(4) «f«r xnÓ «s[kdkaph nksu ukos f«gk-

(5) «f«r xnÓkph nksu oSfðk"VÓs f«gk-

(c) (1) izokl o.kZukph O;k[;k f«gk-

(2) izokl o.kZukpk izk.kHkwr ?kVd dks.krk \

(3) ejkBhrh« ifg«s izokl o.kZu dks.krs \ rs dks.kh f«fg«s \

(4) izokl o.kZukps gsrw dks.krs \

(5) izokl o.kZukps osxˇsi.k f«gk-

3. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mŸkj 50 ðkCnkai;±r f«gk % [12]

(v) «f«r xnÓ vkf.k oSpkfjd xnÓ ;krh« Qjd Li"V djk-

fdaok

«f«r xnÓkrh« ^eh* P;k tkf.kosps Lo:i f«gk-
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(c) izokl o.kZu «s[kukekxh« izsj.kk dks.kR;k \

fdaok

izokl o.kZu «s[kukP;k e;kZnk Li"V djk-

4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 200 ðkCnkai;±r f«gk % [20]

(v) ^lkoY;k* ;k «s[kkrh« fofo/k O;fDrjs[kkapk vk<kok ?;k-

fdaok

^izkFkZusph ?kaVk* ;k «f«r «s[k laxzgkrh« «s[kkaph Hkk"kkðkS«h Li"V djk-

(c) ^fpuh ekrhrh« fnol* ;k izokl o.kZukps osxˇsi.k lksnkgj.k f«gk-

fdaok

^fpuh ekrhrh« fnol* ;k izokl o.kZukrh« fpuh ðksrdjh thoukpk ifjp;

d:u nÓk-

5. [kk«h«iSdh izR;sd xVkrh« dks.kR;kgh ,dk izðukps mRrj 300 ðkCnk ai;±r

f«gk % [20]

(v) ^izkFkZusph ?kaVk* ;k «f«r «s[klaxzgkrh« «s[ku euk«k vLoLFk djrs] ;k

fo/kkukpk ijkeðkZ ?;k-

fdaok

^HkVdarh* vkf.k ^f{krht vkf.k eh* ;k «s[kkaps FkksMD;kr foospu djk-
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(c) ^fpuh ekrhrh« fnol* ,d mRœ"V izokl o.kZu vkgs-* ppkZ djk-

fdaok

^fpuh ekrhrh« fnol* ;k izokl o.kZukrh« izeq[k O;fDrjs[kkapk vk<kok

?;k-
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[4701]-302

(O;kogkfjd o mi;ksftr ejkBh)

(i;kZ;h vH;klÿe)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl ðkCnkai;±r f«gk % [20]

(1) izlkjek/;ekaps eq[; mÌsðk f«gk-

(2) fofo/k izlkjek/;es dks.krh \

(3) nSfud òŸki=krh« dks.krhgh pkj lnjs lkaxk-

(4) o`Ÿki=h; «s[kukps izdkj f«gk-

(5) JkO; ek/;ekph nksu oSfðk"VÓs lkaxk-

(6) vkdkðkok.kho:u fL=;kalkBh izlkfjr gks.kkjs dk;Zÿe dks.krs \

(7) o`Ÿki= vkf.k vkdkðkok.kh ;krh« nksu Qjd f«gk-

(8) tkfgjkrhps ?kVd f«gk-

(9) nwjnðkZuoj uO;kus lq: >k«sY;k ejkBh okfgU;kaph nksu ukos lkaxk-

(10) nwjnðkZu ek/;ekph oSfðk"VÓs-
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(11) Hkkjrkr vkdkðkok.kh gs izlkjek/;e dsOgk lq: >k«s \

(12) òŸki=kps pkj rkaf=d foHkkx dks.krs \

(13) eq«k[krhps ?kVd f«gk-

2. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj iUukl ðkCnkai;±r f«gk % [10]

(v) vkdkðkok.kho:u izlkfjr gks.kkÚ;k ckrE;kaps Lo:i f«gk-

fdaok

o`Ÿki=klkBh ^dpjk leL;k* ;k fo"k;koj LraHk«s[ku djk-

(c) nwjnðkZu ;k izlkjek/;ekpk tuekulkoj gks.kkjk ifj.kke-

fdaok

^x`g&okLrwiznðkZu* ;k fo"k;koj o`Ÿki=klkBh tkfgjkr r;kj djk-

3. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) ðkgjkrh« ^okgrwd leL;k* ;k fo"k;koj okpdkapk i=O;ogkj ;k lnjklkBh

i=«s[ku djk-

fdaok

nwjnðkZulkBh efg«k m|kstdkph eq«k[kr r;kj djk-

(c) ^;qodkapk O;fDreŸo fodkl* ;k fo"k;koj vkdkðkok.khlkBh ikp fefuVkaps Hkk"k.k

r;kj djk-

fdaok

^gW«ks MkWDVj* dk;ZÿekarxZr ^ck«dkaps vkjksX;* ;k fo"k;koj nwjnðkZulkBh laokn

«s[ku djk-
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4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkai;±r f«gk % [30]

(v) izlkjek/;ekaps lkeF;Z o e;kZnk foðkn djk-

fdaok

tkx`rh efg«k eapkus vk;ksftr ds«sY;k ^fuHkZ; dU;k vfHk;ku* ;k dk;Zÿekpk

o`Ÿkkar o`Ÿki=klkBh r;kj djk-

(c) KkuihB iqjLdkj izkIr lkfgfR;d Hkk«paÊ usekMs ;kaph vkdkðkok.khlkBh eq«k[kr

r;kj djk-

fdaok

^ðksrhleksjh« vkOgkus* ;k fo"k;koj nwjnðkZulkBh ekfgrhiV r;kj djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-303

T.Y. B.A. EXAMINATION, 2015

MARATHI (ejkBh)

foðððððks"kLrj vH;klif=dk ÿ-&3 (S-3)

(lkfgR; fopkj)

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkai;±r f«gk % [20]

(1) dks«fjt ;kauh ds«s«h lkfgR;kph O;k[;k f«gk-

(2) ^fojspu* gh ladYiuk dks.kh ekaM«h \

(3) txUukFk iafMrkph izfrHksph O;k[;k f«gk-

(4) ðkS«hph O;k[;k f«gk-

(5) :id Eg.kts dk; \

(6) izfrHks«k osMkph cgh.k dks.kR;k ekulðkkL=Kkus EgV«s vkgs \

(7) vkLokn Eg.kts dk; \

(8) ^vkSfpR; fopkjppkZ* gk xzaFk dks.kh f«fg«k \

(9) d«kRed vf«Irrsph ladYiuk dks.kR;k leh{kdkus ekaM«h \
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(10) lkfgR;kph loZJs"B rhu ewY;s dks.krh \

(11) lkfgR;kP;k oxhZdj.kkph rŸos lkaxk-

(12) dFkk ;k lkfgR; izdkjkps nksu ?kVd f«gk-

(13) LQwrhZ Eg.kts dk; \

2. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj lqekjs 50 ðkCnkai;±r f«gk % [10]

(v) lkfgR;krh« vuqHkokps foðks"k µ oSpkfjdrk-

fdaok

ftKklkr`Irh gs lkfgR;kps iz;kstu lkaxk-

(c) ^viz/kkurk* lkfgR;kP;k vkLoknkrh« ,d vMFkˇk-

fdaok

^ok≥~e;hu i;kZoj.k* gs vfHk#ph fHkUursps dkj.k vkgs- FkksMD;kr f«gk-

3. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 200 ðkCnkai;±r f«gk % [20]

(v) lkfgR;fufeZrhr dYiukðkDrhps egŸo lkaxk-

fdaok

«{k.kk ðkCnðkDrhps lksnkgj.k foospu djk-

(c) vfHk#ph fHkUursph dkj.ks FkksMD;kr f«gk-

fdaok

^pfj=* ;k lkfgR;izdkjkps Lo:i foðkn djk-
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4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj 300 ðkCnkai;±r f«gk % [30]

(v) lkfgR; Eg.kts dk; \ lkfgR;kps Lo:i Li"V djk-

fdaok

ðkS«h Eg.kts dk; \ rs lkaxwu ðkS«hps izdkj FkksMD;kr f«gk-

(c) vkLoknklkBh vkoð;d vl.kkjs xq.k dks.krs \ lfoLrj f«gk-

fdaok

ckaf/k«dhph ladYiuk Li"V d:u lkfgfR;dkP;k ckaf/k«dh fo"k;h lksnkgj.k

foospu djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-304

T.Y. B.A. EXAMINATION, 2015

MARATHI (ejkBh)

foðððððks"kLrj vH;klif=dk ÿ-&4 (S-4)

(,sfrgkfld Hkk"kkfoKku o o.kZukRed Hkk"kkfoKku)

(2008 PATTERN)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h«iSdh dks.kR;kgh ngk izðukaph mŸkjs izR;sdh ohl ðkCnkai;±r f«gk % [20]

(1) ,sfrgkfld Hkk"kkfoKkukps tud dks.kkl EgV«s tkrs \

(2) Hkk"kkdq« Eg.kts dk; \

(3) MkW- ika- nk- xq.ks ;kaP;k ers ejkBhpk tUe dks.kR;k Hkk"ksiklwu >k«k \

(4) dks.kR;kgh pkj izkœr Hkk"kkaph ukos f«gk-

(5) rsjkO;k ðkrdkrh« nksu xzaFkdkjkaph ukos f«gk-

(6) lrjkO;k ðkrdkrh« ejkBhoj dks.kR;k Hkk"kkapk izHkko fnlrks \

(7) Lofuekph O;k[;k f«gk-

(8) ejkBhrh« vFkZLoj dks.krs \

(9) :fiekaps nksu izdkj f«gk-
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(10) oS/kE;Z;qDr fofu;ksx Eg.kts dk; \

(11) inca/k (ðkCnca/k) ;kph O;k[;k f«gk-

(12) O;atu Eg.kts dk; \

(13) vFkkZps pkj izdkj f«gk-

2. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj iUukl ðkCnkai;±r f«gk % [10]

(v) vk;Z Hkkjrh; Hkk"kkdq«kph FkksMD;kr ekfgrh nÓk-

fdaok

;knodk«hu ejkBhoj dkuMhpk izHkko dlk fnlwu ;srks \

(c) Lofue o Loukarj ;ke/kh« ijLijlaca/k Li"V djk-

fdaok

:fie fufðprh djrkuk dks.kR;k xks"Vhapk fopkj ds«k tkrks \

3. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj nksuðððððks ðkCnkai;±r f«gk % [20]

(v) ejkBh Hkk"ksP;k mRiŸkh laca/kh vl«sY;k fofo/k erkapk ijkeðkZ ?;k-

fdaok

fðkodk«hu ejkBhps Lo:i Li"V djk-

(c) [kaMkf/kf"Br Lofue Eg.kts dk; \ [kaMkf/kf"Br Lofuekaps izdkj f«gk-

fdaok

:fidk&:fie&:fidkarj ;krh« ijLijlaca/k lksnkgj.k Li"V djk-
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4. [kk«h«iSdh izR;sd xVkrh« ,dk izðukps mŸkj rhuðððððks ðkCnkai;±r f«gk % [30]

(v) Hkk"kkdq« gh ladYiuk Li"V d:u baMks&;qjksfivu Hkk"kkdq«kpk ifjp; d:u

nÓk-

fdaok

dkf«d Hksn gh ladYiuk Li"V d:u dkf«d Hksnkph dkj.ks f«gk-

(c) okD; Eg.kts dk; \ okD;kps ?kVd foðkn djk-

fdaok

ejkBhrh« vFkZfoU;klkps Lo:i Li"V djk-
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Note : Note : Note : Note : All questions carry equal marks. Attempt all questions.
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General Paper IIIGeneral Paper IIIGeneral Paper IIIGeneral Paper III
(Language Skills)(Language Skills)(Language Skills)(Language Skills)
(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80
Use of ONLY a bilingual dictionary is allowed.
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Special Paper 4Special Paper 4Special Paper 4Special Paper 4
(Study of Culture & Civilization Through Informative(Study of Culture & Civilization Through Informative(Study of Culture & Civilization Through Informative(Study of Culture & Civilization Through Informative
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T.Y. B.A. EXAMINATION, 2015

URDU

General Paper  III

(History of Novel, Drama and Afsana)

(2008 PATTERN)

Time : Three Hours   Maximum Marks : 80

N.B. :—(1) Attempt  All  questions.

(2) All  questions carry equal marks.
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Seat

No. [4701]-316

T.Y. B.A. EXAMINATION, 2015

HINDI (G-3)

fganh (lkekU;&3)

(fuca/k] dkO;&ukVd rFkk ys[ku)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

ikB~;iqLrdsa :— (i) fuca/k lkSjHkµlaik- mek tk/ko A

(ii) xkFkk dq#{ks= dhµeuksgj ';ke tks'kh A

lwpuk,° :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1. (v) fuEufyf[kr vaxszth ikfjHkkf"kd 'kCnksa esa ls fdUgha N% ds fganh i;kZ;okph

'kCn fyf[k, % [6]

(1) Assistant

(2) Head Master

(3) Chief Controller

(4) Director

(5) Lecturer

(6) Measuring Officer

(7) Protocol Officer

(8) News Reporter.



[4701]-316 2

(vk) fuEufyf[kr vaxzsth laf{kfIr;ksa esa ls fdUgha pkj ds iw.kZ fganh i;kZ;

fyf[k, % [8]

(1) A.D.

(2) B.O.P.

(3) D.D.

(4) D.I.C.

(5) F.C.I.

(6) G.O.I.

(7) H.R.D.

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij lekpkj ys[ku dhft, % [6]

(1) egkfo|ky; esa laiUu ^fganh lIrkg* lekjksg A

(2) egkfo|ky; esa vk;ksftr lafo/kku fnol A

2. fuEufyf[kr vorj.kksa esa ls fdUgha nks dh llanHkZ O;k[;k dhft, % [10]

(1) vius vk°lqvksa dks iksaN ÊkSinh] /kS;Z /kj

thou&Mky ls Vid iM+saxs ;qºHkwfe esa]

dky ds idk;s dkSjo

;ksºk ifr rsjs nsaxs mUgsa e`R;qnaM

fnyk;saxs rq>s izfr'kks/k

(2) vc Hkwy tk xksiuh; ml :i dks

ys fQj eSa ogh rsjk

l[kk gw° lEcU/kh gw°] lkjFkh gw°

lk{kh gw° ;qº dk

fufeŸk ;qxkUr dk A
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(3) mitrk gS vU;k; ls vU;k;

vuhfr vuhfr dks vkxs c<+krh gS

vdqvk x;k v/keZ rks oVo`{k cu tkrk gS A

(4) ve`r thou dk }kj gS ;gh

lcls jgL;e; Kku ;gh gS fd

euq"; vkSj euq";rk----

Js"Brj dqN Hkh ugha gS A

3. (v) fuEufyf[kr iz'uksa eas ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) euq"; ds gkFk dh esgur esa izse dk jl gksrk gS] dSls \

(2) cq<+kis dks ys[kd ujd D;ksa dgrk gS \ bls ^cq<+kik* fuca/k ds

vk/kkj ij le>kb, A

(3) ^uhydaB* fuca/k esa lkekftd folaxfr dks ys[kd us fdu 'kCnksa esa

fpf=r fd;k gS \

(vk) fuEufyf[kr iz'uksa esa ls fdUgha nks ds mŸkj fyf[k, % [10]

(1) Hkh"e ds e`R;q ds izlax dk o.kZu dhft, A

(2) xka/kkjh us Jhœ".k dks dSlk 'kki fn;k vkSj D;ksa \

(3) ^xkFkk dq#{ks= dh* bl dkO;&ukVd ds osnO;kl dh O;Fkk dks

le>kb, A

4. (v) fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [10]

(1) fuca/kdkj jke/kkjhflag ^fnudj* us ^fgEer vkSj ftanxh* fuca/k }kjk

D;k lans'k fn;k gS \

(2) ^thou dk vFkZ iru gS* µ bl mfDr dks ^cq<+kik* fuca/k ds

vk/kkj ij le>kb, A
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(vk) fuEufyf[kr iz'uksa esa ls fdlh ,d iz'u dk mŸkj fyf[k, % [10]

(1) ;qº ds eSnku esa vius lxs&lacaf/k;ks a dks lkeus ns[kdj vtqZu

ij D;k vlj gqvk vkSj Jhœ".k us ek sfgr vtq Zu dks dSls

le>k;k \

(2) ^xkFkk dq#{ks= dh* dkO;&ukVd dh dFkkoLrq vius 'kCnks a es a

fyf[k, A

(b) fuEufyf[kr esa ls fdlh ,d fo"k; ij i=&ys[ku dhft, % [5]

(1) Hkkjr ljdkj ds œf"k ea=ky; }kjk [kk|kUuk s a dh olwyh ds

laca/k esa jeuflag] milfpo] Hkkjr ljdkj] ubZ fnYyh] lHkh jkT;

ljdkjksa dks ,d ifji= Hkstrk gS µ bldk uewuk rS;kj dhft, A

(2) Hkkjr ljdkj ds x`g ea=ky; dh vksj ls th- j?kqukFk] milfpo] x`g

ea=ky;] egkjk"V™ jkT; ds Nk=ksa ds miÊo ds fo#º mfpr dkjZokbZ

djus dk vkns'k nsrk gS µ bl dk;kZy; vkns'k dk uewuk rS;kj

dhft, A

(bZ) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, % [5]

Hindi is our National Language. It takes its origin from Sanskrit

which incidentally is the mother of all Indian languages. Hindi

Literature is mirror of Indian culture and it reflects in wide

sweep all that is truly and typically Indian, particularly its

spiritualism, philosophy and menifestation of culture and life.
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Here we can name some literary figures of Hindi Literature

like Meera, Surdas, Tulsi, Kabir, Rahim, Nirala, Premchand

and Mahadevi Verma etc.

vFkok

fganh vkeph jk"V™Hkk"kk vkgs- frpk tUe laLœr Hkk"ksrwu >kyk vkgs o laLœr

gh vU; Hkkjrh; Hkk"kkaph tuuh vkgs- fganh lkfgR; Hkkjrh; laLœrhpk vkjlk

vkgs- fganh Hkk"ksrhy lkfgR; fo'ks"kr% v/;kRe] n'kZu] laLœrh vkf.k thou

gs Hkkjrh; tuthoukps izfrfcac vkgs- fganh Hkk"ksr vkEgh ehjk] lwjnkl] rqylh]

dchj] jghe] fujkyk] izsepan o egknsoh oekZ b- pk mYys[k d: 'kdrks-
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(iz;kstuewyd fganh)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1. (v) fuEufyf[kr vaxzsth okD;ksa esa ls fdUgha vkB okD;ksa dk fganh esa vuqokn

dhft, % [8]

(1) We are not concerned with this.

(2) There is no justification for interfering with the decision

of the director.

(3) The final bill is not on prescribed form.

(4) The matter has been referred to the administration

ministry.

(5) The receipt of the letter has been acknowledged.

(6) Pay can be fixed under FR 22.

(7) Draft approved as amended.

(8) I fully agree with the office note order may be issued.
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(9) Kamala has been applied for final withdrawal from her

G.P.F.

(10) Payment is to be made quarterly at the rates given in

this estimate.

(11) Fresh proposals in this regard are invited.

(12) Chief controller has returned the papers.

(vk) fuEufyf[kr v°xzsth laf{kfIr;ksa esa ls fdUgha vkB laf{kfIr;ksa ds fganh foLrkfjr

:i fyf[k, % [8]

(1) D.R.D.A.

(2) G.A.T.T.

(3) C.D.E.C

(4) S.A.A.R.C.

(5) N.A.B.A.R.D.

(6) U.P.S.C.

(7) A.F.C.

(8) I.A.S.

(9) M.P.

(10) S.E.T.

(11) U.K.

(12) C.B.I.
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2. (v) fuEufyf[kr esa ls fdUgha nks fo"k;ksa ij fjiksVZ fyf[k, % [8]

(1) vius 'kgj esa laiUu x.ks'kksRlo A

(2) vius egkfo|ky; esa laiUu ^fganh fnol* lekjksg A

(3) lM+d nq?kZVuk A

(4) vius egkfo|ky; esa laiUu ^LoPNrk vfHk;ku* A

(vk) fuEufyf[kr ifjPNsn dk ,d&frgkbZ lkj fyf[k, vFkok ifjPNsn ds uhps

fn, x, iz'uksa ds mŸkj fyf[k, % [8]

Hkz"Vkpkj ds fuokj.k ds fy, gekjh U;k; O;oLFkk vkSj naMuhfr dk fu"i{k]

dBksj ,oa Êqrxfr gksuk vko';d gS A U;k; vFkok naM esa foyac gksus ls

tgk° nqjkpkjh dh fgEer c<+ tkrh gS] ogk° drZO;fu"B vkSj bZekunkj vkneh

dk vkpj.k Hkh /khjs&/khjs nwf"kr gksus yxrk gS A og Hkh fuHkhZd gksdj Hkz"Vkpkfj;ksa

ds Vksys dk lkFk nsus dks rS;kj gks tkrk gS A rqjar fujh{k.k vkSj rR{k.k

fu.kZ; ij vey dh uhfr viukdj Hkz"Vkpkj mUewyu dk ,d vU; mik;

;g Hkh fd;k tkuk pkfg, fd gj NksVk&cM+k ljdkjh vFkok xSj&ljdkjh

vf/kdkj izkIr deZpkjh viuk in l°Hkkyus ls igys viuh laifŸk dh ?kks"k.kk

dj ns A rnqijkar izfr nks o"kZ ckn tk°p gks fd D;k mldk O;; mldh

vk; ds vuqikr ls gh gS] rFkk mls vuqfpr vkenuh rks izkIr ugha \

nks"kh O;fDr dks lkoZtfud :i ls nafMr fd;k tk, A bl izdkj Hkz"Vkpkj

dks /khjs&/khjs de djus esa lgk;rk feysxh A
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vFkok

(1) Hkz"Vkpkj ds fuokj.k ds fy, orZeku O;oLFkk esa D;k ifjorZu vko';d

gS \

(2) U;k; vFkok naM ds foyac dk D;k ifj.kke gksrk gS \

(3) izLrqr ifjPNsn esa Hkz"Vkpkj ds mUewyu ds fy, D;k mik; lq>k;k x;k

gS \

(4) izLrqr ifjPNsn dks mi;qDr vkSj lkFkZd 'kh"kZd lq>kb, A

3. (v) fuEufyf[kr esa ls fdlh ,d fo"k; ij vkdk'kok.kh vFkok nwnj'kZu ds

fy, foKkiu dk uewuk rS;kj dhft, % [6]

(1) bafnjk vkokl ;kstuk

(2) VkVk uSuks dkj

(3) ch-,l-,u-,y- eksckby lsok A

(vk) fuEufyf[kr esa ls fdlh ,d ifjPNsn dk fganh esa vuqokn dhft, %  [6]

Two time World-Cup winning Captain Ricky Ponting feels Micheal

Clarke is the right man to lead Australia at the Cricket World

Cup but says he should relinguish ODI captaincy after the

mega-event. “I believe that the right time for Micheal to hand
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over the one day captaincy to Steven will be after the conclusion

of this World Cup,” Ponting said. “In Micheal’s body and mind

he may only have another two or three years left at Test

level, and I think it would be a good time for Steven to

take over the one-day job and Micheal to remain as test captain.

This would give Smithy a bite more of a chance to get used

to the idea of captaining his country long-team.”

vFkok

vkWLV™sfy;kps iariz/kku Vksuh vWckWV gs R;kaP;k lŸksyk 17 efgus iw.kZ gksr vlrkuk

ekaM.;kr vkysY;k fo'okl n'kZd Bjkokoj FkksMD;kr cpkoys vkgsr- toˇikl

rks e`R;qpk vuqHko gksrk] vls R;kauh BjkokP;k oš h lkafxrys- fycjy i{kkP;k

[kklnkjka'kh cksyrkuk vWckWV ;kauh vls vk'oklu fnys dh ljdkj pkyfo.;kP;k

iºrhr cny dsys tkrhy o ljdkj iqUgk Bhd&Bkd dj.;klkBh R;kauh lgk

efgus ekfxrys vkgsr- vWckWV ;kauh lkafxrys dh fo'okl Bjko 61&39 erkauh

vki.k ftadyk- ,chlh izlkj.k daiuhP;k ers ,dk [kklnkjkus fpßhoj dsoˇ

^ikl* vls fyfgys- fycjy i{kkP;k [kklnkjkauh lkafxrys dh vWckWV ;kauk

gk /kDdk gksrk- dkj.k R;kaps la[;kcˇ deh gksrs- vkEgh rqeP;klkBh o fuoMwu

ns.kkÚ;k yksdkalkBh dke dj.;kl opucº vkgksr-
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4. (v) fuEufyf[kr esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [20]

(1) ljdkjh i= dh izeq[k fo'ks"krk,° fyf[k, A

(2) jktHkk"kk fganh vf/kdkjh ds drZO;ksa ij izdk'k Mkfy, A

(3) nwjn'kZu Hkk"kk ds Lo:i dks Li"V dhft, A

(4) {ks=dk;Z dk egRo Li"V dhft, A

(5) {ks=dk;Z esa izfrosnu dk Lo:i fo'kn dhft, A

(6) Hkkjrh; lafo/kku ds jktHkk"kk ls lacaf/kr vuqPNsn 348 dk ifjp;

nhft, A

(vk) fuEufyf[kr esa ls fdUgha pkj fo"k;ksa ij fVIif.k;k° fyf[k, % [16]

(1) vuqokn izfÿ;k

(2) ifji= dk Lo:i

(3) fganh ds izpkj&izlkj esa ukxjh izpkfj.kh lHkk dk ;ksxnku

(4) {ks=dk;Z esa iz'ukoyh dk egRo

(5) {ks=dk;Z dh iz.kkfy;k°

(6) vkdk'kok.kh Hkk"kk dh fo'ks"krk,° A
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Seat

No. [4701]-317

T.Y. B.A. EXAMINATION, 2015

HINDI : Special-3

fganh % fo'ks"k&3

fganh lkfgR; dk bfrgkl

(vkfndky ls vk/kqfuddky rd)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) fganh lkfgR; ds bfrgkl ds dky foHkktu vkSj ukedj.k ds fo"k; esa izfrikfnr

fofHkUu erksa dh leh{kk dhft, A

(2) jhfrdkyhu lkfgR; dh fo'ks"krk,° fyf[k, A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) izseekxhZ dkO;/kkjk dh izeq[k fo'ks"krkvksa dk ifjp; nhft, A

(2) œ".kHkfDr dkO; dk ifjp; nsrs gq, ehjkckbZ ds lkfgfR;d ;ksxnku dks Li"V

dhft, A
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) izxfroknh lkfgR; dh izeq[k izo`fŸk;k° Li"V dhft, A

(2) f}osnh ;qxhu dkO; dh izeq[k fo'ks"krkvksa dks crkrs gq, mlesa egkohj izlkn

f}osnh ds ;ksxnku dks Li"V dhft, A

4. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) fganh ukVÓ&fo/kk ds fodklkRed ÿe dk ifjp; nhft, rFkk izlkn ds LFkku

dks v/kksjsf[kr dhft, A

(2) fganh miU;kl fo/kk ds fodklkRed ÿe dk foospu djrs gq, mlesa tSusaÊdqekj

ds ;ksxnku dks Li"V dhft, A

5. (v) fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) jk"V™h; dkO;/kkjk ds nks izeq[k dfo;ksa ds uke fyf[k, A

(2) ^Nk;kokn* dh nks izo`fŸk;k° fyf[k, A

(3) ^iz;ksxokn* dh nks fo'ks"krk,° fyf[k, A

(4) vkpk;Z jkepaÊ 'kqDy ds nks fuca/k laxzg crkb, A

(5) izsepan rFkk tSusaÊ ds ,d&,d miU;kl dk uke fyf[k, A

(6) fganh ds nks ,sfrgkfld ukVdksa ds uke fyf[k, A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) lkdsr ds izeq[k nks ik=ksa ds uke fyf[k, A



[4701]-317 3 P.T.O.

(2) ^'ks[kj ,d thouh* fdldh jpuk gS \

(3) ^fHk{kqd* dfork ds dfo dkSu gSa \

(4) ^dkek;uh* ds nks ik=ksa ds uke fyf[k, A

(5) ^xksnku* miU;kl esa of.kZr izeq[k leL;k dkSulh gS \

(6) ^iq"i dh vfHkyk"kk* dfork ds dfo dkSu gSa \

(7) ^;'kiky* fdl fopkj/kkjk ds miU;kldkj gSa \

(8) vkpk;Z gtkjhizlkn f}osnh ds fuca/k laxzg dk uke fyf[k, A

(9) ^paÊdkUrk* miU;kl ds ys[kd dkSu gSa \

(10) fdlh ,d vk°pfyd miU;kldkj dk uke fyf[k, A
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Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-318

T.Y. B.A. EXAMINATION, 2015

HINDI : Special-4

fganh % fo'ks"k isij&4

(Hkk"kkfoKku vkSj fganh Hkk"kk)

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk :— (i) lHkh iz'u vfuok;Z gSa A

(ii) nkfguh vksj fy[ks vad iz'uksa ds iw.kk±d gSa A

1. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) Hkk"kk dh ifjHkk"kk crkrs gq, Hkk"kk vkSj cksyh ds varj dks Li"V

dhft, A

(2) jk"V™Hkk"kk fganh dk izpkj&izlkj djus okyh fofo/k laLFkkvksa dk lfoLrkj

ifjp; nhft, A

2. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) Hkk"kkfoKku dk Lo:i] ifjHkk"kk crkdj Hkk"kkfoKku vkSj O;kdj.k dk

laca/k Li"V dhft, A

(2) okD; dh ifjHkk"kk] vko';drk crkrs gq, okD; ds jpukRed izdkjksa ij

izdk'k Mkfy, A
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3. fuEufyf[kr esa ls fdlh ,d iz'u dk mŸkj foLrkj ls fyf[k, % [16]

(1) nsoukxjh fyfi dk bfrgkl crkdj fyfi dh oSKkfudrk ij izdk'k

Mkfy, A

(2) vFkZ dk Lo:i] ifjHkk"kk ,oa 'kCn vkSj vFkZ dk laca/k Li"V djrs gq,

vFkZ ifjorZu dh fn'kkvksa dk lksnkgj.k ifjp; nhft, A

4. fuEufyf[kr esa ls fdUgha nks ij fVIif.k;k° fyf[k, % [16]

(1) vo/kh

(2) ifjfuf"Br Hkk"kk

(3) laca/k rRo ds izdkj

(4) /ofu xq.k A

5. (v) fuEufyf[kr iz'uksa esa ls fdUgha pkj iz'uksa ds mŸkj la{ksi esa fyf[k, % [8]

(1) [kM+h cksyh dh izeq[k nks fo'ks"krk,° fyf[k, A

(2) ^rRle* 'kCn dk lksnkgj.k ifjp; nhft, A

(3) ^Hkk"kk iSr`d laifŸk ugha gS* Li"V dhft, A

(4) vFkZ ifjorZu ds nks dkj.kksa ds uke fyf[k, A

(5) lao`r Lojksa ds mnkgj.k fyf[k, A

(6) ew/kZU; /ofu;ksa dks fyf[k, A

(vk) fuEufyf[kr esa ls fdUgha vkB iz'uksa ds mŸkj ,d&,d okD; esa fyf[k, % [8]

(1) fons'kh 'kCnksa ds nks mnkgj.k fyf[k, A
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(2) ^jktHkk"kk* fdls dgrs gSa \

(3) Hkk"kk dh ,d izeq[k fo'ks"krk fyf[k, A

(4) ;kn`fPNd /ofu ls D;k rkRi;Z gS \

(5) daB~; /ofu;ksa dks fyf[k, A

(6) jpuk ds vk/kkj ij okD; ds fdrus Hksn fd, tkrs gSa \

(7) ?kks"k /ofu dk nwljk uke D;k gS \

(8) [kM+h cksyh ds vU; uke fyf[k, A

(9) ekuo okd~ /ofu;ksa dk v/;;u fdl foKku ds varxZr fd;k tkrk

gS \

(10) ek=k fdls dgrs gSa \



Total No. of Questions—5] [Total No. of Printed Pages—4

[4701]-319

T.Y. B.A. EXAMINATION, 2015

PERSIAN

General  Paper  III

(2008  PATTERN)

Time : Three Hours   Maximum Marks : 80

Text :— (1) Miras-e-Zban-e-Farsi.  

(2) Chahar Maquala.         

N.B. :—(1) All  questions are compulsory.

(2) Figures to the right indicate full marks.

1. Comment on the style of Khaqani. [16]

Or

Explain the concept of love according to Iqbal.

Or

Explain the life sketch and literary work of Shaikh Saadi.

2. Explain in Persian or translate and explain into English, Urdu or

Marathi (any four) : [16]

P.T.O.

 Seat
  No.



3. Explain merits and demerits of Chahar Maqala. [16]

Or

Tace the general survey of the stories .

4. (A) Expla in  in your own Pers ian any one  s tory of  the

following : [8]

2 [4701]-319



(B) Write the central idea of any one of the following : [8]

5. Translate the following passages into English, Urdu or M a r a t h i

(any two) : [16]

P.T.O. 3 [4701]-319
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Total No. of Questions—5] [Total No. of Printed Pages—4+2

Seat

No. [4701]-320

T.Y. B.A. EXAMINATION, 2015

SANSKRIT

General Paper III

Title : (1) Pratimanatakam

     (2) Bhaminivilasah

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two from Section ‘A’ and

‘B’ each from the following passages.

iq<hy ifjPNsnkaiSdh ^v* vkf.k ^c* foHkkxkrhy dks.kR;kgh nksgksaps baxzthr fdaok ejkBhr

Hkk"kkarj djk-

Section A

(foHkkx ^v*)

(i) lhrk µ g¥ts vonkfudk ifj'kf¡ro.ksZo n`';rsA fdUuq [kfYooSrr~A

psVh µ HkfV~Vfu lqyHkkijk/k% ifjtuks ukeA vijkºk Hkfo";frA

lhrk µ ufg ufg gflrqfeosPNfrA

P.T.O.

[10]
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vonkfrdk µ (mil`R;) t;rq HkfV~Vfu u [kYogeijkºkA

lhrk µ dk Roka i`PNfrA vonkfrds fdesrn~ okegLrifjx`ghre~A

(ii) jke% µ rsu fg vku; vgeso 'kqJw"kf;";sA

jko.k% µ vf; Nk;ka ifj‚R; 'kjhja u y–;kfeA okpkuqòfŸk% [kYofrfFklRdkj%A

iwftrks∑fLeA vkL;rke~A

jke% µ ck<e~A (mifo'kfr)

jko.k% µ (vkRexre~) ;kongefi czk„.kleqnkpkjeuq"BkL;kfeA (izdk'ke~)

Hkks% dk';ixks=ks∑fLeA lk¬ksik¬a osne/kh;s ekuoh;a /keZ'kkL=a

ekgs'oja ;ksx'kkL=a ckgZLiR;eFkZ'kkL=a es/kkfrFks% U;k;'kkL=a izkpsrla

JkºdYia pA

(iii) dSds;h µ xPN tkrA vfHky"kkfHk"ksde~A

jke% µ ;nkKkiR;EckA (fu"ÿkUr%)

  (usiF;s)

t;rq Hkoku~A t;rq LokehA t;rq egkjkt%A

t;rq nso%A t;rq eÊeq[k%A t;rq jko.kkUrd%A

dSds;h µ ,rs iqjksfgrk% d¥pqfdu% iq=dL; es fot;?kks"ka o/kZ;Ur% vk'khfHkZ%

iwt;fUrA

lqfe=k µ izœr;% ifjpkjdk% lTtuk‹p iq=dL; es fot;a o/kZ;fUrA
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Section B

(foHkkx ^c*)

(i) leqikxrofr nSoknogsyka dqVt e/kqdjs ek xk%A

edjUnrqfUnykukejfoUnkuke;a egkekU;%˚

rkoRdksfdy fojlku ;ki; fnolkUoukUrjs fuolu~A

;kofUeynfyeky% dks∑fi jlky% leqYylfr˚

(ii) rks;SjYiSjfi d#.k;k HkheekukS funk?ks

ekykdkj O;jfp Hkork ;k rjksjL; iqf"V%A

lk fda 'kD;k tuf;rqfeg izko`";s.;su okjkaA

/kkjklkjkufifofdjrk fo‹orks okfjnsu˚

(iii) piyk tynP;qrk yrk ok

r#eq[;kfnfr la'k;s fueXu%A

xq#fu%‹oflrS% dfieZuh"kh

fuj.kS"khnFk rka fo;ksfxuhfr˚

[10]
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2. Explain with reference to the context any two from Section ‘A’ and

Section ‘B’ each.

^v* vkf.k ^c* foHkkxkrhy izR;sdh nksu okD;kaps llanHkZ Li"Vhdj.k djk-

Section A

(foHkkx ^v*)

(i) dkUrkjf}jn boksi;kfr th.kZ%A

(ii) vr% ija u ekrq% ifjokna JksrqfePNkfeA

(iii) jkT;a uke eqgwrZefi uksis{k.kh;e~A

(iv) vkofrZfHk‹p fo"k;SuZ cykn~ f/kz;UrsA

Section B

(foHkkx ^c*)

(i) fo|korka ldyeso fxjka noh;%A

(ii) dqVts [kyq rsusgkrsusgk e/kqdjs.k dFke~A

(iii) u[kkuka ikf.MR;a izdV;rq dfLeUe`xifr%A

(iv) œ".ksR;k[;ka dFk; jlus ;|fl Roa jlKkA

[10]

[10]
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3. Write descriptive notes on any one from Section ‘A’ and ‘B’

each :

^v* vkf.k ^c* foHkkxkrhy izR;sdh ,dk fo"k;koj foospd Vhi fygk %

Section A

(foHkkx ^v*)

(i) Bharatavakya

HkjrokD;

(ii) Character sketch of Dasharatha

n'kjFkkps O;fDrfp=.k

Section B

(foHkkx ^c*)

(i) Meghanyokti

es?kkU;ksfDr

(ii) Nadyanyokti

u|U;ksfDr

[8]

[8]
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4. Critically appreciate the 6th act of izfrekukVd- [12]

izfrekukVdkP;k lgkO;k vadkps fpfdRld jlxzg.k djk-

Or

(fdaok)

Discuss the statement ^Hkkl%µA Dramatist’. [12]

^Hkkl%µ,d ukVddkj* ;k fo/kkukph ppkZ djk-

5. Explain in detail lkxjkU;ksfDr%- [12]

lkxjkU;ksfDr% lfoLrj Li"V djk-

Or

(fdaok)

Explain in detail xtkU;ksfDr%- [12]

xtkU;ksfDr% lfoLrj Li"V djk-



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-321

T.Y. B.A. EXAMINATION, 2015

laLœr (SANSKRIT) (S-III)

Texts :— (i) y?kqflºkUrdkSeqnh

(laKk] lfU/k] foHkDR;FkZ)

(ii) History of Vedic Literature.

oSfnd ok≥~e;kpk bfrgkl-

(iii) Sanskrit Composition.

laLœr fucU/kys[ku-

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

loZ izðu vfuok;Z vkgsr-

(ii) Figures to the right indicate full marks.

mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. Explain any three of the following : [15]

iq<h«iSdh dks.kR;kgh frghaps Li"Vhdj.k djk %

(i) lqfIr≥Ura ine~ A

(ii) vkn~ xq.k% A

(iii) ,rs/kR;wB~lq A

(iv) ;jks∑uqukflds∑uqukfldks ok A

(v) vdfFkrÄ A
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2. (A) Write notes on any three of the following : [6]

iq<h«iSdh dks.kR;kgh frghaoj Vhik f«gk %

(i) Lofjr% A

(ii) lafgrk A

(iii) drkZ A

(iv) vf/kdj.ke~ A

(v) o.kksZPpkjLFkkukfu A

(B) Split any two conjuncts of the following by quoting relevant

rules : [4]

iq<hyiSdh dks.kR;kgh nksgksapk lacaf/kr lw=s lkaxwu laf/k&foxzg djk %

(i) iquk jers A

(ii) iz'u% A

(iii) f'koks oU|% A

(iv) u`°% ikfg A

(C) Give any five Vibhaktis of the underlined words from the following

sentences by giving relevant rules : [5]

[kk«h« okD;krh« dks.kR;kgh ikp v/kksjsf[kr 'kCnkaP;k foHkDrh lacaf/kr lw=kaP;k

vk/kkjs lkaxk %

(i) gs nso ! ikfg eke~ A
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(ii) jke% oua xPNfr A

(iii) jkes.k jk{kl% gr% A

(iv) ljLoR;S ue% A

(v) foizk; jtra nnkfr A

(vi) dVs vkLrs A

(vii) Hkts 'kEHkks‹pj.k;ks% A

3. (A) Write an essay on branches and sub-branches of ^;tqosZn*. [12]

^;tqosZnkP;k 'kk[kk vkf.k mi'kk[kk* ;koj fuca/k f«gk-

Or

(fdaok)

Write an essay on ^ΩXosn*.

^ΩXosn* ;koj fuca/k f«gk-

(B) Explain the Chhandas and Jyotisha Vedanga. [12]

NUn vkf.k T;ksfr"k osnkax Li"V djk-

Or

(fdaok)

State the names of principal Upanishadas and explain the topics

discussed in it.

izeq[k mifu"knkaph ukos fygwu R;krhy izfrik| fo"k; Li"V djk-
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4. Write critical paragraph on any two of the following : [16]

iq<h«iSdh dks.kR;kgh nksgksaoj foospd ifjPNsn f«gk %

(i) Different names of vFkoZosn-

vFkoZosnkph vU;kU; ukos-

(ii) Branches of lkeosn-

lkeosnkP;k 'kk[kk-

(iii) czk„.kxzaFk of ΩXosn-

ΩXosnkps czk„.kxzaFk-

(iv) Meaning of vkj.;dlaKk-

vkj.;dlaKspk vUo;kFkZ-

5. Write a short essay in Sanskrit on any one of the following : [10]

[kkyhyiSdh dks.kR;kgh ,dkoj laLœrkr fucU/k f«gk %

(i) fo}ku~ loZ= iwT;rs A

(ii) vfrfFknsoks Hko A

(iii) ee fiz;% mRlo% A



P.T.O.

Total No. of Questions—5] [Total No. of Printed Pages—3

Seat

No. [4701]-322

T.Y. B.A. EXAMINATION, 2015

SANSKRIT

Special Paper IV

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

Texts : vkRekukRekfoosd (Atmanatmaviveka)

rdZlaxzg% (Tarkasamgrah)

N.B. :— (i) All questions are compulsory.

loZ izðu vfuok;Z vkgsr-

(ii) Figures to the right indicate full marks.

mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. (A) Explain with reference to the context any three of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) vfoosd% dLekn~ Hkofr A vKkukr~ A

(ii) vkReu% fda fufeŸka nq%[ke~ A 'kjhjifjxzgkr~ A

(iii) lq"kqIrkoLFkk;ka nq%[ks fuo`Ÿks∑fi iqu#RFkkule;s mRi|ekuRokn~ oklukReuk fLFkra

Hkofr A
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(iv) f}/kk fo/kk; pSdSda prq/kkZ izFkea iqu% A

(v) losZ"kka LFkwynsgkuka vk/;kfRedkf/kHkkSfrdkf/knSfodkfn&rki&=;kfXuuk nkgRoa

laHkofr A

(B) Explain with reference to the context any three of the

following : [15]

[kkyhyiSdh dks.kR;kgh frUghaps llanHkZ Li"Vhdj.k djk %

(i) la;q‰O;ogkjgsrq% la;ksx% A

(ii) ijeija psfr f}fo/ka lkekU;e~ A

(iii) 'khrLi'kZoR;% vki% A

(iv) Kkukf/kdj.kekRek A

(v) lk/;kHkkoO;kIrks gsrqfoZ#º% A

2. vkRey{k.ke~ A [15]

Or

(fdaok)

iÄdks"kfopkj% rFkk vkReu% iÄdks"kfoy{k.kRoe~ A

3. Explain ;FkkFkkZuqHko. [15]

;FkkFkkZuqHko Li"V djk-

Or

(fdaok)

Discuss vuqfefr in detail.

vuqfefr ;k fo"k;kph lfoLrj ppkZ djk-
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4. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) 'kekfn"kV~lEifŸk% A

(ii) foKkue;dks"k% A

(iii) "kM~fo/kfy≥~xs miÿeksilagkj% A

5. Write critical notes on any two of the following : [10]

[kkyhyiSdh dks.kR;kgh nksgksaoj foospd ifjPNsn fygk %

(i) Benediction of rdZlaxzg-

rdZlaxzgkps eaxykpj.k-

(ii) mifefr% A

(iii) fo'ks"k A



Total No. of Questions—8] [Total No. of Printed Pages—4+1

Seat

No. [4701]-323

T.Y. B.A. EXAMINATION, 2015

ARDHAMAGADHI (Prakrit)

Paper (i) Nalakaha (uydgk)

(ii) Anjana Pavananjay Vuttuntu

(vatukio.kat;oqŸkqaŸkq)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate into English or Marathi any two : [12]

dks.kR;kgh nksgksaps ejkBhr fdaok baxzthr Hkk"kkarj djk %

(i) rRFk #ºks dj/kfj;/k.kqck.kflYysfga fHkYysfga A jga eqŸk.k nqDdks rk.k laeqgks djs.k

djokya uPpko;arks uyks A lhgLl o lh;kyslq dks rqg beslq vD[ksoks \

Hkjgºfot;yPNhfoyklHko.ka rs fdok.kks fda u yTt, beslq ilqik,lq igjarks \

fŸk Hk.karh, Hkq;k, /kfjvks jga eqŸkw.k ne;arh, uyks A eqDdk ne;arh, lhykekgIinqLlgk

gaqdkjk A gfj.k Oo gjhfga xqatarsfga i.kÎk fnlksfnla fHkYyk A fHkYyfiÎvks uys.k

lea x;k ne;arh nwja A

P.T.O.
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(ii) rvks /khj;k, rqÎks jD[klks A Hkf.k;a rs.k & HkÌs ! rqÎks fEg A fda rs fi;a

djsfe A rh, oqŸkaµtb rqÎks fl rk dgslq d;k es iblaxeks gksfg fŸkA foHkaxcys.k

uk≈.k vfD[k;a jD[kls.k A ioklfnolkvks vkjCHk laiqUus ckjls ofjls fimHko.kfÎ;k,

l;eso fefyLlb rs uyks A iq.kksfo rs.k oqŸkaµfda bfe.kk eXx[ks,.k \ tb

Hk.kfl rk fueslfeŸks.k rqea rk;eafnja ijk.ksfe A

(iii) xq.knkslfo;kj[kek fda rLl u lafr eafr.kks ds fo \

tsfga uyks u fuflºks vleatltafijks ,oa ˚

Hkks nw; ! xPN tb rqg lkeh fu;ksthfo;Ll fufOoUUkks A

rk gksm lejlTtks] vga fi nwv ! vkxvks ,lks A

nw,.k fo vkxarqa uyLl dfg;a d;acoTtfj;a A

rLlksofj lks dqfovks pfyvks pmjaxcydfyvks A

2. Explain with reference to the context any two : [8]

dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k |k %

(i) lOoaxjD[k.kdja do;a lhya fp; lbZ.ka A

(ii) Hkks [kqTt ! vfRFk gfRFkflD[kkfo;D[k.ka fdeUua fi foUuk.ka rs \

(iii) u fg lfUuok;xfg;Ll vkslga fda fi laHkob A
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3. Write about extra stories those occurred in ^uydgk*-  [12]

uydgkr vkysY;k vokarj dFkka laca/kh ekfgrh |k-

Or

(fdaok)

Introduce the author of ^dqekjikyizfrcks/k* with reference to the

^uydgk*-

uydFkspk lanHkZ ?ks≈u dqekjikyizfrcks/kP;k ys[kdkpk ifjp; |k-

4. Give notes on any two :  [8]

dks.kR;kgh nksgksaoj Vhik |k %

(i) Episode of ne;arh&Lo;aoj

ne;arh&Lo;aoj o`Ÿkkar-

(ii) Bad effect of gambling.

|qro`fŸkps nq"ifj.kke-

(iii) ^uyjktk* well-versed in lore.

fo|kikjaxr uyjktk-
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5. Translate any two of the following stanzas into English or Marathi : [12]

iq<hyiSdh dks.kR;kgh nksu i| mrkÚ;kaps baxzthr fdaok ejkBhr Hkk"kkarj djk %

(1) /kEejgq egkfjfl Hk.kb rsRFkq e.kqlŸkq ygsW fo obljsW fo ,RFkq A

vgks ngeqg eksga/kkjWs Nw< j;.kk;jsW j;.kq .k ysfg ew< ˚

vfe;ky,W vfem .k ysfg dse vPNfg f.kgqvm dÎem ¥kse A

ra o;.kq lq.ksfIi.kq nlfljs.k oqPpb ;ksŸkqXxhfj;fxjs.k ˚

lDdfe /kweº ,W >ai nsfo lDdfe Q.kQf.kef.kj;.kq ysfo A

(2) ,ŸkgsW fo rko iYgk;jkm lgq° ds meb,W jfoiqjgksW vkm A

lfoek.kq llkg.kq lifjok# v..kq fo rfg° io.ka t;dqek# ˚

,DdŸkgs�W nwlkoklq ybm .ka oan.kgfŸk,W banq vbm A

voj fo ts ts vkl..kHkOo rs rs foTtkgj fefy; lOo ˚

ifgyk ,W QXxq.k.kanhljkgsW fd; .go.kiq¥t rbyksDd.kkgsW A

(3) dnqvD[kjs.k ifjHkkfljs.k djsW /kfjm igat.kq igfl,.k A

ta dfjfljj;.kqTtfy; nso ra vfl o# ebyfg ,RFkq dse ˚

yfTtTtfg oksYyfg .kkb° eqD[kq f.km f.k;vkoklgksW nqD[kq nqD[kq A

nlofjllfjl x; j;f.k rklq jfo mXxm ilfj;djlgklq ˚

dksDdkosW fo .kjob ioj oj g; Hksfj i;k.km fn..kq .koj A
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6. Explain with reference to the context any two of the following : [8]

iq<hyiSdh dks.kR;kgh nksgksaps llanHkZ Li"Vhdj.k djk %

(1) fda nqOofygq;m dqekj rqg A

(2) mIi..k fpar dgksW d..k nsfe A

(3) lDdfe efg x;.kq ,Ddq djsW fo

nqº# .km lDdfe om /kjsW fo A

7. Critically appreciate the story ^vat.kkio.kat;oqŸkarq*-  [12]

^vat.kkio.kat;oqŸkarq* dFksps leh{k.kkRed jlxzg.k djk-

Or

(fdaok)

Discuss the principles of Jain philosophy highlighted by ^vat.kkio.kat;oqŸkarq*-

^vat.kkio.kat;oqŸkarq* e/;s izdkf'kr >kysY;k tSu rŸoKkukrhy rŸokaph ppkZ djk-

8. Write a critical paragraph on any one of the following : [8]

iq<hyiSdh dks.kR;kgh ,dkoj foospd ifjPNsn fygk %

(1) imepfjm

(2) Character sketch of jko.k-

jko.kkps O;fDrfp=-



Total No. of Questions—8] [Total No. of Printed Pages—4+2

Seat

No. [4701]-324

T.Y. B.A. EXAMINATION, 2015

PALI

Paper G-3

(Udan and Chariya)

(mnku vkf.k pfj;k)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

1. Translate any two of the following into English or Marathi : [12]

[kkyhyiSdh dks.kR;kgh nksgksaps ejkBh fdaok baxzthr Hkk"kkarj djk %

(i) ,oa es lqraA ,da le;a Hkxok m#osyk;a fogjfr u¥tk usj¥tjk; rhjs eqpfyUnewys

iBekfHklEcqºksA rsu [kks iu le;su Hkxok lŸkkga ,diYy¡su fuflUuks gksfr

foeqfŸklq[kifVlaosfnA

rsu [kks iu le;su egk vdkyes?kks mnikfn lŸkkgcÌfydk lhrokrnqfÌuhA vFk

[kks eqpfyUnks ukxjktk ldHkouk fuD[kfeRok Hkxorks dk;a lŸkD[kŸkqa Hkksxsfg

ifjfD[kfiRok mifjeqºfu egUra Q.ka fogPp vÎkfl&^^ek HkxoUra lhra] ek HkxoUra

m.ga] ek HkxoUra MaledlokrkriljhjlEQLlks** frA

P.T.O.



[4701]-324 2

(ii) ^^,oa] HkUrs** fr [kks rs fHkD[kw Hkxorks ifVLlqRok ckfg;Ll nk#phfj;Ll ljhjda

e¥pda vkjksisRok uhgfjRok >kisRok Fkwi¥pLl dRok ;su Hkxok rsuqil¡fe_ mil¡feRok

HkxoUra vfHkoknsRok ,deUra fulhfnalqA ,deUra fuflUuk [kks rs fHkD[kw HkxoUra

,rnokspqaµ^^nÔa] HkUrs] ckfg;Ll nk#phfj;Ll ljhja] Fkqiks pLl drksA rLl

dk xfr] dks vfHklEijk;ks** fr \

(iii) ,oa es lqraA ,da le;a Hkxok lkofRFk;a fogjfr tsrous vukFkfif.MdLl vkjkesA

rsu [kks iu le;su v¥¥krjLl mikldLl ,diqŸkdks fi;ks eukiks dky¡rks

gksfrA vFk [kks lEcgqyk mikldk vYyoRFkk vYydslk fnok fnoLl ;su Hkxok

rsuqil¡fealq_ mil¡feRok HkxoUra vfHkoknsRok ,deUra fulhfnalqA ,deUra fuflUus

[kks rs miklds Hkxok ,rnoksp& ^^fda uq [kks rqEgs mikldk vYyoRFkk vYydslk

b/kwil¡eUrk fnok fnoLlk** fr \

2. Explain any two with reference to the context : [8]

dks.krsgh nksu llanHkZ Li"V djk %

(i) ^^xkes vj¥¥ks lq[knqD[kQqÎks] usoŸkrks uks ijrks ngsFkA

QqlfUr QqLlk mif/ka ifVPp] fu:if/ka dsu Qqls∏;q QLlk**˚
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(ii) fi.MikfrdLl fHkD[kquks] vŸkHkjLl vu¥¥kiksfluksA

nsok fig;fUr rkfnuks] uks ps lÌflyksdfufLlrks** fr˚

(iii) vflIithoh ygq vRFkdkeks] ;frfUÊ;ks lCcf/k foIieqŸkksA

vuksdlkjh veeks fujklks] fgRok ekua ,dpjks l fHkD[kw**˚

3. Write a detailed note on any one group : [12]

dks.kR;kgh ,dk xVkoj lfoLrj Vhi fygk %

(i) yksdlqŸk] lDdqnkulqŸk and fifyUnoPNlqŸk

(ii) egkdLlilqŸk] czk„.klqŸk and vtdykilqŸk-

4. Write a note on any one : [8]

dks.kR;kgh ,dkoj Vhi fygk %

(i) Meaning of mnku-

mnkupk vFkZ-

(ii) Concept of fujks/k in nqfr;cksf/klqŸk-

nqfr;cksf/klqŸkke/khy ^fujks/k* gh ladYiuk-
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5. Translate any two of the following into English or Marathi : [12]

[kk«h«iSdh dks.kR;kgh nksgksaps ejkBh fdaok baxzthr Hkk"kkarj djk %

(i) ;Fkk vePpks eqfÌdkeks] j¥¥kks vUrsiqjs tusA

u nsfr rsla /ku/k¥¥ka] eqfÌrks ifjgk;fr˚

,oesokga iq¥¥kdkeks] foiqya fnLoku nfD[k.kaA

;fn rLla nkua u nnkfe] ifjgkf;Llkfe iq¥¥krks˚

(ii) ^ukga fickfe [kknkfe] u fi Hkq¥tkfe HkkstuaA

nfD[k.ks∏;s vnRoku] vfi NIi¥p jfŸk;ks˚*

^;Fkk fi okf.ktks uke] dRoku Hk.Ml¥p;aA

;RFk ykHkks egk gksfr] rRFk ra gjfr Hk.Mda˚*

(iii) ^mikslFkfEg fnols] pUna fnLoku iwfjraA

,rsla rRFk vkfpfDa[k] fnolks vTtqikslFkks˚*

^nkukfu ifV;knsFk] nfD[k.ks∏;Ll nkrosA

nRok nkua nfD[k.ks∏;s] mioLlFkqikslFka˚*
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6. Explain with reference to the context (any two) : [8]

dks.krsgh nksu llanHkZ Li"V djk %

(i) ^vfi pkga lhyjD[kk;] lhyikjfeiwfj;kA

u djksfe fpŸka v¥¥kFkŸka] ifD[kiUra fi isˇds*fr˚

(ii) ^u eslk czk„.kh nsLlk] u fi es cya u foTtfrA

lCc¥¥kqra fi;a e∏ga] rLek lhykuqjfD[kLla** fr˚

(iii) ^rs ea j¥¥kks nLlf;alq] ikiLl ikilsfouksA

fnLoku ra l¥¥kkisfla] eea olekuf;a˚

7. Write a detailed note on : [12]

lfoLrj Vhi fygk %

(i) lks.kif.Mrpfj;k and rsfe;pfj;k

Or

(fdaok)

(ii) ePNjktpfj;k and d.gnhik;upfj;k-
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8. Write a note on any one : [8]

dks.kR;kgh ,dkoj Vhi fygk %

egklqnLlupfj;k

     Or

    (fdaok)

fufejktpfj;k-
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1. Translate into English or Urdu or Marathi any two of the following

passages : [16]

P.T.O.

 Seat

  No.
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2. (A) Explain with reference to the context any four of the following

couplets : [8]

P.T.O. 3 [4701]-325



(B) Write the short notes on any two of the following poets : [8]

3. (A) Explain with reference any one of the following surahs : [8]

(B) Summarise any two of the following lessons : [8]

4 [4701]-325



4. Define with examples any two of the following topics : [16]

5. (A) Translate into English of the following passage : [8]

(B) Translate into Arabic of the following passage : [8]

‘‘India is my country. It is a rich region. Her land is fertile and

good for agriculture, her fruits are many. Her climate

P.T.O. 5 [4701]-325



is  moderate,  her  sky  is  clear  and  her  resources  are

abundant.  India  is  an  industrial  country,  d i f f e ren t

industries are (found) in it in abundance. It is considered to be

one of the important industrial centres in Asia. Its people are

noble.’’

6 [4701]-325
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-326

T.Y. B.A. EXAMINATION, 2015

ECONOMICS

General Paper III

(Indian Public Finance)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) What are the methods of repayment of public debt ?

(ii) State the merits of direct taxes.

(iii) Explain the nature of budget.

(iv) Explain the scope of Public Finance.

2. Write notes in 100 words each (any four) : [20]

(i) Sources of External Public Debt

(ii) Concept of Public Expenditure

(iii) Taxable Capacity

(iv) Gender Budget

(v) Internal Public Debt

(vi) Objectives of Fiscal Policy.
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3. Answer the following questions in 200-250 words each (any three) : [30]

(i) Explain Dr. Dalton’s ‘Principle of Maximum Social Advantage’.

(ii) Explain the causes of centre-state financial conflict.

(iii) Explain the defects of Indian Tax System.

(iv) Explain the merits and demerits of Indirect Tax.

(v) Explain the recommendations of 13th Finance Commission.

4. Answer the following questions in 500 words each (any one) : [20]

(i) State the principles of Public Expenditure. Explain the causes

of increasing Public Expenditure in India.

(ii) What is fiscal policy ? Take a detailed review of Indian Fiscal

Policy since, 1991.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) lkoZtfud dtkZP;k ijrQsMhP;k iºrh dks.kR;k \

(ii) izR;{k djkps xq.k lkaxk-

(iii) vankti=dkps Lo:i Li"V djk-

(iv) lkoZtfud vk;O;;kph O;kIrh Li"V djk-



[4701]-326 3 P.T.O.

2- izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ckgÓ lkoZtfud dtZ mHkkj.khps ekxZ

(ii) lkoZtfud [kpkZph ladYiuk

(iii) djns; {kerk

(iv) f«axk/kkfjr vankti=d

(v) varxZr lkoZtfud dtZ

(vi) jktdks"kh; /kksj.kkph mfÌ"Vs-

3- [kk«h« izðukaph izR;sdh 200&250 ðkCnkar mŸkjs f«gk (dks.krhgh rhu) % [30]

(i) MkW- MkYVu ;kaps egŸke lkekftd «kHkkps rRo Li"V djk-

(ii) dsaÊ&jkT; foŸkh; la?k"kkZph dkj.ks Li"V djk-

(iii) Hkkjrh; dj lajpusrh« nks"k Li"V djk-

(iv) vizR;{k djkps xq.k o nks"k Li"V djk-

(v) rsjkO;k foŸk vk;ksxkP;k fðkQkjðkh Li"V djk-

4- [kk«h«iSdh izðukps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(i) lkoZtfud [kpkZph rRos lkaxk- Hkkjrkrh« lkoZtfud [kpZ ok<hph dkj.ks Li"V

djk-

(ii) jktdks"kh; /kksj.k Eg.kts dk; \ 1991 uarjP;k Hkkjrkrh« jktdks"kh; /kksj.kkpk

lfoLrj vk<kok ?;k-
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-327

T.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper III

(S-3 : International Economics)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the meaning and scope of International Economics.

(ii) Explain briefly the Leontief’s Paradox.

(iii) Explain the concept of Balance of Payments.

(iv) Explain the Foreign Trade Multiplier.

2. Write short notes in 100 words each (any four) : [20]

(i) Types of Terms of Trade

(ii) Merits of Protect Trade Policy
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(iii) Objectives of IMF

(iv) Direction of Foreign Trade in India

(v) Export Promotion

(vi) Limitations of Devaluation.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain the critical evaluation of Heckscher-Ohlin theory of

International Trade.

(ii) Explain the difference between Inter-regional and International

Trade.

(iii) Explain the causes of disequilibrium of Balance of Payments.

(iv) Explain the trade is an engine of economic development.

(v) Explain the objectives and functions of W.T.O.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the arguments in favour and against of free trade

policy.

(ii) Explain the causes of deficit in Balance of Payment in India

and the measures adopted by the Government to correct the

deficit of India’s Balance of Payments after 1991.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) vkarjjk"V™h; vFkZðkkL=kpk vFkZ o O;kIrh Li"V djk-

(ii) f«vk°fVQpk fojks/kkHkkl FkksMD;kr Li"V djk-

(iii) O;ogkjrks«kph ladYiuk Li"V djk-

(iv) fonsðkh O;kikj xq.kd ladYiuk Li"V djk-

2- izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) O;kikjðkrhZps izdkj

(ii) lajf{kr O;kikj /kksj.kkps xq.k

(iii) vkarjjk"V™h; uk.ksfu/khph mÌh"Vs

(iv) Hkkjrkrh« fonsðkh O;kikjkph fnðkk

(v) fu;kZr izksRlkgu

(vi) voewY;ukP;k e;kZnk-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) gsDðpj&vksgf«u ;kaP;k vkarjjk"V™h; O;kikjkP;k flºkarkps fVdkRed ifj{k.k

djk-
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(ii) vkarj&izknsfðkd vkf.k vkarjjk"V™h; O;kikjkrh« Qjd Li"V djk-

(iii) O;ogkjrks«krh« vlerks«kph dkj.ks Li"V djk-

(iv) flO;kikj gk vkfFkZd fodklkps baftu vkgs-fi foðkn djk-

(v) tkxfrd O;kikj la?kVusph mÌh"Vs vkf.k dk;sZ Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) [kq«Ók O;kikj /kksj.kkP;k cktwps vkf.k fo#º cktwps ;qDrhokn Li"V djk-

(ii) HkkjrkP;k O;ogkjrks«kP;k rqVhph dkj.ks Li"V djk vkf.k 1991 uarj HkkjrkP;k

O;ogkjrks«krh« rqV deh dj.;klkBh ljdkjus ;kst«s«s mik; foðkn djk-
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No. [4701]-328

T.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper IV

(S-4 : Quantitative Techniques and Project Work)

(Only for Internal Students)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 50

N.B. :— (i) All questions are compulsory.

(ii) Answer should be neat and to the point.

(iii) Figures to the right indicate full marks.

(iv) Use of calculator is allowed.

1. Answer the following questions (any two) : [10]

(i) State the secondary sources of data collection.

(ii) State the merits of Median.

(iii) Solve :

4(x – 7) = 3(2x + 1) – 15 and find x = ........ ?

(iv) Find simple interest on Rs. 50,000 for 3 years at 10% p.a.

interest rate.
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2. Answer the following questions (any two) : [10]

(i) State the demerits of mode.

(ii) What is hypothesis ?

(iii) The population of a village is 2,50,000. The male-female rate

is 6 : 4. Calculate total male and female.

(iv) Find out the frequency distribution from the following

series :

7, 6, 5, 7, 8, 9, 10, 9, 5, 6, 7, 5, 10, 8, 7, 5, 6, 5, 6, 8.

3. Answer the following questions (any two) : [16]

(i) What is sampling ? Explain the types of sampling.

(ii) State the part of tabulation.

(iii) Find the difference between simple interest and compound interest

on Rs. 25,000 for 3 years at 8% p.a. interest rate.

(iv) Find Arithmetic Mean from the following table :

Students Marks

6 5

8 4

10 4

12 3

14 1

16 3
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4. Answer any one of the following questions : [14]

(i) Explain the characteristics and steps of report writing.

(ii) Calculate the Mean and Median of the following table :

Class (X) Frequency (Y)

0—20 5

20—40 12

40—60 32

60—80 40

80—100 11

(ejkBh :ikarj)

osˇ % nksu rkl ,dw.k xq.k % 50

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mŸkjs leiZd o eqÌslwn vlkohr-

(iii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iv) dWYD;q«sVj okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ekfgrh lad«ukps f}rh; Úksr lkaxk-

(ii) e/;xkps xq.k lkaxk-

(iii) lksMok %

4(x – 7) = 3(2x + 1) – 15, x = ........ ?

(iv) n-lk-n-ðks- 10% njkus 50,000 #i;kaps rhu o"kkZps ljˇ O;kt dk<k-
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2. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) cgq«dkps nks"k lkaxk-

(ii) x`ghrœR;s Eg.kts dk; \

(iii) ,dk [ksMÓkph «ksdla[;k 2,50,000 vkgs- iq#"k&L=h izek.k 6 : 4 vkgs] rj

[ksMÓkrh« iq#"k vkf.k L=h;kaph la[;k dk<k-

(iv) [kk«h« inek«sP;k vk/kkjs okjaokfjrk dk<k %

7, 6, 5, 7, 8, 9, 10, 9, 5, 6, 7, 5, 10, 8, 7, 5, 6, 5, 6, 8.

3. [kk«h« izðukaph mŸkjs f«gk (dks.krsgh nksu) % [16]

(i) uequk fuoM Eg.kts dk; \ uequk fuoMhps izdkj lkaxk-

(ii) lkj.khps Hkkx Li"V djk-

(iii) n-lk-n-ðks- 8% njkus 25,000 #i;kaps rhu o"kkZps ljˇ O;kt o pÿok<

O;ktkrh« Qjd dk<k-

(iv) [kk«h« rDR;k o:u e/; dk<k %

fo|kFkhZ xq.k

6 5

8 4

10 4

12 3

14 1

16 3
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4. [kk«h«iSdh ,dk izðukps mŸkj f«gk % [14]

(i) vgok« «s[kukph oSfðk"Vs o VIis Li"V djk-

(ii) [kk«h« rDR;k o:u e/; o e/;xk dk<k %

oxZ (X) okjaokfjrk (Y)

0—20 5

20—40 12

40—60 32

60—80 40

80—100 11



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—15

Seat

No. [4701]-329

T.Y. B.A. EXAMINATION, 2015

ECONOMICS

Special Paper IV

(Quantitative Techniques)

(For External Students Only)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Answers should be precise and to the point.

(iv) Draw neat diagrams wherever necessary.

(v) Use of non-scientific calculator is allowed.

1. Solve any two of the following : [10]

(i) (a)
62 12

4 8 ?
2 3

× − =

(b) 124 + (6 × 81) – 42 – (2 × 15) = ?

(ii) (a)
1 1

3 4 ................
4 3

+ =

(b)
1 1

8 2 ................
2 6
÷ =



[4701]-329 2

(iii) If a = 3, b = 1, c = 0 and d = 2, then find the value

of :

(1) a2

(2) b2

(3) ab + d

(4) a(b + d)

(5) 2c + 3d.

(iv) Get the fractions of :

(1) 2x2 + 5x – 12

(2) p2 – q2.

2. Solve any four of the following : [20]

(i) Prepare a frequency table for the following data with width

of each class interval as 10. Use exclusive method of

classification :

57 44 80 75 00 18 45 14 04 64 72

51 69 34 22 83 70 20 57 28 96 56

50 47 10 34 61 66 80 46 22 10 84

50 47 73 42 33 48 65 10 34 66 53

75 90 58 46 39 69
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(ii) Draw a bar chart to represent the following information :

Years No. of Women

1972 30

1977 39

1982 47

1987 57

1992 65

1997 78

(iii) Show that the elasticity of demand with respect to price for

the demand function x = 3p–2 is constant, p and x being

the price and quantity in demand respectively.

(iv) Calculate mode from the given distribution :

X Frequency

10—20 4

20—30 6

30—40 5

40—50 10

50—60 20

60—70 24

70—80 22

80—90 6

90—100 2

100—110 1
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(v) Derivate with reference to x :

5 4 3 2
5 3

5 3
7 9 17 11 100.x x x x

x x
+ − + − + +

(vi) Two dice are rolled simultaneously. Find the probability that

at least 1 appears.

3. Solve any three of the following : [30]

(i) A machine depreciates by 10%. It was bought before 3 years

and the current value is Rs. 8,748. Calculate its purchase

price.

(ii) Given the matrix :

1 4 2

X  =  1 2 1

1 3 2

−

Show that XX–1 = I3.

(iii) If the price elasticity of demand for a good is –0.5 and the

price of the good falls by 10%, what is the percentage change

in revenue ?














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(iv) If the price changes from 4 to 6, what is the change in consumer’s

surplus ?

(v) Calculate the Mean and Standard deviation from the following

data :

Class Frequency

90—99 2

80—89 12

70—79 22

60—69 20

50—59 14

40—49 4

30—39 1

Total 75

4. Solve any one of the following : [20]

(i) Find the joint equation of the lines passing through the origin

and perpendicular to the lines represented by :

5x2 – 8xy + 3y2 = 0.
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(ii) State the merits and demerits of each of the following :

(a) Arithmetic mean

(b) Geometric mean

(c) Weighted mean

(d) Median

(e) Mode.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) mŸkjs leiZd o fcupwd vlkohr-

(iv) ftFks vkoð;d vkgs frFks vkœrh dk<koh-

(v) lk/kk dWYD;q«sVj okijk;«k ijokuxh vkgs-

(vi) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.krsgh nksu izðu lksMok % [10]

(i) ewY; dk<k %

(a)
62 12

4 8 ?
2 3

× − =

(b) 124 + (6 × 81) – 42 – (2 × 15) = ?
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(ii) lksMok %

(a)
1 1

3 4 ................
4 3

+ =

(b)
1 1

8 2 ................
2 6
÷ =

(iii) tj a = 3, b = 1, c = 0 vkf.k d = 2, rj [kk«h fn«sY;k inkaph

ewY;s dk<k %

(1) a2

(2) b2

(3) ab + d

(4) a(b + d)

(5) 2c + 3d.

(iv) vo;o ikMk %

(1) 2x2 + 5x – 12

(2) p2 – q2.

2. [kk«h«iSdh dks.krsgh pkj izðu lksMok % [20]

(i) [kk«h fn«sY;k vkdMsokjho:u okjaokfjrk rDrk r;kj djk- oxk±rj 10 ?;k-

oxhZdj.kklkBh viothZ iºr okijk %

57 44 80 75 00 18 45 14 04 64 72

51 69 34 22 83 70 20 57 28 96 56

50 47 10 34 61 66 80 46 22 10 84

50 47 73 42 33 48 65 10 34 66 53

75 90 58 46 39 69
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(ii) [kk«h« ekfgrh LraHkk«s[k dk<wu Li"V djk %

o"kZ L=h;kaph la[;k

1972 30

1977 39

1982 47

1987 57

1992 65

1997 78

(iii) x = 3p–2 gs fLFkj ekx.khQ«u fn«s«s vlrkuk ekx.khph fdaer «ofpdrk

;k ekx.kh Q«ukðkh fLFkj vlrs gs flº djk- p Eg.kts fdaer o x Eg.kts

uxla[;k vkgs-

(iv) [kk«h fn«sY;k vkdMsokjhpk cgq«d dk<k %

X okjaokfjrk

10—20 4

20—30 6

30—40 5

40—50 10

50—60 20

60—70 24

70—80 22

80—90 6

90—100 2

100—110 1
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(v) x lanHkkZrh« fodf«r djk %

5 4 3 2
5 3

5 3
7 9 17 11 100.x x x x

x x
+ − + − + +

(vi) nksu Qkls ,dkpoš h Qsd«s- dehrdeh ,d ;sbZ« ;kph ðkD;rk lkaxk-

3. [kk«h«iSdh dks.krsgh rhu izðu lksMok % [30]

(i) ,d ;a=kpk ?klkÚ;kpk nj 10% vkgs- rs rhu o"kkZiwohZ ?ksr«s vlwu R;kph

l/;kph fdaer 8,748 #- vkgs- R;kph [kjsnh fdaer dk<k-

(ii)

1 4 2

X  =  1 2 1

1 3 2

−

gs eWfV™Dl fn«s«s vlrkuk XX–1 = I3 nk[kok-

(iii) ,dk oLrwph fdaer «ofpdrk –0.5 vkgs- tj fdaer 10% uh ?klj«h] rj

eglw« fdrh V~DD;kauh cn«s«s \

(iv) tj fdaer 4 #- o:u 6 #- >k«h] rj miHkk sDrk ok<kok fdrhus

cn«s« \














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(v) [kk«h fn«sY;k vkdMsokjhph ljkljh o izekf.kr fop«u dk<k %

oxZ okjaokfjrk

90—99 2

80—89 12

70—79 22

60—69 20

50—59 14

40—49 4

30—39 1

,dw.k 75

4. [kk«h«iSdh dks.krkgh ,d izðu lksMok % [20]

(i) vkjaHk fcanwrwu tk.kkÚ;k js"kkaP;k iq<s fn«sY;k ,df=r lehdj.kko:u R;k js"kkauk

dkVdksukr vl.kkÚ;k js"kkaps ,df=r lehdj.k ðkks/kk %

5x2 – 8xy + 3y2 = 0.
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(ii) [kk«h fn«sY;k izR;sdkps xq.k o nks"k f«gk %

(a) xf.krh ljkljh

(b) HkkSfefrd ljkljh

(c) Hkkfjr ljkljh

(d) e/;dk

(e) cgq«d-
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[4701]-329

(S-4 : Development and Environmental Economics)

(Only For External Students)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the concept of economic development

(ii) Explain the vicious circle of poverty.

(iii) Explain the agriculture productivity.

(iv) Explain the effect of sound pollution.

2. Write short notes in 100 words each (any four) : [20]

(i) Economic growth

(ii) Socio-cultural obstacles

(iii) Balanced growth

(iv) Role of agriculture in economic development

(v) Economic planning

(vi) Developed and less developed countries.



[4701]-329 13 P.T.O.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain the difference between economic development and

economic growth.

(ii) Explain the Big-push theory of economic development.

(iii) Explain the role of Industrialization in economic development.

(iv) Explain the characteristics of less developed countries.

(v) Explain the role of monetary policy in developing countries.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the details of Schumpeterian theory of economic de-

velopment .

(ii) What is Pollution ? Explain the different types of pollution.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) vkfFkZd fodklkph ladYiuk lkaxk-
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(ii) nkfjÊÓkps nq"Vpÿ Li"V djk-

(iii) ðksrhph mRikndrk Li"V djk-

(iv) /ouh iznw"k.kkps ifj.kke Li"V djk-

2- izR;sdh 100 ðkCnkar laf{kIr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) vkfFkZd o`ºh

(ii) lkekftd&lkaLœfrd vMFk š

(iii) lerks« o`ºh

(iv) vkfFkZd fodklkr ðksrhph Hkwfedk

(v) vkfFkZd fu;kstu

(vi) fodflr vkf.k vYifodflr nsðk-

3- [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vkfFkZd fodkl o vkfFkZd o`ºhrh« Qjd Li"V djk-

(ii) vkfFkZd fodklkpk tksjnkj /kDdk flºkar Li"V djk-

(iii) vkfFkZd fodklkr vkS|ksfxdhdj.kkph Hkwfedk Li"V djk-

(iv) vYifodflr nsðkkph oSfðk"Vs Li"V djk-

(v) fodluðkh« nsðkkrh« p«ufo"k;d /kksj.kkph Hkwfedk Li"V djk-
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4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ðkqaihVj ;kapk vkfFkZd fodklkpk flºkar lfoLrj Li"V djk-

(ii) iznw"k.k Eg.kts dk; \ iznw"k.kkps fofo/k izdkj Li"V djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4701]-330

T.Y. B.A. EXAMINATION, 2015

POLITICS (G-3)

General Paper III

(India and The World)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Objectives of United Nations Organisation.

(ii) Evolution of Non-Aligned Movement.

(iii) Comprehensive Test Ban Treaty (C.T.B.T.).

(iv) Environmental Degradation.

2. Attempt any four questions (in 100 words each) : [20]

(i) India’s role in UN Peace-keeping Force.

(ii) Principles of Indian Foreign Policy.

(iii) Indo-US Nuclear Pact.

(iv) Terrorism.

(v) India and European Union.

(vi) Human Rights Commission.



[4701]-330 2

3. Attempt any three questions (in 250 words each) : [30]

(i) Pandit Nehru’s contribution in Indian Foreign Policy. Discuss.

(ii) Explain the characteristics of Non-Aligned Movement.

(iii) Explain the relationship between India and China.

(iv) Explain the features of Indian Nuclear Policy.

(v) Write the impact of globalization on India.

4. Attempt any one question (in 500 words) : [20]

(i) Discuss the relationship between India and Pakistan.

(ii) Discuss the contribution of W.T.O., I.M.F., World Bank to

develope India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) la;qDr jk"V™ la?kVusph mfn~n"VÓs-

(ii) vf«Irrk pˇoˇhps eqY;eki.k-

(iii) loZlekosðkd v.kwpkp.kh canh djkj (C.T.B.T.).

(iv) i;kZoj.kkpk Úgkl@vourh-
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2- [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) la;qDr jk"V™kP;k ðkkarrkn«krh« Hkkjrkph Hkwfedk-

(ii) HkkjrkP;k ijjk"V™ /kksj.kkph ew«rRos-

(iii) Hkkjr&vesfjdk v.kq djkj-

(iv) ngðkrokn-

(v) Hkkjr vkf.k ;qjksfi;u la?k-

(vi) ekuoh gDd vk;ksx-

3- [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) HkkjrkP;k ijjk"V™ /kksj.kkrh« iafMr usg:aP;k ;ksxnkukph ppkZ djk-

(ii) vf«Irrk pˇoˇhph oSfðk"VÓs Li"V djk-

(iii) Hkkjr&phu laca/k Li"V djk-

(iv) HkkjrkP;k vkf.od /kksj.kkph oSfðk"VÓs Li"V djk-

(v) tkxfrdhdj.kkps Hkkjrkoj >k«s«s ifj.kke Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) % [20]

(i) Hkkjr&ikd laca/kkoj ppkZ djk-

(ii) HkkjrkP;k fodklkr tkxfrd O;kikj la?kVuk] vkarjjk"V™h; uk.ksfu/kh vkf.k tkxfrd

c°d ;kaP;k ;ksxnkukph ppkZ djk-
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[4701]-330

(International Organisations)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any two questions (in 50 words each) : [10]

(i) Nature of International Organisations

(ii) UNESCO

(iii) World Bank

(iv) Significance of ASEAN.

2. Attempt any four questions (in 100 words each) : [20]

(i) Objectives of U.N.O.

(ii) Collective Security

(iii) Nuclear Terrorism

(iv) IBRD

(v) SAARC

(vi) Human Rights.

3. Attempt any three questions (in 250 words each) : [30]

(i) Explain the UNO’s importance as International Center

Power.
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(ii) Explain the functions of International Atomic Energy Agency.

(iii) Explain the functions of International Monetary Fund.

(iv) Give a review of International Economic Order.

(v) Non-Governmental Organizations and Human Rights.

4. Attempt any one question (in 500 words) : [20]

(i) Explain the efforts of U.N.O. for disarmament after Cold

War.

(ii) Discuss challenges before International Organisations.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.krsgh nksu izðu lksMok (izR;sdh 50 ðkCnkar) % [10]

(i) vkarjjk"V™h; la?kVukaps Lo:i

(ii) ;qusLdks

(iii) tkxfrd c°d

(iv) ,fl;ups egRo-

2- [kk«h«iSdh dks.krsgh pkj izðu lksMok (izR;sdh 100 ðkCnkar) % [20]

(i) ;quksph mfn~n"VÓs
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(ii) lkewfgd lqjf{krrk

(iii) vkf.od ngðkrokn

(iv) vk;-ch-vkj-Mh- (IBRD)

(v) lkdZ

(vi) ekuoh gDd-

3- [kk«h«iSdh dks.krsgh rhu izðu lksMok (izR;sdh 250 ðkCnkar) % [30]

(i) vkarjjk"V™h; e/;orhZ lŸkk Eg.kwu ;quksps egRo foðkn djk-

(ii) vkarjjk"V™h; v.kwðkDrh laLFksps dk;Z Li"V djk-

(iii) vkarjjk"V™h; uk.ksfu/khph dk;sZ Li"V djk-

(iv) vkarjjk"V™h; vkfFkZd O;oLFkspk vk<kok ?;k-

(v) fcxj ðkklfd; la?kVuk vkf.k ekuoh gDd-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj f«gk (500 ðkCnkar) % [20]

(i) la;qDr jk"V™ la?kVusps fðkr;qºksŸkj dkˇkrh« fu%ðkL=hdj.kkps iz;Ru Li"V djk-

(ii) vkarjjk"V™h; la?kVuk iq<h« vkOgkukaph ppkZ djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-331

T.Y. B.A. EXAMINATION, 2015

POLITICS

Special Paper III

(Introduction to Public Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) New Public Administration

(2) Span of control

(3) Lokpal

(4) Types of Training.

2. Write short notes in 100 words each (any four) : [20]

(1) Comparative Approach

(2) Co-ordination

(3) Public Accounts Committee

(4) Types of Staff Agencies

(5) Nature of Public Administration

(6) Public Policy.
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3. Answer any three of the following questions in 200 to 250 words

each : [30]

(1) Explain the importance of Public Administration.

(2) Discuss the various methods of recruitment of civil servants.

(3) What is decision-making ? Describe the process of decision-

making.

(4) Describe the necessity of Administrative Tribunals with its

advantages and disadvantages.

(5) What is Department ? State the bases of the department.

4. Answer any one of the following in 500 words : [20]

(1) Describe the budgetary process in India.

(2) Explain the main functions of civil service.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.krsgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) uo «ksdizðkklu

(2) fu;a=.k d{kk

(3) «ksdik«

(4) izfðk{k.kkps izdkj-
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2- dks.krsgh pkjoj fVik f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) rq«ukRed n`"Vhdksu

(2) leUo;

(3) «ksd «s[kk lferh

(4) LVkQ vfHkdj.kkps izdkj

(5) «ksdizðkklukps Lo:i

(6) lkoZtfud /kksj.k-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkai;±r f«gk % [30]

(1) «ksdizðkklukps egŸo Li"V djk-

(2) lunh lsodkaP;k HkjrhP;k fofo/k iºrhph ppkZ djk-

(3) fu.kZ; fufðprh Eg.kts dk; \ fu.kZ; fufðprh gÓk izfÿ;sps o.kZu djk-

(4) izðkkldh; U;k;kf/kdj.kkph vkoð;drk lkaxwu R;kP;k xq.k&nks"kklg o.kZu djk-

(5) [kkrs Eg.kts dk; \ [kkR;kps vk/kkj lkaxk-

4- [kk«h«iSdh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrkrh« vankti=dh; izfÿ;sps o.kZu djk-

(2) lunh lsosph izeq[k dk;Z Li"V djk-
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Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-332

T.Y. B.A. EXAMINATION, 2015

POLITICS

Special Paper IV

(Political Concepts and Ideologies)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Welfare State

(2) Syndicalism

(3) Gram Swaraj

(4) Cultural Nationalism.

2. Write short notes in 100 words each (any four) : [20]

(1) Nature of Feminism

(2) Features of Sarvodaya

(3) Types of Liberty

(4) Liberal Concept of State

(5) Nature of Nationalism

(6) Types of Equality.
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3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(1) What do you mean by political obligation ? Explain the bases

of political obligation.

(2) Define the term ‘Liberty’ and ‘Equality’. Explain the relationship

between Liberty and Equality.

(3) Explain the elements of Nationalism.

(4) What do you mean by Feminism ? Explain the types of

Feminism.

(5) What do you mean by Authority ? Explain the types of

Authority.

4. Answer any one question in 500 words : [20]

(1) Discuss the types of Democratic Socialism.

(2) Define the term ‘State’. Explain the bases of state.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h«iSdh dks.krsgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) dY;k.kdkjh jkT;

(2) Jfed la?kokn

(3) xzke LojkT;

(4) lkaLœfrd jk"V™okn-
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2- dks.krsgh pkjoj Vhik f«gk (izR;sdh 100 ðkCnkar) % [20]

(1) L=hoknkps Lo:i

(2) loksZn;kph oSfðk"VÓs

(3) Lokra´;kps izdkj

(4) jkT;kph mnkjeroknh ladYiuk

(5) jk"V™oknkps Lo:i

(6) lersps izdkj-

3- [kk«h«iSdh dks.krsgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) jktdh; vkca/ku Eg.kts dk; \ jktdh; vkca/kukps vk/kkj Li"V djk-

(2) ^Lokra=* o ^lerk* ;k laKk Li"V djk- Lokra´; o lerk ;krh« ijLij

laca/k foðkn djk-

(3) jk"V™oknkps ?kVd Li"V djk-

(4) L=hokn Eg.kts dk; \ L=hoknkps izdkj Li"V djk-

(5) vf/klRrk Eg.kts dk; \ vf/klRrsps izdkj fo'kn djk-

4- [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) «ksdðkkgh lektoknkP;k izdkjkaph ppkZ djk-

(2) ^jkT;* gh laKk Li"V djk- jkT;kps eq«k/kkj Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-333

T.Y. B.A. EXAMINATION, 2015

HISTORY

General Paper III

[History of the Marathas (1630-1818)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) What do you know about “Sabhasad Bakhar” ?

(2) Which role is played by Dadoji Konddeo in the life of

Chh. Shivaji Maharaj ?

(3) State the importance of ‘Palkhed Victory’.

(4) What is meant by ‘Divya’ ?

2. Write short notes in 100 words each (any four) : [20]

(1) Radhamadhao Vilas Champu.

(2) Khandagale elephant episode

(3) Second coronation of Chh. Shivaji Maharaj

(4) Sirdeshmukhi.

(5) Bundelkhand.

(6) Village administration during the Peshwa period.
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3. Answer any three of the following questions in 250 words each : [30]

(1) Explain the conflict between Chh. Shivaji Maharaj and More

of Javali.

(2) Describe the Afajalkhan episode.

(3) Evaluate the achievements of Bajirao I as a Peshwa.

(4) State the background of Third Battle of Panipat (1761).

(5) Describe the position of Women in Peshwa period.

4. Answer any one of the following questions in 500 words : [20]

(1) Give an account of Shahistekhan expedition.

(2) Explain the central administration during the Peshwa period.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^lHkkln c[kjh* fo"k;h vki.kkl dk; ekfgrh vkgs \

(2) N=irh fðkokth egkjktkaP;k thoukr nknksth dksaMnsokauh dks.krh Hkwfedk

ctko«h \

(3) ik«[ksM fot;kps egRo lkaxk-

(4) ^fnO;* Eg.kts dk; \
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2- izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) jk/kkek/ko fo«kl paiw-

(2) [kaMkx š gŸkh izlax-

(3) N=irh fðkokth egkjktkapk nqljk jkT;kfHk"ksd-

(4) ljnsðkeq[kh-

(5) cqans«[kaM-

(6) isðkosdk«hu xzkfe.k izðkklu-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) N=irh fðkokth egkjkt o tkoˇhps eksjs ;kaP;ke/kh« la?k"kZ Li"V djk-

(2) vQt«[kku izlaxkps o.kZu djk-

(3) isðkok ;k ukR;kus ckthjko ifgY;kP;k dkefxjhps ewY;ekiu djk-

(4) 1761 e/kh« ikfuirP;k frlÚ;k ;qºkph ik‹oZHkweh lkaxk-

(5) isðkosdk«hu fL=;kaP;k fLFkrhps o.kZu djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) ðkkfgLrs[kku eksfgespk o`Ÿkkar |k-

(2) isðkosdk«hu dsafÊ; izðkklu Li"V djk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-334

T.Y. B.A. EXAMINATION, 2015

HISTORY

Special Paper III

[History of Medieval India (1206-1707 A.D.)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in about 50 words each (any

two) : [10]

(1) Define the concept of ‘Feudalism’

(2) Sultan Razia

(3) Cotton Industries during the Mughals

(4) Battle of Khanua.

2. Write short notes in 100 words each (any four) : [20]

(1) Sultan Qutubuddin Aibak

(2) Market Control Policy of Sultan Alauddin Khilji

(3) Raja Krishnadeoraya

(4) Samrat Babur

(5) Provincial Administration during the Mughals

(6) Religious Policy of Aurangzeb.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the social life during the Sultanate.

(2) Give information of various reforms of Sher Shah Sur.

(3) Write the causes of decline of the Sultanate.

(4) Explain the nature of Mansabdari System.

(5) ‘Kingship theory’ during the Mughals.

4. Answer any one of the following questions in 500 words : [20]

(1) Evaluate the various experiments of Sultan Muhammad-Bin-

Tughluk.

(2) Give the information of Central and Provincial administrative

system under the Mughal.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^ljatkeðkkgh* ladYiuk Li"V djk-

(2) lq«rku j>h;k

(3) eq?k«dk«hu dkiM m|ksx

(4) [kkuqok «<kbZ-
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2- izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) lq«rku dqrqcqÌhu ,scd

(2) lq«rku v«kmÌhu f[k«thps ^cktkjHkko fu;a=.k* /kksj.k

(3) jktk œ".knsojk;

(4) lezkV ckcj

(5) eq?k«dk«hu izkafrd izðkklu

(6) vkSjaxtsckps /kkfeZd /kksj.k-

3- [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(1) lq«rkuðkkgh dk«hu lekt thoukps o.kZu djk-

(2) ðksjðkgk lqj ;kaP;k fofo/k lq/kkj.kkaph ekfgrh f«gk-

(3) lq«rkuðkkghP;k Úgklkph dkj.ks f«gk-

(4) ^eulcnkjh* iºrhps Lo:i Li"V djk-

(5) eq?k«dk«hu ^jktin* flºkUr-

4- [kk«h« izðukaps 500 ðkCnkar mŸkj f«gk (dks.krkgh ,d) % [20]

(1) lq«rku eksgEen&fcu&rq?k«d ;kaP;k fofo/k iz;ksxkps eqY;ekiu djk-

(2) eq?k«dk«hu dsaÊh; o izkafrd izðkklu O;oLFksph ekfgrh f«gk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4701]-335

T.Y. B.A. EXAMINATION, 2015

HISTORY
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[History of Transformation in Modern Maharashtra (1818-1960)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Define the concept of ‘Swarajya’.

(2) Peasant Movement.

(3) Nature of Bhakti Movement.

(4) Industrialization.

2. Write short notes in 100 words each (any four) : [20]

(1) Pune Sarvajanik Sabha

(2) Nagpur Pact

(3) Wood’s Dispatch

(4) Prarthana Samaj

(5) Ryotwari System

(6) Vitthal Ramaji Shinde.
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3. Answer the following questions in 250 words each (any three) : [30]

(1) Explain the basic difference between moderates and extremists.

(2) Explain the contribution of Samyukta Maharashtra Samiti in

the formation of Maharashtra State.

(3) Explain the contribution of Satyashodhak Samaj in the struggle

for equality.

(4) Discuss the economic and cultural impact of the British rule

in Maharashtra.

(5) Review the Co-operative Movement in Maharashtra.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the background of the foundation of Indian National

Congress.

(2) Evaluate the women’s emancipation movement in Maharashtra.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) ^LojkT;* ladYiuk Li"V djk-
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(2) ðksrdjh pˇoˇ-

(3) HkDrh pˇoˇhps Lo:i-

(4) vkSnÓksxhdj.k-

2- izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) iq.ks lkoZtfud lHkk

(2) ukxiwj djkj

(3) oqMpk [k«hrk

(4) izkFkZuk lekt

(5) j;rokjh iºrh

(6) foß« jketh fðkans-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) eokˇ o tgk« ;kaP;krh« eq«Hkwr Qjd Li"V djk-

(2) egkjk"V™ jkT;kaP;k fufeZrhe/kh« ^la;qDr egkjk"V™ lferhps* dk;Z Li"V djk-

(3) lersP;k «<Ókrh« lR;ðkks/kd lektkps ;ksxnku Li"V djk-

(4) egkjk"V™kojh« fczVhðk jktoVhP;k vkfFkZd o lkaLœrhd ifj.kkekaph ppkZ djk-

(5) egkjk"V™krh« lgdkj pˇoˇhpk vk<kok ?;k-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkkjrh; jk"V™h; lHksP;k LFkkiusph ikðoZHkqeh Li"V djk-

(2) egkjk"V™krh« ^L=h ca/keqDr* pˇoˇhps ewY;ekiu djk-
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[4701]-335

(History of Modern China and Japan)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(1) Write the consequences of the Opium War.

(2) Explain the ‘New Economic Policy of China’.

(3) What is meant by Rome-Berlin-Tokyo Axis ?

(4) What is Economic Resurgence ?

2. Write short notes in 100 words each (any four) : [20]

(1) Boxer Rebellion

(2) May 4 Movement

(3) Long March

(4) Zaibatsu

(5) Commodore Peri

(6) England-Japan Alliance (1902).

3. Answer the following questions in 250 words each (any three) : [30]

(1) Write the causes of Taiping Rebellion.
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(2) Explain the causes of 1911 China revolution.

(3) Examine the internal policy of Chiang-Kai-Shake.

(4) Write the causes of the rise of Militarism in Japan.

(5) Explain the economic development of Japan after World War

Second.

4. Answer any one of the following questions in 500 words : [20]

(1) Evaluate the role of Mao-Tse-Tung in the history of China.

(2) Examine the various reforms during the Meiji era in Japan.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vQwP;k ;qºkps ifj.kke f«gk-

(2) phue/kh« uos vkfFkZd /kksj.k Li"V djk-

(3) ^jkse&cf«Zu&Vksdhvks* v{k Eg.kts dk; \

(4) vkfFkZd iqu#RFkku Eg.kts dk; \
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2- izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(1) ckWDlj caM

(2) pkj es ph pˇoˇ

(3) «k°x ekpZ

(4) >ScRlq

(5) deksMj isjh

(6) baX«aM&tiku djkj (1902)-

3- [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) rk;fiax mBkokph dkj.ks f«gk-

(2) phue/kh« 1911P;k ÿkarhph dkj.ks Li"V djk-

(3) p°x&dS&ðksd P;k varxZr /kksj.kkps ifj{k.k djk-

(4) tikue/kh« «"djoknkP;k mn;kph dkj.ks f«gk-

(5) nqlÚ;k egk;qºkuarj tikuus ds«sY;k vkfFkZd izxrhps o.kZu djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) phuP;k bfrgklke/kh« ekvks&Rls&rqaxP;k Hkwfedsps eqY;ekiu djk-

(2) esbZth dk«[kaMkr tikue/;s >k«sY;k fofo/k lq/kkj.kkaps ifj{k.k djk-
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T.Y. B.A. EXAMINATION, 2015

ANTHROPOLOGY

General Paper 3

(G-3 Maharashtra : A Cultural Region)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) What is Maharashtra Dharma ?

(2) Explain in brief the Industrial Development of Maharashtra.

(3) What is the women’s contribution in Political Movement of

Maharashtra ?

(4) What is the role of Dr. B.R. Ambedkar in Educational Reform

Movement of Maharashtra.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Kirtan
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(2) Lavani and Tamasha

(3) Veer Savarkar’s revolutionary movement

(4) Ek Gaon—Ek Panvatha

(5) Peasant Movement

(6) Konkan—A Cultural Region.

3. Answer any three of the following questions in 250 words

each : [30]

(1) Explain the importance of Marathwada and Vidarbha as a cultural

region of Maharashtra.

(2) Describe the geographical and environmental features of

Maharashtra.

(3) Elaborate the tribal movement under the leadership of Godavari

Parulekar.

(4) Explain the contribution of Karmaveer Bhaurao Patil and

Maharshee Karve in Educational Movement of Maharashtra.

(5) Elaborate the role of Lokmanya Tilak and G.G. Agarkar in

Political and Social Movement of Maharashtra.

4. Answer any one of the following questions in 500 words : [20]

(1) Explain the role of Saint Dnyaneshwar and Saint Tukaram

in the cultural life of Maharashtra.

(2) Explain the social reform movement led by Rajarshee Shahu

Maharaj and Mahatma Phule.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) egkjk"V™ /keZ Eg.kts dk; \

(2) egkjk"V™krh« vkSnÓksfxd fodklkph FkksMD;kr ekfgrh lkaxk-

(3) egkjk"V™kP;k jktdh; pˇoˇhrh« fL=;kaps ;ksxnku lkaxk-

(4) egkjk"V™kP;k ðkS{kf.kd lq/kkj.kk pˇoˇhrh« MkW- ch-vkj- vkacsMdj ;kaph Hkqfedk

dks.krh \

2- [kk«h«iSdh dks.kR;kgh pkjoj izR;sdh 100 ðkCnkai;±r fVik f«gk % [20]

(1) fdrZu

(2) «ko.kh vkf.k rekðkk

(3) ohj lkojdjkaph ÿkarhdkjh pˇoˇ

(4) ,d xkoµ,d ik.koBk

(5) ðksrdjh pˇoˇ

(6) dksad.kµ,d lkaLœfrd foHkkx-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(1) egkjk"V™krh« ,d lkaLœfrd foHkkx Eg.kwu ejkBokMk vkf.k fonHkkZps egRo foðkn

djk-
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(2) egkjk"V™krh« HkkSxksf«d vkf.k i;kZoj.kh; oSfðk"VÓs Li"V djk-

(3) xksnkojh i#«sdjkaP;k usr`Rok[kk«h« vkfnoklh pˇoˇhps o.kZu djk-

(4) deZohj Hkk≈jko ikVh« vkf.k egf"kZ dosZ ;kaps egkjk"V™kP;k ðkS{kf.kd pˇoˇhrh«

;ksxnku Li"V djk-

(5) «ksdekU; fVˇd vkf.k th-th- vkxjdj ;kaP;k egkjk"V™kP;k jktdh; vkf.k

lkekftd pˇoˇhrh« Hkqfedk Li"V djk-

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkai;±r f«gk % [20]

(1) lar Kkus‹oj vkf.k lar rqdkjke ;kaph egkjk"V™kP;k lkaLœfrd thoukrh« Hkqfedk

Li"V djk-

(2) jktf"kZ ðkkgw egkjkt vkf.k egkRek Qq«s ;kaph lkekftd lq/kkj.kk pˇoˇ foðkn

djk-
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GEOGRAPHY (G-3)

(Gg-310 : Geography of Tropical Agriculture)
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Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) : [20]

(1) State the Latitudinal extent of Tropical Region.

(2) Write names of any two Tropical Countries in Africa Continent.

(3) Define Shifting Cultivation.

(4) State any two technological determinants of Agriculture.

(5) What is Irrigation ?

(6) State any two characteristics of Dryland Farming.

(7) State any two characteristics of Agro-Tourism.

(8) What is Organic Farming ?

(9) What is Food Security ?
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(10) Write the full form of GIS.

(11) What is Corporate Farming ?

(12) What is Bio-technology ?

(13) Write two demerits of use of Chemical Fertilizers.

2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Regional Approach

(2) Commercial Agriculture

(3) Poultry

(4) Food Security.

3. Answer the following questions in about 150 words each (any

two) : [20]

(1) Explain the significance of Agriculture in Indian Economy.

(2) Explain the characteristics and problems of Plantation

Agriculture.

(3) Explain the various methods of Irrigation.

(4) Explain the Agricultural Improvement Programme.

4. Answer the following questions in about 300 words each (any

two) : [30]

(1) Define Agriculture Geography and explain its nature and scope.

(2) Mention the determinants of Agriculture and give an account

of Physical and Economic determinants.
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(3) Explain the concept and methods of Watershed Management.

(4) Describe the problems of Tropical Agriculture.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks vkœR;k o vkjk[kMs dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) m".kdfVca/kkpk v{ko`Ÿkh; foLrkj lkaxk-

(2) vkf›dk [kaMkrh« dks.kR;kgh nksu m".kdfVca/kh; nsðkkaph ukos f«gk-

(3) LFk«karjhr ðksrhph O;k[;k f«gk-

(4) œ"khoj fu;a=.k Vkd.kkjs dks.krsgh nksu rka=hd ?kVd lkaxk-

(5) t«flapu Eg.kts dk; \

(6) dksjMokgq ðksrhps dks.krsgh nksu oSfðk"VÓs lkaxk-

(7) œ"kh i;ZVukps dks.krsgh nksu oSfðk"VÓs lkaxk-

(8) lsafÊ; ðksrh Eg.kts dk; \

(9) vUulqj{kk Eg.kts dk; \

(10) th-vk;-,l- ps iw.kZ :i f«gk-

(11) dkiksZjsV Qkfe±x Eg.kts dk; \

(12) tSora=Kku Eg.kts dk; \

(13) jklk;fud [kr okijkps nksu rksVs f«gk-
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2- izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.krsgh nksu) % [10]

(1) izknsfðkd vH;kl iºrh

(2) O;kikjh ðksrh

(3) dqDdwVik«u

(4) vUulqj{kk-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) Hkkjrh; vFkZO;oLFksr œ"khps egRo Li"V djk-

(2) eˇÓkP;k ðksrhph oSfðk"VÓs o leL;k Li"V djk-

(3) t«flapukP;k fofo/k iºrh Li"V djk-

(4) ðksrhlq/kkj ;kstusph ekfgrh Li"V djk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) œ"kh Hkwxks«kph O;k[;k lkaxwu Lo:i o O;kIrh Li"V djk-

(2) œ"khoj fu;a=.k dj.kkjs ?kVd lkaxwu izkœfrd vkf.k vkfFkZd fu;a=d ?kVdkapk

lfoLrj o`Ÿkkar |k-

(3) ik.k«ksV{ks= fodklkph ladYiuk o iºrh Li"V djk-

(4) m".kdfVca/kh; ðksrhP;k leL;k Li"V djk-
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[4701]-337

(Gg-310 : Geography of Travel and Tourism)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) : [20]

(1) Define tourism.

(2) What is Heritage tourism ?

(3) What do you mean by the relative location of the tourist

place ?

(4) Name any two planned cities of India.

(5) Name any two geographical factors that attract the tourists.

(6) Give any two characteristics of the Rail-Yatri-Bhavan.

(7) Name any two pilgrimage tourist places of Maharashtra.

(8) Give the full form of M.T.D.C.

(9) State any two environmental impacts of tourism.

(10) In which states Sardar Sarovar and Shirdi are located ?

(11) What are the main attractions of tourist place Mahabaleshwar ?

(12) What is regional level planning of tourism ?

(13) State any two effects of tourism on coastal water.
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2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Adventure tourism

(2) Importance of tourism

(3) Tourism and health

(4) Effects of tourism on plants and animals.

3. Answer the following questions in about 150 words each (any

two) : [20]

(1) Explain the role of railway and air transport in tourism

development.

(2) Explain the various social factors that attract the tourists.

(3) Write a note on local level tourism planning.

(4) Explain the cultural impact of tourism.

4. Answer the following questions in about 300 words each (any

two) : [30]

(1) Explain the various physical factors affecting on tourism

development.

(2) Explain the role of accommodation in tourism development.

(3) “Tourism is an economic activity.” Explain.

(4) Describe Bhimashankar and Taj Mahal as a tourist place.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k o vkjk[kMs dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) i;ZVukph O;k[;k f«gk-

(2) ijaijk i;ZVu Eg.kts dk; \

(3) i;ZVu LFkˇkps lkis{k LFkku Eg.kts dk; \

(4) Hkkjrkrh« nksu la;ksthr ðkgjs lkaxk-

(5) i;ZVdkauk vkd"khZr dj.kkjs dks.krsgh nksu HkkSxksf«d ?kVd lkaxk-

(6) jsYos ;k=h Hkoukph dks.krhgh nksu oSfðk"VÓs lkaxk-

(7) egkjk"V™krh« nksu rhFkZLFkˇkaph ukos lkaxk-

(8) ,e-Vh-Mh-lh- (MTDC) ps iw.kZ :i f«gk-

(9) i;ZVukps i;kZoj.kkojh« dks.krsgh nksu ifj.kke lkaxk-

(10) ljnkj ljksoj izdYi o fðkMhZ dks.kR;k jkT;kr vkgsr \

(11) egkc«sðoj ;k i;ZVuLFkˇkph izeq[k vkd"kZ.ks dks.krh \

(12) izknsfðkd Lrjkojh« i;ZVu fu;kstu Eg.kts dk; \

(13) leqÊfdukjiV~VhP;k ik.;koj gks.kkjs i;ZVukps nksu ifj.kke lkaxk-
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2- izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.krsgh nksu) % [10]

(1) lkglh i;ZVu

(2) i;ZVukps egRo

(3) i;ZVu o vkjksX;

(4) i;ZVukps ouLirh o izk.;kaojh« ifj.kke-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) i;ZVukrh« jsYos o gokbZ okgrqdhph Hkqfedk Li"V djk-

(2) lkekftd ?kVdkapk i;ZVukojh« izHkko o.kZu djk-

(3) LFkkfud ikrˇhojh« i;ZVu fu;kstukoj fVi f«gk-

(4) i;ZVukps lkaLœfrd ifj.kke Li"V djk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) i;ZVu fodklkoj ifj.kke dj.kkjs izkœfrd ?kVd Li"V djk-

(2) i;ZVu fodklkrh« fuoklLFkkukaps egRo Li"V djk-

(3) fli;ZVu gh vkfFkZd fÿ;k vkgsfi Li"V djk-

(4) i;ZVuLFkˇ Eg.kwu fHkekðkadj o rktegk«ps o.kZu djk-



P.T.O.

Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-338

T.Y. B.A. EXAMINATION, 2015

GEOGRAPHY (S-3)

(Gg-320 : Fundamental Concepts in Geography)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) : [20]

(1) Name the principle introduced by Carl Ritter.

(2) Give any two characteristics of a CBD.

(3) What is Possibilism ?

(4) Define Human Geography.

(5) Write the stages of demographic transition theory.

(6) Who has explained the Heartland theory ?

(7) What is Marxism ?

(8) Define the concept of State.

(9) Explain the term ‘Geopolitics’.

(10) Name any two techniques of weather forecasting.
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(11) What is Satellite town ?

(12) Define the concept of Systematic Geography.

(13) Give any two consequences of sea level changes.

2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Contribution of Ellsworth Huntington

(2) Frontiers and boundaries

(3) Sustainable development

(4) Determinism.

3. Answer the following questions in about 150 words each (any

two) : [20]

(1) Explain the contribution of Herodotus and Emmanuel Kant to

Geography.

(2) Explain the theory of Industrial location of Weber.

(3) Explain the Davisian Cycle of erosion.

(4) Discuss the theory of demographic transition model.

4. Answer the following questions in about 300 words each (any

two) : [30]

(1) Explain the problems of the rural-urban fringe of a city.

(2) Give the internal and external causes of climate change.

(3) Define Economic Geography. Discuss the Rostow’s model.

(4) Define the term Globalisation and discuss the merits and

demerits of globalisation.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) dk«Z fjVjus ekaM«s«s rŸo lkaxk-

(2) lh-ch-Mh-ph dks.krsgh nksu oSfðk"VÓs f«gk-

(3) laHkookn Eg.kts dk; \

(4) ekuoh Hkwxks«kph O;k[;k f«gk-

(5) ^«ksdla[;k laÿe.k* flºkarkP;k voLFkk f«gk-

(6) ‚n; LFkku@eeZHkweh flºkar dks.kh ekaM«k \

(7) ekDlZokn Eg.kts dk; \

(8) jkT; ladYiusph O;k[;k |k-

(9) ^Hkwjktfurh* pk vFkZ Li"V djk-

(10) gokeku vankt orZfo.;kP;k nksu ra=kaph ukaos lkaxk-

(11) mixzg ðkgj (lWVs«kbZV) Eg.kts dk; \

(12) lw=cº Hkwxks« % ladYiuk f«gk-

(13) lkxjt« ikrˇhr gks.kkÚ;k cn«kaps nksu ifj.kke lkaxk-
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2- izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.krsgh nksu) % [10]

(1) ,YloFkZ gafVXVu ;kaps Hkwxks«krh« ;ksxnku

(2) vk?kkMh o lhek

(3) ðkkðor fodkl

(4) fulxZokn-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) gsjksMksV~l o beWU;qv« dkaV ;kaps Hkwxks«krh« ;ksxnku Li"V djk-

(2) oscjpk m|ksx/ka|kP;k LFkku fufðprhpk flºkar Li"V djk-

(3) MsfOglps vi{kj.kpÿ Li"V djk-

(4) ^«ksdla[;k laÿe.k* flºkarkoj lfoLrj ppkZ djk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) v/kZukxjh iznsðkkP;k leL;k Li"V djk-

(2) gokeku cn«kph varxZr o cfgxZr dkj.ks lkaxk-

(3) vkfFkZd fodkl Eg.kts dk; lkaxwu jksLVkspk flºkar lfoLrj Li"V djk-

(4) tkxfrdhdj.kkph O;k[;k lkaxwu R;kP;k Qk;|k&rksVÓkaph ppkZ djk-
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[4701]-338

(Gg-320 : Contemporary Issues and Geography)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencils is allowed.

1. Answer the following questions in about 20 words each (any

ten) : [20]

(1) Define the concept of contemporary issues.

(2) State any two causes of landslide.

(3) What is greenhouse effect ?

(4) Define the term Tsunami.

(5) Differentiate between ground fire and crown fire.

(6) Write any four types of migration.

(7) State any two effects of regional disparity in Vidarbha.

(8) Give the full form of ULFA.

(9) Give any two causes of AIDS Prevalence.

(10) Mention any two major river disputes in the World.

(11) Write any four symptoms of Swine Flu.

(12) What is Cyclone ?

(13) What is meant by Globalization ?
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2. Write notes on the following in about 50 words each (any

two) : [10]

(1) Chemical Weathering

(2) Drought Prone regions in India

(3) Infiltration in India

(4) Major features of Indian Poverty.

3. Answer the following questions in about 150 words each (any

two) : [20]

(1) Explain the nature of contemporary issues in Geography.

(2) Write the causes of marine pollution.

(3) Describe the effects of urbanization in India.

(4) Explain the effects of over-use of resources.

4. Answer the following questions in about 300 words each (any

two) : [30]

(1) Define forest fire and explain causes and effects of forest fire.

(2) What do you mean by Ozone depletion ? Explain the causes

and effects of Ozone depletion.

(3) Define the conflicts due to caste. Discuss the causes and effects

of conflicts due to caste.

(4) Give an account of Swine Flu in Maharashtra.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vkoð;d rsFks lqcd vkœR;k dk<k-

(iv) udkðkk LVsfUlYl okij.;kl ijokuxh vkgs-

(v) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 20 ðkCnkar f«gk (dks.krsgh ngk) % [20]

(1) l|%dk«hu ?kMkeksMh ;k ladYiusph O;k[;k f«gk-

(2) Hkwehikrkph dks.krsgh nksu dkj.ks lkaxk-

(3) gfjrx`g ifj.kke Eg.kts dk; \

(4) Rlqukehph O;k[;k f«gk-

(5) i`"BkXuh vkf.k dˇlkXuh ;k e/kh« Qjd lkaxk-

(6) LFk«karjkps dks.krsgh pkj izdkj f«gk-

(7) fonHkkZrh« izknsfðkd vlerks«kps dks.krsgh nksu ifj.kke lkaxk-

(8) mYQk (ULFA) ps iq.kZ :i f«gk-

(9) ,M~lP;k izlkjkph dks.krsgh nksu dkj.ks lkaxk-

(10) txkrh« dks.krsgh nksu unh t«okn lkaxk-

(11) LokbZu ∂Y;qph dks.krsgh pkj «{k.ks f«gk-

(12) vkorZ Eg.kts dk; \

(13) tkxfrdhdj.k Eg.kts dk; \
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2- izR;sdh lqekjs 50 ðkCnkar fVik f«gk (dks.krsgh nksu) % [10]

(1) jklk;uhd fonkj.k

(2) Hkkjrkrh« nq"dkˇxzLr iznsðk

(3) Hkkjrkrh« ?kql[kksjh

(4) Hkkjrkrh« nkfjÊÓkph Bˇd oSfðk"VÓs-

3- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 150 ðkCnkar f«gk (dks.krsgh nksu) % [20]

(1) Hkwxks«krh« l|%dk«hu ?kMkeksMhaps Lo:i Li"V djk-

(2) lkxjt« iznq"k.kkph dkj.ks f«gk-

(3) Hkkjrkrh« ukxjhdj.kkps ifj.kkekaps o.kZu djk-

(4) lk/kulaiŸkhP;k vfrokijkps ifj.kke Li"V djk-

4- [kk«h« izðukaph mŸkjs izR;sdh lqekjs 300 ðkCnkar f«gk (dks.krsgh nksu) % [30]

(1) ouvkxhph O;k[;k lkaxwu dkj.ks o ifj.kke Li"V djk-

(2) vks>ksu{k; Eg.kts dk; \ vks>ksu{k;kph dkj.ks o ifj.kke Li"V djk-

(3) tkrh; la?k"kkZph O;k[;k nÓk- tkrh; la?k"kkZph dkj.ks o ifj.kke ;koj ppkZ

djk-

(4) egkjk"V™krh« LokbZu ∂Y;q vktkjkpk o`Ÿkkar |k-



P.T.O.

Total No. of Questions—7+7+7] [Total No. of Printed Pages—4+2

Seat

No. [4701]-339

T.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr) (G-3)

General Paper III

(2008 PATTERN)

foðððððks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;k rhuiSdh rqeP;k vH;klÿekph

izðuif=dk lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vlwu rs mtohdMs nðkZfo«s

vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« e/;«; [;k«kps (NksVk [;k«) Loj «s[ku

djk-

2. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph lfoLrj ðkkL=ksDr ekfgrh f«gk-

3. fo«afcr ,drk«kps «s[ku djk-

4. Vhik f«gk (dks.kR;kgh nksu) %

(1) ðkqº jkx] feJ jkx

(2) Lo;aHkw Loj

(3) jkxkax jkx

(4) izca/k-
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5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) /k`in

(2) tud jkx

(3) lgk∏;d ukn

(4) Nk;k«x jkx-

6. fuca/k f«gk (dks.krkgh ,d) %

(1) ikðoZ xk;u

(2) ikðoZ laxhr

(3) laxhr fðk{k.kkps Lo:i-

7. pfj= f«gk (dks.krsgh ,d) %

(1) dqekj xa/koZ

(2) iafMr ftrsaÊ vfHk"ksdh

(3) Jherh eksxqckbZ dqMhZdj-
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jkx laxhr Loj okn~; oknu (lrkj)

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vkgsr-

1. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« elhr[kkuh xr Loj f«ihcº djk-

2. ;k vH;klÿekrh« dks.kR;kgh ,dk jkxkph lfoLrj ðkkL=ksDr ekfgrh f«gk-

3. f=rk«] ,drk«] :id ;kiSdh dks.krkgh ,dk rk«kps ek=k] [kaM] Vkˇh] dk« ;kizek.ks

«s[ku djk-

4. Vhik f«gk (dks.kR;kgh nksu) %

(1) fucº xku

(2) vfucº xku

(3) tksM jkx

(4) la/kh izdkfðkr jkx-

5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) tU; jkx

(2) Lo;aHkw Loj

(3) frjksHkko&vkfoHkkZo

(4) lgk∏;d ukn-
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6. fuca/k f«gk (dks.krkgh ,d) %

(1) laxhr fðk{k.kkps Lo:i

(2) jkx laxhr vkf.k tu#ph

(3) laxhr o vk/kqfud oSKkfud midj.ks-

7. pfj= f«gk (dks.krkgh ,d) %

(1) ia- Hkhelsu tksðkh

(2) ia- ftrsaÊ vfHk"ksdh

(3) mLrkn v«h vdcj [kk°-



[4701]-339 5 P.T.O.

[4701]-339

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) moZfjr lgkiSdh dks.krsgh rhu vls ,dw.k pkj izðu lksMok-

(iii) loZ izðukauk izR;sdh 5 ;k izek.ks leku xq.k vlwu rs mtohdMs nðkZfo«s

vkgsr-

1. fo«afcr ,drk«kps «s[ku djk-

2. :id rk«kps «s[ku djk-

3. fo«afcr f=rk«kps «s[ku djk-

4. Vhik f«gk (dks.kR;kgh nksu) %

(1) pÿnkj

(2) >irk« dk;nk f«gk

(3) f/kj f/kj ðkCn~;qDr js«k-

5. FkksMD;kr f«gk (dks.krsgh nksu) %

(1) ,drk« dk;nk

(2) f=rk« pÿnkj

(3) vtjkMk ?kjk.ks (ckt)-
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6. fuca/k f«gk (dks.krkgh ,d) %

(1) vouº okn~;kapk bfrgkl

(2) ?ku okn~;s o vouº okn~;s ;krh« ijLij laca/k

(3) ikðpkR; rk« okn~;kaph laf{kIr ekfgrh-

7. lfoLrj f«gk (dks.krkgh ,d) %

(1) rc«k o i[kkot okn~;kaph rq«uk

(2) rcY;kps peZ okn~;krh« egRo

(3) rcY;kps ,d« oknukrh« jl lkSan;Z ;koj rqeps fopkj ekaMk-



P.T.O.

Total No. of Questions—7+7+5] [Total No. of Printed Pages—4+2

Seat

No. [4701]-340

T.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr) (S-3)

Special Paper III

(2008 PATTERN)

foðððððks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj fdaok rc«k ;kaiSdh dks.krhgh ,d

izðuif=dk lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) izFke izðu vfuok;Z vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fo«afcr [;k« Lojf«ihcº

djk- [5]

2. fe;ka eYgkj] iwfj;k dY;k.k] vfgj HkSjo ;kaiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h;

ekfgrh f«gwu jkxfoLrkj f«gk- [5]

3. iq<h«iSdh dks.kR;kgh ,dk rk«tksMhps lkE;&Hksn f«gk % [5]

(1) tr&fr«okMk

(2) :id&rhozk (rsojk)

(3) iatkch&f=rk«-
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4. fVik f«gk (dks.kR;kgh nksu) % [5]

(1) nkf{k.kkR; laxhr iºrhrh« 4 xhrizdkj

(2) oSfnd dkˇkrh« ok|s

(3) ukVÓðkkL=

(4) laf/kizdkðk jkx-

5. FkksMD;kr ekfgrh f«gk (dks.kR;kgh nksu) % [5]

(1) tkrhxk;u

(2) izca/k

(3) oSfnd laxhr-

6. iq<h«iSdh dks.kR;kgh ,dk laxhrKkps lkaxhfrd ;ksxnku foðkn djk % [5]

(1) ia- dqekj xa/koZ

(2) ia- efY«dktqZu eUlwj

(3) «rk eaxsðkdj

(4) fdðkksjh veks.kdj

(5) ia- iUuk«k« ?kks"k-

7. iq<h«iSdh dks.kR;kgh ,dk fo"k;koj lfoLrj f«gk % [5]

(1) mŸkj fganqLFkkuh vkf.k nkf{k.kkR; laxhr iºrh

(2) izkphu laxhrK

(3) daBlaLdkj-
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[4701]-340

lrkj

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) izFke izðu vfuok;Z vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fc«afcr cafnðk@eflr[kkuh xr

Lojf«ihcº djk- [5]

2. njckjh dkuMk] fe;k dh rksMh] xkorh ;kaiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h;

ekfgrh f«gwu jkxfoLrkj f«gk- [5]

3. iq<h«iSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu rk«kpk Bsdk ,diVhr]

nqIiVhr o pkSiVhr f«gk % [5]

(1) vºk/kqekˇh

(2) ,drk«-

4. fVik f«gk (dks.kR;kgh nksu) % [5]

(1) gkeZuh

(2) es«Mh

(3) vk/kqfud vk«ki iºrh

(4) fxVfdMh] fÿUru (œUru)-
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5. FkksMD;kr ekfgrh f«gk (dks.kR;kgh nksu) % [5]

(1) izca/k

(2) oSfnd dkˇkrh« ok|s

(3) vk«ki] tksM] >k«k] tetek-

6. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk laxhrKkps lkaxhfrd ;ksxnku foðkn

djk- [5]

7. iq<h«iSdh dks.kR;kgh ,dk fo"k;koj lfoLrj f«gk % [5]

(1) izkphu laxhrrK

(2) oSfnd laxhr

(3) mŸkj fganqLFkkuh o nf{k.k fganqLFkkuh laxhr iºrh-
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[4701]-340

rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) izFke izðu vfuok;Z vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. iapelokjh fdaok eŸk ;kaiSdh dks.kR;kgh ,dk rk«kph laiw.kZ ðkkL=h; ekfgrh f«gwu rk«kpk

Bsdk ,diVhr o nqIiVhr f«gk- [5]

2. 16 ek=kaP;k dks.kR;kgh nksu rk«kaph lkE;&Hksnklg laiw.kZ ðkkL=h; ekfgrh f«gwu nksUgh

rk«kapk Bsdk ,diVhr f«gk- [5]

3. fVik f«gk (dks.kR;kgh nksu) % [5]

(1) csne frgkbZ

(2) isðkdkj

(3) friY«h

(4) pÿnkj-

4. iq<h«iSdh dks.kR;kgh ,dk d«kdkjkps lkaxhfrd ;ksxnku foðkn djk % [5]

(1) ia- lkerk izlkn

(2) ia- daBs egkjkt

(3) ia- fdðku egkjkt-
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5. iq<h«iSdh dks.kR;kgh ,dk fo"k;koj lfoLrj f«gk % [5]

(1) iatkc cktkph oknu ðkS«h

(2) rc«k lkFklaxrhps ra=

(3) ^dk;nk*ph O;k[;k f«gwu dks.kR;kgh cktkrh« ,d dk;nk f«gk-
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Total No. of Questions—7+7+6] [Total No. of Printed Pages—4+1

Seat

No. [4701]-341

T.Y. B.A. EXAMINATION, 2015

MUSIC (laxhr) (S-4)

Special Paper IV

(2008 PATTERN)

foðððððks"k lwpuk :— ;k lapkrh« jkxlaxhr xk;u] lrkj] rc«k ;kaiSdh dks.krhgh ,d izðuif=dk

lksMok-

jkxlaxhr xk;u

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) izFke izðu vfuok;Z vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fc«afcr [;k« Lojf«ihcº

djk- [5]

2. uan] iqfj;k] ek:fcgkx ;kaiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh f«gwu

jkxfoLrkj f«gk- [5]

3. 14 ek=kaP;k dks.kR;kgh 2 rk«kaph laiw.kZ ðkkL=h; ekfgrh f«gwu nksUgh rk«kapk Bsdk ,diVhr

f«gk- [5]
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4. fVik f«gk (dks.kR;kgh nksu) % [5]

(1) laxhrd«sps O;kolkf;dj.k

(2) /ouheqÊ.k

(3) ik‹oZlaxhr-

5. FkksMD;kr ekfgrh f«gk (dks.kR;kgh nksu) % [5]

(1) laxhr d«k izlkjklkBh Li/kk±ps egRo

(2) ik‹oZlaxhr

(3) laxhr vkf.k jl

(4) laxhr vkf.k vU; «f«r d«k-

6. iq<h«iSdh dks.kR;kgh ,dk laxhrKkps lkaxhfrd ;ksxnku foðkn djk % [5]

(1) fgjkckbZ cMksnsdj

(2) lq/khj QMds

(3) ia- gfjizlkn pkSjfl;k

(4) vkðkk Hkksl«s

(5) ia- fðkodqekj ðkekZ-

7. iq<h«iSdh dks.kR;kgh ,dk fo"k;koj lfoLrj f«gk % [5]

(1) xq#dq« laxhr fðk{k.k iºrh o vk/kqfud laxhr fðk{k.k iºrh

(2) laxhr d«kizlkj vkf.k vk/kqfud oSKkfud midj.ks

(3) laxhr eSfQ« lknjhdj.kkps ra=-
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[4701]-341

lrkj

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) izFke izðu vfuok;Z vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk jkxkrh« fc«afcr cafnðk@eflr[kkuh xr

Lojf«ihcº djk- [5]

2. e/kqoarh] vfgj&HkSjo] «f«r] ;kaiSdh dks.kR;kgh ,dk jkxkph laiw.kZ ðkkL=h; ekfgrh

f«gwu jkxfoLrkj f«gk- [5]

3. 14 ek=kaP;k dks.kR;kgh nksu rk«kaph rq«uk djk o nksUgh rk«kapk Bsdk ,diVhr

f«gk % [5]

(1) >irk«

(2) :id-

4. fVik f«gk (dks.kR;kgh nksu) % [5]

(1) laxhrkps jlkLoknu

(2) /ouheqÊ.k

(3) laxhrkr nwj fðk{k.k iºrhl oko-
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5. FkksMD;kr ekfgrh f«gk (dks.kR;kgh nksu) % [5]

(1) laxhr d«sr flaFkslk;>j b- vk/kqfud oSKkfud midj.kkapk izHkko

(2) laxhr d«srh« laðkks/kukps Lo:i

(3) laxhr laes«u egksRlo-

6. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk laxhrKkps lkaxhfrd ;ksxnku foðkn

djk- [5]

7. iq<h«iSdh dks.kR;kgh ,dk fo"k;koj lfoLrj f«gk % [5]

(1) xq#dq« laxhr fðk{k.k iºrh o vk/kqfud Lo:i o leL;k

(2) laxhrkr lrkjoknu eSfQ«hps lknjhdj.k-
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[4701]-341
rc«k

osˇ % 1 rkl 30 fefuVs ,dw.k xq.k % 20

lwpuk :— (i) ifg«k izðu lksMfo.ks vfuok;Z vkgs-

(ii) izFke izðu vfuok;Z vf/kd moZfjr izðukaiSdh dks.krsgh rhu vls ,dw.k

pkj izðu lksMok-

1. rhurk«kr js«k o jkS ;kaps lksnkgj.k Li"Vhdj.k f«gk- [5]

2. >irk«] ,drk« ;kaiSdh dks.kR;kgh ,d rk«kph ekfgrh f«gwu R;k rk«kaph ,diV] vkM&dqvkM

«; f«gk- [5]

3. fVik f«gk (dks.kR;kgh nksu) % [5]

(1) fcvkM «;

(2) iju

(3) dk;nk

(4) jkS

(5) xr-

4. ;k o"khZP;k vH;klÿekrh« dks.kR;kgh ,dk d«kdkjkps lkaxhfrd ;ksxnku foðkn

djk- [5]

5. iq<h«iSdh dks.kR;kgh ,dk fo"k;koj lfoLrj f«gk % [5]

(1) fofo/k ckt ;k n`"Vhdksukrwu rc«koknukph Hkkjrh; laxhrkrh« l|fLFkrh

(2) rc«k oknukrh« v«adkjkaps lksnkgj.k o.kZu djk-

6. mŸkj fganqLFkkuh o dukZVd rk«iºrh lfoLrj f«gk- [5]



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-342

T.Y. B.A. EXAMINATION, 2015

ANCIENT INDIAN HISTORY, CULTURE AND ARCHAEOLOGY

General Paper III

(Outline of Religion and Philosophy)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Brahmana Texts

(ii) Bhagvadgita

(iii) Concept—Jina

(iv) Ajivakas.

2. Answer the following questions in 100 words each (any four) : [20]

(i) Discuss the philosophy of the Rigveda.

(ii) Describe the period and composition of Ramayana.

(iii) Explain the Syadavada in Jainism.

(iv) State the impact of Buddhism on Indian Culture.

(v) Explain the nature of Buddhist Samgha.

(vi) Name the heterodox thinkers.



[4701]-342 2

3. Answer the following questions in 200 to 250 words each (any

three) : [30]

(i) State the main philosophy of the Aranyakas.

(ii) Describe the composition of Mahabharata.

(iii) Take a review of the philosophy of Charvaka with reference

to rebirth.

(iv) State the life of Bhagwan Buddha.

(v) Write the contribution of Ancient Heterodox thinking to Indian

Culture.

4. Answer the following questions in 500 words (any one) : [20]

(i) Discuss the composition of the Atharvaveda and take a review

of gods mentioned in it.

(ii) Describe the causes for the rise and growth of Jainism.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.kR;kgh nksu) % [10]

(i) czk„.k xzaFk

(ii) Hkxonxhrk

(iii) thuµgh ladYiuk

(iv) vkthod-
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2- izR;sdh 100 ðkCnkr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) ΩXosnkrh« rŸoKkukph ppkZ djk-

(ii) jkek;.kkpk dkˇ vkf.k jpuk o.kZu djk-

(iii) tSu /kekZrh« ^L;knokn* Li"V djk-

(iv) Hkkjrh; laLœrhojh« ckSn~/k /kekZpk izHkko lkaxk-

(v) ckSn~/k la?kkps Lo:i Li"V djk-

(vi) voSfnd fopkjoarkaph ukos |k-

3- [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.kR;kgh rhu) % [30]

(i) vkj.;dkrh« izeq[k rŸoKku lkaxk-

(ii) egkHkkjrkph jpuk o.kZu djk-

(iii) iqutZUekP;k lanHkkZr pkokZdkP;k rŸoKkukpk vk<kok ?;k-

(iv) Hkxoku cqn~/kkaps thou pfj= lkaxk-

(v) ^izkphu voSfnd fopkjkaps Hkkjrh; laLœrh«k ;ksxnku* f«gk-

4- [kk«h« izðukaps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) vFkoZosnkP;k jpusph ppkZ djk vkf.k R;kr o.kZu ds«sY;k nsorkapk vk<kok

?;k-

(ii) tSu /kekZP;k mn; vkf.k fodklkP;k dkj.kkaps o.kZu djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-343

T.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

(G-3 : Local Self-Government in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain the challenges in Local Self-Government.

(ii) Write the functions of Sarpanch.

(iii) State the problems of Metropolitan Cities.

(iv) Write the structure and functions of Cantonment Boards.

2. Write notes in 100 words each (any four) : [20]

(i) State the role of social change in Panchayat Raj.

P.T.O.
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(ii) 74th constitutional amendment.

(iii) State the functions of Gram Sevak.

(iv) District Collector.

(v) State the importance of Local Government.

(vi) Explain the power of Panchayat Samiti Sabhapati.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the nature and scope of Local Government.

(ii) State the functions of Divisional Commissioner.

(iii) Explain the causes of Urbanisation.

(iv) State the power of Chief Executive Officer.

(v) State the composition, powers and functions of Gram

Panchayat.

4. Answer any one of the following questions in 500 words : [20]

(i) Explain the meaning and changing features of Local Government.

(ii) Discuss the power and functions of Municipal Corporation.



[4701]-343 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) LFkkfud Loðkklukrh« vkOgkus Li"V djk-

(ii) ljiapkph dk;sZ f«gk-

(iii) eksBÓk ðkgjkP;k leL;k lkaxk-

(iv) Nko.kh {ks=kph jpuk vkf.k dkes f«gk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.krsgh pkj) % [20]

(i) iapk;r jkT;krh« lkekftd cn«kph Hkwfedk lkaxk-

(ii) 74oh lafo/kku nq#Lrh-

(iii) xzkelsodkph dkes lkaxk-

(iv) ftYgkf/kdkjh-

(v) LFkkfud Loðkklukps egRo lkaxk-

(vi) iapk;r lferh lHkkirhps vf/kdkj Li"V djk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) LFkkfud Loðkklukps Lo:i vkf.k O;kIrh Li"V djk-

(ii) foHkkxh; vk;qDrkph dkes lkaxk-

(iii) ðkgjhdj.kkph dkj.ks Li"V djk-

(iv) eq[;dk;Zdkjh vf/kdkÚ;kps vf/kdkj lkaxk-

(v) xzkeiapk;rhph jpuk] vf/kdkj vkf.k dk;sZ lkaxk-

4. [kk«h«iSdh izðukaph dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) LFkkfud Loðkklukpk vFkZ vkf.k cn«rh oSfðk"VÓs Li"V djk-

(ii) egkuxjikf«dsps vf/kdkj vkf.k dk;kZph ppkZ djk-
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Seat

No. [4701]-344

T.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

Special Paper III

(Development Administration)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) What is Social Welfare ?

(ii) State the meaning of Voluntary Organization.

(iii) State the nature of International Agencies.

(iv) State the scope of Development Administration.

2. Write notes in 100 words each (any four) : [20]

(i) State the machinery of Central Planning.

P.T.O.
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(ii) The concept of Community Development.

(iii) The nature of Pressure Groups.

(iv) State the policies of Land Reforms.

(v) The meaning of Bureaucracy.

(vi) Public-Private Partnership in Development Administration.

3. Answer the following questions in 250 words each (any three) : [30]

(i) Explain the role of International Agencies in Development

Administration.

(ii) Explain the role of Bureaucracy in Development Administration.

(iii) State the features of Development Administration.

(iv) Discuss the Development Policies in Co-operation.

(v) Explain the role and functions of Non-Governmental

Agencies.

4. Answer any one of the following questions in 500 words : [20]

(i) Discuss the effects of Globalization in Development

Administration.

(ii) Explain the machinery of Development Planning in India.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) lekt dY;k.k Eg.kts dk; \

(ii) Lo;alsoh la?kVuspk vFkZ lkaxk-

(iii) vkarjjk"V™h; vfHkdj.kkps Lo:i lkaxk-

(iv) fodkl izðkklukph O;kIrh lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) dsaÊh; fu;kstukph ;a=.kk lkaxk-

(ii) lkeqnkf;d fodklkph ladYiuk-

(iii) ncko xVkaps Lo:i-

(iv) tehu lq/kkj.ksps /kksj.k lkaxk-

(v) uksdjðkkghpk vFkZ-

(vi) fodkl izðkklukr lkoZtfud [kktxh Hkkxhnkjh-
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3. [kk«h« izðukaph izR;sdh 250 ðkCnkar mŸkjs f«gk (dks.kR;kgh rhu) % [30]

(i) fodkl izðkklukr vkarjjk"V™h; vfHkdj.kkaph Hkwfedk Li"V djk-

(ii) fodkl izðkklukr uksdjðkkghph Hkwfedk Li"V djk-

(iii) fodkl izðkklukph oSfðk"VÓs lkaxk-

(iv) lgdkj {ks=kP;k fodkl /kksj.kkoj ppkZ djk-

(v) fcxj ðkkldh; vfHkdj.kkaph Hkwfedk vkf.k dk;sZ Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkar mŸkj f«gk % [20]

(i) fodkl izðkklukojh« tkxfrdhdj.kkP;k ifj.kkekaph ppkZ djk-

(ii) Hkkjrkrh« fodklkps fu;kstu dj.kkjh ;a=.kk Li"V djk-
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Seat

No. [4701]-345

T.Y. B.A. EXAMINATION, 2015

PUBLIC ADMINISTRATION

(S-4 : Comparative Public Administration)

(India, U.K. and U.S.A.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the meaning of Comparative Public Administration.

(ii) Explain the modern approach of Comparative Public

Administration.

(iii) What is Administrative Law ?

(iv) Explain the Integrity in Administration.

P.T.O.
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2. Write notes in 100 words each (any four) : [20]

(i) Structural-Functional Approach.

(ii) Right to Strike.

(iii) Integrity in Administration.

(iv) Functions of Administrative Tribunals.

(v) Rigg’s Theory of Prismatic Society.

(vi) Public Service Commissions in India.

3. Answer the following questions in 250 words each (any three) : [30]

(i) State the meaning and objectives of Training.

(ii) Explain the methods of Recruitment in U.S.A.

(iii) Explain the scope of Administrative Law.

(iv) State the traditional approach to the study of Comparative

Public Administration.

(v) Discuss the employer-employee relations.

4. Answer any one question in 500 words each : [20]

(i) Discuss the problems and eradication of corruption in

India.

(ii) Explain the types of training in India.



[4701]-345 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) rq«ukRed&«ksdizðkklukpk vFkZ lkaxk-

(ii) rq«ukRed «ksdizðkklukpk vk/kqfud n`f"Vdks.k Li"V djk-

(iii) izðkkldh; dk;nk Eg.kts dk; \

(iv) izðkklukrh« ,dkRerk Li"V djk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(i) jpukRed&dk;Zoknh n`f"Vdks.k-

(ii) laikpk vf/kdkj_

(iii) izðkklukrh« ,dkRerk-

(iv) izðkkldh; U;k;kf/kdj.kkph dk;sZ-

(v) fjXtpk leikfð Zod flºkar-

(vi) Hkkjrkrh« «ksdlsok vk;ksx-
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3. [kk«h« izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) izfðk{k.kkpk vFkZ vkf.k gsrw lkaxk-

(ii) vesfjdsrh« HkjrhP;k iºrh Li"V djk-

(iii) izðkkldh; dk;nÓkph O;kIrh Li"V djk-

(iv) rq«ukRed «ksdizðkklukP;k vH;klkpk ikjaikfjd n`f"Vdks.k lkaxk-

(v) ek«d&lsod laca/kkph ppkZ djk-

4. [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) Hkkjrkrh« Hkz"Vkpkjkph leL;k vkf.k mik;;kstukaph ppkZ djk-

(ii) Hkkjrkrh« izfðk{k.kkps izdkj Li"V djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-346

T.Y. B.A. EXAMINATION, 2015

PSYCHOLOGY

General Paper III

[Industrial and Organizational (I/O) Psychology]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What is work motivation ?

(ii) Explain the ‘person-machine relationship’.

(iii) Comment on I/O psychology now.

(iv) Explain the graphic rating scale.

P.T.O.



[4701]-346 2

2. Write notes in 100 words each (any four) : [20]

(i) Walk-in-interview.

(ii) Difference between training and development.

(iii) Seniority.

(iv) Importance of job attitude in job satisfaction.

(v) Democratic leadership.

(vi) Principles in ‘work space design’.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Write information about biodata items.

(ii) State the different objectives of training.

(iii) Explain any two measurements of job satisfaction.

(iv) Discuss ‘theory X and theory Y’ approach to leadership.

(v) State the scope of Engineering Psychology.

4. Answer any one in 500 words : [20]

(i) Explain the meaning, subject matter and different functions

of I/O psychology.

(ii) Discuss cognitive theories of work motivation.



[4701]-346 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) dk;Z izsj.kk Eg.kts dk; \

(ii) ^O;Drh&;a= laca/k* Li"V djk-

(iii) vkSnÓksfxd vkf.k la?kVukRed ekulðkkL=kpk orZeku lkaxk-

(iv) vk«s[k ntkZ iºrh Li"V djk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.krsgh pkj) % [20]

(i) vk;R;k osˇph eq«k[kr-

(ii) izfðk{k.k vkf.k fodkl ;karh« Hksn-

(iii) lsokts"Brk-

(iv) dk;Zlek/kkuke/;s dk;Z vfHko`Ÿkhps egRo-

(v) «ksdðkkgh usr`Ro-

(vi) ^dk;Z vodkðk vkjk[kM~;krh«* rRos-
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3. [kk«h« izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) thoufo"k;d lwphph ekfgrh nÓk-

(ii) izfðk{k.kkph fofo/k mn~nh"VÓs lkaxk-

(iii) dk;Zlek/kkukP;k dks.kR;kgh nksu ekiuiºrh foðkn djk-

(iv) usr`Rofo"k;d ^flºkar {k vkf.k flºkar ;* n`f"Vdksukph ppkZ djk-

(v) vfHk;kaf=dh ekulðkkL=kph O;kIrh lkaxk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vkSnÓksfxd vkf.k la?kVukRed ekulðkkL=kpk vFkZ] vH;klfo"k; vkf.k fofoËk

dk;sZ Li"V djk-

(ii) dk;Zizsj.ksP;k cks/kfud flºkarkph ppkZ djk-



[4701]-346 5 P.T.O.

[4701]-346

(Applied Psychology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Explain ‘rational emotive and behavior therapy’ (REBT).

(ii) What are the factors that affect performance of sports

person ?

(iii) State the different techniques in disaster management.

(iv) What is identity crisis ? Explain.

2. Write notes in 100 words each (any four) : [20]

(i) Contribution of Psychology in rural development.

(ii) Issues of economically challenged students.

(iii) Role of psychologists in forensic psychology.
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(iv) Urban slums.

(v) Cyber crimes.

(vi) Role of psychologists in rehabilitation.

3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) Explain the nature and scope of positive psychology.

(ii) State the different fields of I/O psychology.

(iii) State the different superstitions and explain the use of psychology

in dealing with them.

(iv) What psychological tests are used in selection in the defense

services ? Explain in short how to adjust to military life ?

(v) Explain the meaning and types of violence.

4. Answer in 500 words (any one) : [20]

(i) ‘How marital problems become crucial in modern era’ ? Discuss.

What will be the solutions to reduce such problems ?

(ii) Discuss the effective teaching-learning methodologies in

detail.



[4701]-346 7 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) rdZlaxr Hkkofud vkf.k orZu mipkj iºrh (REBT) Li"V djk-

(ii) [ksˇkMwaP;k dk;kZoj ijh.kke dj.kkjs ?kVd dks.krs \

(iii) vkiŸkh O;oLFkkiukrh« fofo/k ra=s lkaxk-

(iv) ^vfLrRo la?k"kZ* Eg.kts dk; \ Li"V djk-

2. izR;sdh 100 ðkCnkar Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) xzkeh.k fodklkrh« ekulðkkL=kps ;ksxnku-

(ii) vkfFkZdn`"VÓk ekxkl«sY;k fonÓkF;k±iq<h« izðu-

(iii) U;k;oSnÓd ekulðkkL=krh« ekulðkkL=Kkaph Hkwfedk-

(iv) ukxjh >ksiMiV~Vh-

(v) ^lk;cj* xqUgs-

(vi) iquoZlukrh« ekulðkkL=Kkaph Hkwfedk-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) ldkjkRed ekulðkkL=kps Lo:i o O;kIrh Li"V djk-

(ii) vkSnÓksfxd o la?kVukRed ekulðkkL=kph fofo/k {ks=s lkaxk-

(iii) fofo/k va/kJºk lkaxk vkf.k R;kojh« mik;;kstusr ekulðkkL=kpk mi;ksx Li"V

djk-

(iv) lSfudh lsokae/;s fuoM dj.;kdjrk dks.kR;k ekulðkkL=h; pkp.;k okijY;k

tkrkr \ lSfudh thoukðkh lek;kstu dls lk/kkos rs FkksMD;kr Li"V djk-

(v) fgalkpkjkpk vFkZ vkf.k izdkj Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ^vk/kqfud ;qxkr oSokfgd leL;k fdrh egŸoiw.kZ cuY;k vkgsr* ppkZ djk-

;k leL;k deh dj.;klkBh mik; ;kstuk dk; vlw ðkds« \

(ii) ifj.kkedkjd v/;;u&v/;kiu iºrhaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-347

T.Y. B.A. EXAMINATION, 2015

PSYCHOLOGY

Special Paper III

(Experimental Psychology and Scientific Research)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) State the uses of insight for thinking process.

(ii) What are the characteristics of psychological test ?

(iii) Write the criteria of Hypothesis.

(iv) Define the concepts universe, sample and sampling.

P.T.O.
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2. Write short notes in 100 words each (any four) : [20]

(i) Point of subjective equality (PSE).

(ii) Cognitive map.

(iii) Operational definition of variable.

(iv) Probability.

(v) Quota sampling.

(vi) Case study.

3. Answer the following questions in 200 to 250 words each (any three) : [30]

(i) Explain that how the differential threshold (D.L.) measured

by the method of constant stimuli.

(ii) Discuss the various theories of Thinking.

(iii) Describe the social and ethical issues in psychological testing.

(iv) Illustrate the various types of variables.

(v) Discuss the various methods of observation.

4. Answer any one of the following questions in 500 words : [20]

(i) Define attention. Discuss the determinants of attention.

(ii) What is scientific research ? Illustrate the types of scientific

research.



[4701]-347 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) fopkj&izfÿ;slkBh eeZn`"Vhps mi;ksx lkaxk-

(ii) ekulðkkL=h; pkp.khph oSfðk"VÓs dks.krh vkgsr \

(iii) vH;qixekps fud"k f«gk-

(iv) foðo] uequk vkf.k uequk p;u ;k ladYiukaph O;k[;k nÓk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) O;fDrfu"B lekurk fcanw (PSE)-

(ii) cks/kfud vk«s[k-

(iii) ifjoR;kZph lafÿ;kRed O;k[;k-

(iv) laHkkO;rk-

(v) fu;rkaðk uequk p;u-

(vi) O;Drh&o`Ÿkkar-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) fLFkj mn~nhid in~/krhP;k lgk∏;kus Hksnfud lhekewY;kps ekiu dls ds«s tkrs

rs Li"V djk-

(ii) fopkj izfÿ;sP;k fofo/k miiŸkhaph ppkZ djk-

(iii) ekulðkkL=h; pkp.khrh« lkekftd o uSfrd ewY;kaps o.kZu djk-

(iv) ifjoR;kZps fofo/k izdkj lksnkgj.kklg lkaxk-

(v) fujh{k.kkP;k fofo/k in~/krhaph ppkZ djk-

4. [kk«h«iSdh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vo/kkukph O;k[;k nÓk- vo/kkukP;k fu;kedkaph ppkZ djk-

(ii) ðkkL=h; laðkks/ku Eg.kts dk; \ ðkkL=h; laðkks/kukps izdkj lksnkgj.k lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-348

T.Y. B.A. EXAMINATION, 2015

YOGA (Yogvidya)

(G-3 : Vyavharikyoga)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Explain any one of the following in 50 words : [5]

(i) In Yogabhyasa which kriya is used to purify the digestive

system ?

(ii) Explain the two Mudras in Yoga science.

2. Write short notes on (any two) : [10]

(i) Kumbhak

(ii) Personal-efficiency

(iii) Hatha Pradipika

(iv) Danddhoti.

P.T.O.
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3. Answer any two of the following questions in 200 to 250 words

each : [15]

(i) State the importance of Yoga science in health development.

(ii) Discuss the uses of Yoga in family problem solving.

(iii) Explain the role of Yoga as a preventive measure of

diseases.

4. Attempt any one question in detail : [10]

(i) State the role of Yoga science in play.

(ii) State the types and benefits of Pranayama according to Swami

Swatmaram.

(ejkBh :ikarj)

osˇ % nksu rkl ,dw .k xq.k % 40

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh ,dkps 50 ðkCnkar Li"Vhdj.k |k % [5]

(i) ;ksxkH;klke/;s ikpu laLFksP;k ðkqfºlkBh dks.kR;k fÿ;kapk vH;kl ds«k tkrks \

(ii) ;ksxðkkL=krh« nksu eqÊkaph ekfgrh |k-
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2. FkksMD;kr Vhik |k (dks.kR;kgh nksu) % [10]

(i) dqEHkd-

(ii) O;fDrxr dk;Z{kerk-

(iii) gBiznhfidk-

(iv) n.M/kksrh-

3. [kk«h«iSdh dks.kR;kgh nksu izðukaps izR;sdh 200 rs 250 ðkCnkar mŸkj |k % [15]

(i) vkjksX; lao/kZuklkBh ;ksxðkkL=kps egRo FkksMD;kr lkaxk-

(ii) dkSVqafcd leL;k lksMfo.;klkBh ;ksxkpk mi;ksx ppkZ djk-

(iii) jksxizfrca/kd mik; Eg.kwu ;ksxkph Hkwfedk Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps lfoLrj mŸkj |k % [10]

(i) [ksˇke/;s ;ksxðkkL=kph Hkwfedk lkaxk-

(ii) Lokeh LokRekjkeœr izk.kk;kekps izdkj o Qk;ns lkaxk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-349

T.Y. B.A. EXAMINATION, 2015

HISTORY OF CIVILIZATION

General Paper III

(World Culture)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following questions in 50 words each (any two) : [10]

(i) Write in brief about ‘Confucius’.

(ii) State about the ‘Roman Law’.

(iii) Who was Zoroastor ?

(iv) State in brief about ‘Vasco-da-Gama’.

P.T.O.
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2. Write short notes in 100 words each (any four) : [20]

(i) Assyrian Civilization.

(ii) Philosophy of Greeks.

(iii) Inca civilization.

(iv) Philosophy of Arabs.

(v) Reformation Movement.

(vi) Contribution of Rene Descartes.

3. Answer the following questions in 200-250 words each (any three) : [30]

(i) Explain the religious ideas of the Paleolithic Age.

(ii) Discuss the art and architecture of Persian Civilization.

(iii) Take a review of the Latin American Civilizations.

(iv) State the salient features of Christianity.

(v) Take a review of the ‘early scientific discoveries’.

4. Answer the following questions in 500 words each (any one) : [20]

(i) Discuss the salient features of the Harappan Civilization.

(ii) Take a review of the religion and philosophy of Buddhism.



[4701]-349 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad izðukaps iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.kR;kgh nksu) % [10]

(i) dU∂;wfðk;l fo"k;h FkksMD;kr f«gk-

(ii) jkseu dk;nk ;k fo"k;h lkaxk-

(iii) >j=`"V dks.k gksrs \

(iv) okLdks&n&xkek ;k fo"k;h FkksMD;kr lkaxk-

2. izR;sdh 100 ðkCnkar FkksMD;kr Vhik f«gk (dks.kR;kgh pkj) % [20]

(i) vWflfj;u laLœrh-

(ii) xzhd rŸoKku-

(iii) bUdk laLœrh-

(iv) vjckaps rŸoKku-

(v) /keZlq/kkj.kk pˇoˇ-

(vi) jsusnsdkrZps ;ksxnku-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.kR;kgh rhu) % [30]

(i) iqjkðe;qxhu /kkfeZd dYiuk Li"V djk-

(ii) ifðkZ;u laLœrh (bjk.k) d«k o LFkkiR; ;kph ppkZ djk-

(iii) «WfVu vesfjdsrh« laLœrhapk vk<kok ?;k-

(iv) f[kzðpu /kekZph Bˇd oSfðk"VÓs lkaxk-

(v) lq#okrhP;k dkˇkrh« ðkkL=h; ðkks/kkapk vk<kok ?;k-

4. [kk«h« izðukaps mŸkj 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) gMIik laLœrhP;k Bˇd oSfðk"VÓkaph ppkZ djk-

(ii) ckSº /keZ o rŸoKku ;kpk vk<kok ?;k-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-350

T.Y. B.A. EXAMINATION, 2015

HOME ECONOMICS

(G-3 : Dynamics and Challenges of Indian Society)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer the following concepts in 50 words each (any two) : [10]

(i) Social change process.

(ii) Women education.

(iii) Divorce.

(iv) Adoption system.

2. Write short notes in 100 words each (any four) : [20]

(i) Inter-marriage system.

P.T.O.
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(ii) Causes of social conformity.

(iii) Causes of social deviation.

(iv) Characteristics of social value conflict.

(v) Marriage and sex.

(vi) Effects at divorce.

3. Answer the following questions in 200 words each (any three) : [30]

(i) Explain the factors influencing on social change.

(ii) Explain the characteristics of modern society.

(iii) Explain the causes and effects of dowry system.

(iv) Explain the functions of family.

(v) Explain the causes and effects of social value

conflict.

4. Answer the following questions in 500 words each (any one) : [20]

(i) Explain the characteristics of Traditional Society.

(ii) “The status of women is changing in Indian Society.”

Explain.



[4701]-350 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« ladYiukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.kR;kgh nksu) % [10]

(i) lkekftd ifjorZu izfÿ;k-

(ii) fL=fðk{k.k-

(iii) ?kVLQksV-

(iv) nŸkd iºrh-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) vkarjfookg iºrh-

(ii) lkekftd vuqp«ukph dkj.ks-

(iii) lkekftd fop«ukph dkj.ks-

(iv) lkekftd ewY; la?k"kkZph oSfðk"VÓs-

(v) fookg vkf.k «Safxdrk-

(vi) ?kVLQksVkps ifj.kke-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) lkekftd ifjorZukoj ifj.kke dj.kkjs ?kVd Li"V djk-
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(ii) vk/kqfud lektkph oSfðk"VÓs Li"V djk-

(iii) gqaMkiºrhph dkj.ks o ifj.kke Li"V djk-

(iv) dqVwackph dk;sZ Li"V djk-

(v) lkekftd ewY; la?k"kkZph dkj.ks vkf.k ifj.kke Li"V djk-

4. [kk«h« izðukaph mŸkjs izR;sdh 500 ðkCnkar f«gk (dks.krkgh ,d) % [20]

(i) ijaijkxr lektkph oSfðk"VÓs Li"V djk-

(ii) ^Hkkjrh; lektkr fL=;kapk ntkZ cn«r vkgs-** Li"V djk-



Total No. of Questions—4+4+4] [Total No. of Printed Pages—8+4

Seat

No. [4701]-351

T.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

D.S. G-3 (A) : International Security

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What is National Security ?

(ii) State the concept of Detente.

(iii) What is Diplomacy ?

(iv) What is Pollution ?

2. Write short notes in 100 words each (any four) : [20]

(i) New cold war.

P.T.O.
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(ii) Prevention of war.

(iii) Effects of Terrorism.

(iv) Concept of Non-alignment.

(v) Nature of Arms Control.

(vi) Effects of Ethnic Conflicts.

3. Answer in 200 to 250 words each (any three) : [30]

(i) Describe the origin and development of Cold war.

(ii) State the concept of Diplomacy and explain the functions of

Diplomats.

(iii) What is Non-alignment ? Explain the role of Non-alignments

state in maintaining International Security.

(iv) Discuss America-China relations in Detente period.

(v) Describe the present New World Order.

4. Answer any one in 500 words : [20]

(i) Explain the environmental problems of Natural Resources.

(ii) Explain the causes of Second World War.



[4701]-351 3 P.T.O.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) jk"V™h; lqj{kk Eg.kts dk; \

(ii) r.kkoðkSfFkY;kph ladYiuk lkaxk-

(iii) jktu; Eg.kts dk; \

(iv) iznq"k.k Eg.kts dk; \

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) uohu ðkhr ;qº-

(ii) ;qº Fkkacfo.;kps mik;-

(iii) ngðkroknkps ifj.kke-

(iv) vf«Irrsph ladYiuk-

(v) ðkL= fu;a=.kkps Lo:i-

(vi) okafðkd la?k"kkZps ifj.kke-
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3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) ðkhr ;qºkpk mxe vkf.k fodkl foðkn djk-

(ii) jktu;kph ladYiuk lkaxk vkf.k jktuhfrKkph dk;sZ Li"V djk-

(iii) vf«Irrk Eg.kts dk; \ vkarjjk"V™h; lqj{kk fVdfo.;kr vf«Ir jk"V™kaph Hkwfedk

Li"V djk-

(iv) r.kkoðkSfFkY; dkˇkrh« vesfjdk&phu laca/kkph ppkZ djk-

(v) uohu tkxfrd O;oLFksph l|fLFkrh foðkn djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) uSlfxZd lk/kukaph i;kZoj.kh; leL;k Li"V djk-

(ii) nqlÚ;k tkxfrd ;qºkph dkj.ks Li"V djk-



[4701]-351 5 P.T.O.

[4701]-351

D.S. G-3 (B) : Military Geography

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the characteristics of Jungle Warfare.

(ii) State the geostrategic importance of Andaman and Nicobar.

(iii) Explain the scope of Military Geography.

(iv) State the meaning of Grand Strategy.

2. Write short notes in 100 words each (any four) : [20]

(i) Importance of National Power.

(ii) Problems of Desert Warfare.

(iii) Importance of Military Geography.

(iv) Natural Gas.

(v) Strategic importance of Afghanistan.

(vi) Strategy.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) State the scope and uses of Geostrategy.

(ii) Explain the impact of Geography on Air Warfare.

(iii) State the principles of Logistics.

(iv) Explain the meaning and concept of Tactics.

(v) State in brief the oil crisis in West Asia.

4. Answer any one in 500 words : [20]

(i) Describe the characteristics and logistics problems in plain

warfare.

(ii) State in detail the factors of National Power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) tax« ;qº/kkj.ksph oSfðk"Vs Li"V djk-
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(ii) vaneku vkf.k fudksckjps Hkwlkefjd egRo lkaxk-

(iii) «"djh Hkwxks«kph O;kIrh Li"V djk-

(iv) foðkk« ;qºuhfrpk vFkZ lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krsgh pkj) % [20]

(i) jk"V™h; lŸksps egRo-

(ii) okyqdke; ;qº/kkj.ksP;k leL;k-

(iii) «"djh Hkwxks«kps egRo-

(iv) uSlfxZd xWl-

(v) vQxkf.kLrkups lkefjd egRo-

(vi) ;qºuhfr-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) Hkw;qºuhrhph O;kIrh vkf.k mi;ksx lkaxk-

(ii) gokbZ ;qºiºrhoj Hkwxks«kpk iM.kkjk izHkko Li"V djk-

(iii) iqjoBkO;oLFksph rRos lkaxk-

(iv) Mkoispkpk vFkZ vkf.k ladYiuk Li"V djk-

(v) ifðpe vkfðk;krh« rs« la?k"kZ FkksMD;kr lkaxk-
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4. [kk«h«iSdh dks.kR;kgh ,dkps 500 ðkCnkar mŸkj f«gk % [20]

(i) eSnkuh ;qº/kkj.ksph oSfðk"Vs vkf.k iqjoBÓkP;k leL;k foðkn djk-

(ii) jk"V™h; lŸksps ?kVd lfoLrj lkaxk-
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[4701]-351

D.S. G-3 (C) : Geopolitics

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) What is Landlocked state ?

(ii) Explain the concept of Exclusive Economic Zone.

(iii) Describe the types of Natural Boundaries.

(iv) State the importance of Geopolitics.

2. Write short notes in 100 words each (any four) : [20]

(i) Mackinder.

(ii) Unified field theory.

(iii) Importance of Political Geography.

(iv) Concept of Frontiers.

(v) State.

(vi) Objectives of Geopolitics.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the problems of Buffer State.

(ii) “Political Geography is a dynamic science.” Explain.

(iii) Explain the functions of Territorial Water.

(iv) State the nature and scope of Geopolitics.

(v) Explain the basic elements of Nation.

4. Answer any one in 500 words : [20]

(i) Explain the geographical factors affecting war.

(ii) Describe the Sea power theory of Admiral A. T. Mahan.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) Hkqosf"Vr jk"V™ Eg.kts dk; \
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(ii) vkfFkZd fuc±º {ks=kph ladYiuk Li"V djk-

(iii) uSlfxZd lhekps izdkj foðkn djk-

(iv) Hkwjktuhrhps egRo lkaxk-

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.kR;kgh pkj) % [20]

(i) eWfdaMj-

(ii) ,d:i {ks= flºkar-

(iii) jktdh; Hkwxks«kps egRo-

(iv) lhek iznsðkkph ladYiuk-

(v) jkT;-

(vi) Hkwjktuhrhph mÌh"Vs-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vk?kkrðkks"kd jk"V™kP;k leL;k Li"V djk-

(ii) ^^jktdh; Hkwxks« ,d xfreku ðkkL= vkgs-** Li"V djk-

(iii) izknsfðkd t«kðk;kph dk;sZ Li"V djk-

(iv) Hkwjktuhrhps Lo:i vkf.k O;kIrh lkaxk-

(v) jk"V™kps eq«Hkwr ?kVd Li"V djk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) ;qºkoj ifj.kke dj.kkjs HkkSxksf«d ?kVd Li"V djk-

(ii) vWMfej« ,- Vh- egku ;kapk lkxjh lŸkk flºkar foðkn djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—8

Seat

No. [4701]-352

T.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

D.S. S-3 (A) : Maratha Military System (1630-1818 A.D.)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Describe the geographical background of Maharashtra before

Shivaji.

(ii) State the role of Dadoji Kondadev in making of Shivaji.

(iii) Why did Shivaji adopt Guerrilla tactics ?

(iv) State the strategic importance of Jawali.

P.T.O.
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2. Write short notes in 100 words each (any four) : [20]

(i) Rajaram

(ii) Jijabai

(iii) Kanhoji Angre

(iv) Strategic importance of forts

(v) Treaty of Purandar

(vi) Nanasaheb Peshave.

3. Answer in 200 to 250 words each (any three) : [30]

(i) State the causes of Shivaji victory against Shahistekhan.

(ii) Explain the causes of downfall of Maratha Power.

(iii) Explain the causes of First Anglo-Maratha War.

(iv) Explain the geographical and religious situation in Maharashtra

before the birth of Shivaji.

(v) State the objectives of Karnataka Campaign.

4. Answer in 500 words (any one) : [20]

(i) Describe the Maratha Military Organisation under the Shivaji.

(ii) Evaluate the military leadership of Sambhaji.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkr f«gk (dks.krsgh nksu) % [10]

(i) fðkoiwoZdk«hu egkjk"V™kP;k HkkSxks«hd ikðoZHkwehps o.kZu djk-

(ii) fðkokth egkjktkaP;k tM.k?kM.khr nknksth dksaMnso ;kaph Hkwfedk lkaxk-

(iii) fðkokth egkjktkauh xfueh Mkoispk okij dk ds«k \

(iv) tkoˇhps lkefjd egRo lkaxk-

2. [kk«h« izðukaph izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) jktkjke

(ii) fttkckbZ

(iii) dkUgksth vkaxsz

(iv) fdYY;kaps lkefjd egRo

(v) iqjanjpk rg

(vi) ukuklkgsc isðkos-
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3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkr f«gk (dks.krsgh rhu) % [30]

(i) fðkokth egkjktkaP;k ðkkfgLrs[kku fo#ºP;k fot;kph dkj.ks lkaxk-

(ii) ejkBh lŸksP;k irukph dkj.ks lkaxk-

(iii) baxzt&ejkBk ifgY;k ;qºkph dkj.ks lkaxk-

(iv) fðkokth egkjktkaP;k tUekiwohZP;k egkjk"V™krh« HkkSxks«hd o /kkfeZd ifjfLFkrhps

o.kZu djk-

(v) dukZVd eksfgesph mfÌ"Vs lkaxk-

4. [kk«h« izðukaps mŸkj 500 ðkCnkr f«gk (dks.krkgh ,d) % [20]

(i) fðkokth egkjktkaP;k fu;a=.kk[kk«h« ejkBÓkaP;k «"djh la?kVusps o.kZu djk-

(ii) laHkkthP;k «"djh usr`Rokps ewY;ekiu djk-
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[4701]-352

D.S. (S-3) (B) : Disaster Management

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) Explain the Yokohama strategy.

(ii) State the concept of disaster.

(iii) Explain the relief work of disaster.

(iv) State the elements of disaster management.

2. Write short notes in 100 words each (any four) : [20]

(i) Traditional war

(ii) Strikes

(iii) Thermal pollution

(iv) Earthquake

(v) Role of volunteers in disaster

(vi) Process of Resettlement of disaster.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) State Nuclear war and disaster.

(ii) Discuss ‘Population burden’.

(iii) Explain the effects of Storm.

(iv) What are the significance of study of disaster management ?

(v) State the possible solutions in disaster.

4. Answer any one in 500 words : [20]

(i) Explain the psychological and social consequences of disaster.

(ii) Write an essay on, “Global Warming”.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. izR;sdh 50 ðkCnkr mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) ;ksdksgkekps L=krth Li"V djk-
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(ii) vkiŸkhph ladYiuk lkaxk-

(iii) vkiŸkhrh« enr dk;Z Li"V djk-

(iv) vkiŸkh O;oLFkkiukps ?kVd lkaxk-

2. izR;sdh 100 ðkCnkr fVik f«gk (dks.krsgh pkj) % [20]

(i) ikjaikfjd ;qº

(ii) lai

(iii) FkeZ« iznq"k.k

(iv) Hkwdai

(v) vkiŸkhrh« dk;ZdR;kZph Hkwfedk

(vi) vkiŸkhrh« iquoZlukph izfÿ;k-

3. izR;sdh 200 rs 250 ðkCnkr mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) v.oL= ;qº vkf.k vkiŸkh cÌ« ekfgrh lkaxk-

(ii) ^«ksdla[;k ok<* ppkZ djk-

(iii) oknˇkps ifj.kke Li"V djk-

(iv) vkiŸkh O;oLFkkiukP;k vH;klkps egRo dk; vkgs \

(v) vkiŸkhrh« mik; ;kstuk lkaxk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkr f«gk % [20]

(i) vkiŸkhrh« lkekftd vkf.k ekulðkkL=h; ifj.kke foðkn djk-

(ii) ^tkxfrd rkieku ok<* ;koj fuca/k f«gk-



Total No. of Questions—4+4] [Total No. of Printed Pages—4+2

Seat

No. [4701]-353

T.Y. B.A. EXAMINATION, 2015

DEFENCE AND STRATEGIC STUDIES

(D-S S-4 (A) : Industrial Security)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(i) State the objectives of Industrial Security.

(ii) What is right of private defence ?

(iii) How does the investigation take place ?

(iv) How do we get warning of fire break ?

2. Write short notes in 100 words each (any four) : [20]

(i) First information report

(ii) Perimeter Wall

(iii) Main gate

P.T.O.
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(iv) Carbon di-oxide equipment

(v) First-aid box

(vi) Indian Panel Code

3. Answer in 200 to 250 words each (any three) : [30]

(i) State importance and scope of Industrial Security.

(ii) Describe criminal crimes and preventive measures of it.

(iii) Describe industrial espionage.

(iv) What is fire ?  Explain classification of fire.

(v) State the duties of Security Inspector.

4. Answer in 500 words (any one) : [20]

(i) Explain the security planning and its implementation.

(ii) Describe in brief various types of first aid.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) vkS|ksxhd lqj{kssph mfÌ"VÓs lkaxk-
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(ii) [kktxh cpkokpk gDd Eg.kts dk; \

(iii) pkSdðkh dðkh ds«h tkrs \

(iv) vkxhph lqpuk dðkh feˇrks \

2. izR;sdh 100 ðkCnkar fVik f«gk (dks.krkgh pkj) % [20]

(i) ifg«h [kcj

(ii) daiuh lHkksork«ph fHkar

(iii) eq[; izosðk}kj

(iv) dkcZu Mk;&vkWDlkbZM midj.k

(v) izFkeksipkj isVh

(vi) Hkkjrh; naM lafgrk

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) vkS|ksfxd lqj{kssps egRo o O;kIrh lkaxk-

(ii) QkStnkjh Lo:ikP;k xqUgÓkaph o rs Vkˇ.;klkBh dsY;k tk.kkÚ;k izfrca/kkRed mik;kaps

o.kZu djk-

(iii) vkS|ksfxd gsjxhjhps o.kZu djk-

(iv) vkx Eg.kts dk; \ vkxhps oxhZdj.k Li"V djk-

(v) lqj{kk fufj{kdkph drZO;s lkaxk-

4. [kkyhyiSdh dks.krkgh ,d iz'ukps mŸkj 500 ðkCnkar f«gk % [20]

(i) lqj{ksps fu;kstu vkf.k vae«ctko.kh Li"V djk-

(ii) izFkeksipkjkaP;k fofo/k izdkjkaps o.kZu djk-



[4701]-353 4

[4701]-353

(D.S. S-4 (B) : Research Methodology)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : : [10]

(i) State the scope of Research.

(ii) State the merits of Survey.

(iii) Explain the nature of Research Process.

(iv) State the sources of Collection of Data.

2. Write short notes in 100 words each (any four) : [20]

(i) Report Writing;

(ii) Formulation of Problem;

(iii) Survey;

(iv) Objectivity;

(v) Primary Sources;

(vi) Design of Research.
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3. Answer in 200 to 250 words each (any three) : [30]

(i) Explain the major steps in research process.

(ii) Explain the types of hypothesis.

(iii) State the characteristics of facts.

(iv) State the objectives of social research.

(v) State the importance and need of objectivity in Research.

4. Answer any one of the following questions in 500 words  : [20]

(i) Explain the subject-matter of Survey.

(ii) Describe the meaning and importance of concept.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(i) laðkks/kukph O;kIrh lkaxk-

(ii) losZ{k.kkps xq.k lkaxk-

(iii) laðkks/ku izfÿ;sps Lo:i Li"V djk-

(iv) ekfgrh lad«ukps lzksr lkaxk-
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2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.kR;kgh pkj) % [20]

(i) vgok« «s[ku

(ii) leL;k lq=.k

(iii) losZ{k.k

(iv) oLrqfu"Brk

(v) izkFkfed lk/kus

(vi) laðkks/kukpk vkjk[kMk-

3. izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(i) laðkks/ku izfÿ;srh« izeq[k VIis Li"V djk-

(ii) x`fgrdkaps izdkj Li"V djk-

(iii) rF;kph oSfðk"VÓs lkaxk-

(iv) lkekftd laðkks/kukps mÌsðk lkaxk-

(v) laðkks/kukr oLrqfu"Brsps egRo o vkoð;drk lkaxk-

4. dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) losZ{k.kk«k vkoð;d vl.kkjh lkeqxzh Li"V djk-

(ii) ladYiuspk vFkZ o egRo foðkn djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-354

T.Y. B.A. EXAMINATION, 2015

SOCIAL WORK

(General)

(I — Introduction to Youth Welfare)

(II — Introduction to Rural and Urban Welfare)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two questions in 50 words each : [10]

(i) Define Urban Community.

(ii) Explain SHG (Self-Help Group) as rural development agency.

(iii) Explain the role of Youth as scientists.

(iv) Define Adulthood.

2. Answer any four questions in 100 words each : [20]

(i) Explain the problems of physically handicapped youths.

P.T.O.
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(ii) Explain the needs of Landless labourers.

(iii) Discuss about similarities between Urban and Rural

Communities.

(iv) Explain the needs of tribal youth.

(v) Explain the importance of training for Youth leadership.

(vi) Write a note on ‘Women Welfare Programmes’ in

Municipality.

3. Answer any three questions in 200 to 250 words each : [30]

(i) Explain the role of Voluntary Organisations in youth development.

(ii) Explain the Impact of Urban way of life on rural life.

(iii) Discuss about the problems of Backward class youths.

(iv) Explain the problem of air pollution in urban areas.

(v) Write a note on ‘Addiction among youths’.

4. Answer any one question in 500 words each : [20]

(i) Write a detailed note on ‘Unrest among todays youth’.

(ii) Write an essay on ‘Gramsabha as an agency for rural

development’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(i) ukxjh leqnk;kph O;k[;k nÓk-

(ii) Lo;a&lgk;rk xV xzkeh.k fodklkph laLFkk Eg.kwu Li"V djk-

(iii) oSKkfud Eg.kwu ;qodkaph Hkwfedk Li"V djk-

(iv) izkS<Ÿokph O;k[;k |k-

2. dks.kR;kgh pkj izðukaph mŸkjs izR;sdh 100 ðkCnkai;±r f«gk % [20]

(i) ðkkjhfjdn`"VÓk viax ;qodkaP;k leL;k Li"V djk-

(ii) Hkwfefgu etwjkaP;k xjtk Li"V djk-

(iii) ukxjh vkf.k xzkeh.k leqnk;krh« lkE;rkaph ppkZ djk-

(iv) vkfnoklh ;qodkaP;k xjtk Li"V djk-

(v) ;qod usr`ŸoklkBh izfðk{k.kkps egŸo Li"V djk-

(vi) ^uxjikf«dsrh«* efg«k dY;k.k dk;Zÿe* ;koj fVi.k f«gk-
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3. dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkai;±r f«gk % [30]

(i) ;qod fodklkr Lo;alsoh laLFkkaph Hkwfedk Li"V djk-

(ii) ukxjh thouðkS«hpk xzkeh.k thoukoj >k«s«k ifj.kke Li"V djk-

(iii) ekxkloxhZ; ;qodkaP;k leL;kaph ppkZ djk-

(iv) ðkgjkae/kh« ok;w iznw"k.kkph leL;k Li"V djk-

(v) ^;qodkae/kh« O;lukf/kurk* ;koj fVi.k f«gk-

4. dks.kR;kgh ,d izðukps mŸkjs 500 ðkCnkai;±r f«gk % [20]

(i) ^vktP;k ;qodkae/kh« vlarks"k* ;koj lfoLrj fVi.k f«gk-

(ii) ^^ ^xzkelHkk* gh xzkeh.k fodklkph laLFkk** ;koj fuca/k f«gk-



P.T.O.

Total No. of Questions—4] [Total No. of Printed Pages—3

Seat

No. [4701]-356

T.Y. B.A. EXAMINATION, 2015

COMMERCE

General Paper III

(Business Management)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer in 50 words each (any two) : [10]

(1) What is Delegation of Authority ?

(2) What is Business Management ?

(3) What is Planning ?

(4) Meaning of Communication.

2. Answer in 100 words each (any four) : [20]

(1) State the types of decisions.

(2) Explain the importance of co-ordination.

(3) State any five principles of organisation.

(4) Explain the process of control.

(5) Explain the concept of Autocratic Leadership.

(6) Explain the importance of communication.
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3. Answer in 300 words each (any three) : [30]

(1) Explain the management is a Science and an Art.

(2) Explain the types of Delegation of Authority.

(3) Explain the principles of direction.

(4) Explain in detail the functions of management.

(5) Explain the principles of effective communication.

4. Answer in 500 words (any one) : [20]

(1) What is organisation ? Explain the types of organisation.

(2) What is Leadership ? State the merits and demerits of

Leadership.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1- [kk«h« izðukaph izR;sdh 50 ðkCnkar mŸkjs f«gk (dks.krsgh nksu) % [10]

(1) vf/kdkj iznku Eg.kts dk; \

(2) O;olk; O;oLFkkiu Eg.kts dk; \

(3) fu;kstu Eg.kts dk; \

(4) lansðkogukpk vFkZ lkaxk-

2- [kk«h« izðukaph izR;sdh 100 ðkCnkar mŸkjs f«gk (dks.krsgh pkj) % [20]

(1) fu.kZ;kps izdkj lkaxk-
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(2) leUo;kps egRo Li"V djk-

(3) la?kVusph dks.krhgh ikp rRos lkaxk-

(4) fu;a=.kkph izfÿ;k Li"V djk-

(5) gqdqeðkkgh usr`Ro ladYiuk Li"V djk-

(6) laKkiukps egRo Li"V djk-

3- [kk«h« izðukaph izR;sdh 300 ðkCnkar mŸkjs f«gk (dks.krsgh rhu) % [30]

(1) ^O;oLFkkiu gs ðkkL= vkf.k d«k vkgs-* gs Li"V djk-

(2) vf/kdkj iznkukps izdkj lkaxk-

(3) funsZðkukph rRos Li"V djk-

(4) O;oLFkkiukph dk;sZ Li"V djk-

(5) ifj.kkedkjd lansðkogukph rRos Li"V djk-

4- [kk«h«iSdh dks.krkgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) la?kVu Eg.kts dk; \ la?kVusps izdkj Li"V djk-

(2) usr`Ro Eg.kts dk; \ usr`Rokps xq.k&nks"k Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-357

T.Y. B.A. EXAMINATION, 2015

EDUCATION (G-3)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Write the answers of the following questions in 50 words each

(any two) : [10]

(i) Write the concept of social discipline.

(ii) Explain the characteristics of personality.

(iii) Explain the need of educational guidance.

(iv) Explain the concept of riots.

2. Write short notes in 100 words each (any four) : [20]

(i) Nature of Discussion Method;

(ii) Concept of Mental Conflict;

(iii) Concept of ‘Concept Formation’;

(iv) Concept of Higher Education;

(v) Types of Individual Differences;

(vi) Concept of Vocational Guidance.

P.T.O.
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3. Answer the following questions in 200 to 250 words each

(any three) : [30]

(i) What is Project method ? Explain the merits and limitations

of project method.

(ii) What is Globalization ? Explain the effects of globalization on

education.

(iii) What is individual difference ? Explain the educational importance

of individual differences.

(iv) What is imagination ? Explain the educational importance of

imagination.

(v) What is Mental Health ? Write the remedial measures to improve

mental health.

(vi) What is Counselling ? Explain the need of counselling.

4. Write the answer of the following question in 500 words (any one) : [20]

(i) What is Disaster ? What are the various types of disasters ?

Explain the role of school in disaster management.

(ii) What is school discipline ? Write the nature and various aspects

of discipline.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

1. [kk«h« izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk (dks.krsgh nksu) % [10]

(i) lkekftd fðkLrhph ladYiuk foðkn djk-

(ii) O;fDreRokph oSfðk"Vs Li"V djk-

(iii) ðkS{kf.kd ekxZnðkZukph xjt Li"V djk-

(iv) nax«hph ladYiuk Li"V djk-

2. izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk (dks.krsgh pkj) % [20]

(i) ppkZ iºrhps Lo:i_

(ii) ekufld la?k"kkZph ladYiuk_

(iii) lacks/k&ladYiuk_

(iv) mPpfðk{k.kkph ladYiuk_

(v) O;DrhHksnkps izdkj_

(vi) O;kolkf;d ekxZnðkZu ladYiuk-

3. [kk«h« izðukaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk (dks.krsgh rhu) % [30]

(i) izdYi iºrh Eg.kts dk; \ izdYi iºrhps Qk;ns o e;kZnk Li"V

djk-
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(ii) tkxfrdhdj.k Eg.kts dk; \ tkxfrdhdj.kkpk fðk{k.kkoj gks.kkjk ifj.kke Li"V

djk-

(iii) O;DrhHksnkpk vFkZ lkaxwu O;DrhHksnkps ðkS{kf.kd egRo Li"V djk-

(iv) dYiuk Eg.kts dk; \ dYiukps ðkS{kf.kd egRo Li"V djk-

(v) ekufld vkjksX; Eg.kts dk; \ ekufld vkjksX; j{k.kklkBh mik; f«gk-

(vi) leqinsðku Eg.kts dk; \ leqinsðkukph xjt Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(i) vkiŸkh Eg.kts dk; \ vkiŸkhps fofo/k izdkj dks.krs \ ðkk«s; vkiŸkh O;oLFkkiukr

ðkk«sph Hkwfedk Li"V djk-

(ii) ðkk«s; fðkLr Eg.kts dk; \ fðkLrhps Lo:i lkaxwu fðkLrhps flºkar Li"V

djk-



Total No. of Questions—5] [Total No. of Printed Pages—4+1

Seat

No. [4701]-358

T.Y. B.A. EXAMINATION, 2015

INDUSTRIAL MATHEMATICS

(FMG-3 : C-Programming)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Attempt any eight of the following : [16]

(i) Which of the following are invalid identifiers ? Justify :

(a) Roll Number

(b) While

(ii) Write the syntactic translation of the following :

(a)
5( )

3

a b a

ab b

+
+

(b)
3 22 2

3

a a ab+ +

P.T.O.



[4701]-358 2

(iii) Find the value of the following expression :

4 – 2% 3 + 2 * 4% 3 + 7/2

(iv) Explain the meaning of each of the following function

declarations :

(a) int fun1 (float a, char b);

(b) char fun2 (char a, char y);

(v) Explain the meaning of the following array initialization :

int n[10] = {1, 2, 3, 4, 5, 6, 7, 8};

(vi) Explain the meaning of each of the following declaration :

(a) int * p

(b) int * p (char * a);

(vii) Define a structure consisting of two floating point members

called real and imaginary. Include the tag complex within the

definition.

(viii) List all the logical Bitwise operators.

(ix) Explain the use of function : fopen().

(x) Write a macro SQR(a) to compute the square of a number.
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2. (A) Attempt any one of the following : [6]

(i) Write a short note on for loop. Explain with an example.

(ii) Write a short note on conditional operator. Explain with

an example.

(B) Attempt any two of the following : [10]

(i) Write a short note on operators in C.

(ii) Write a program to find the factorial value of any number

entered through the keyboard.

(iii) Write a short note on two-dimensional array.

3. (A) Attempt any two of the following : [8]

(i) Write a C program to find addition of two square matrices.

(ii) Write a short note on function.

(iii) Write a short note on break and continue statement.

(B) Attempt any two of the following : [8]

(i) Write a short note on structure.

(ii) Write a C program to display a data file.

(iii) Write a short note on shift operators.
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4. (A) Attempt any one of the following : [6]

(i) Write a C program for addition of two complex numbers

using structures.

(ii) Write a short note on static variables.

(B) Attempt any two of the following : [10]

(i) Write a short note on macros in C.

(ii) Write a C program to copy one file to another file using

command line arguments.

(iii) A C program contains the following declaration :

int a[8] = {10, 20, 30, 40, 50, 60, 70, 80};

(a) What is the meaning of a ?

(b) What is the meaning of (a + 2) ?

(c) What is the value of *a ?

(d) What is the value of (*a  + 2) ?

(e) What is the value of *(a + 2) ?

5. (A) Attempt any one of the following : [6]

(i) Write a short note on passing structures to a function.

(ii) Write a short note on malloc() function.
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(B) Attempt any two of the following : [10]

(i) Write a C program to count the number of vowels and

consonants in a line of text.

(ii) Write a short note on command line arguments.

(iii) Trace the output, if the program is correct :

# include <stdio.h>

void fun (int * p);

void main()

{

int a[5] = {10, 20, 30, 40, 50};

fun(a);

}

void fun (int * p)

{

int i, sum = 0;

for (i = 0; i < 5; ++i)

sum + = * (p + i);

printf (“sum = %d”, sum);

}



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-359

T.Y. B.A. EXAMINATION, 2015

MATHEMATICAL STATISTICS (General)

(Statistical Inference)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Use of statistical tables and calculator is allowed.

(iv) Graph paper will be supplied on request.

1. Attempt any two of the following : [2×5=10]

(a) Show that there exists an infinite number of unbiased estimators

of the parameter ‘m’ of Poisson distribution.

(b) Examine whether there exist a sufficient statistic for σ2  of

N(µ, σ2) distribution based on a random sample of size n when

µ is known.

P.T.O.
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(c) If T is a sufficient statistic for θ, show that log
∂

∂θ
 L is a

function of T and θ only, where L being the likelihood function.

Is the converse true ?

(d) The length of certain variety of wheat is given below :

11.3, 10.4, 10.7, 8.6, 9.3, 8.8, 10.7, 8.2, 11.5, 9.7, 10.3, 11.2,

9.0, 9.8, 9.3, 10.1, 12.3, 9.8, 9.5, 12.3.

Test whether population median is 9.8 at 5% l.o.s.

2. Attempt any four of the following : [4×5=20]

(a) Describe the Wald’s Sequential Probability Ratio Test (SPRT).

(b) If sufficient statistic exist then prove that it is a function

of maximum likelihood estimator (mle).

(c) Examine whether the sample mean is a consistent estimator

of the parameter θ of the following distribution :

2

1 1
( , ) ,

( )
f x x

x
θ = − ∞ < < ∞

π − θ

(d) Obtain MVBUE for mean of normal distribution on the basis

of random sample size n, when variance is known.

(e) Describe the Run test with its uses.

(f) A random sample of 16 values from normal population gives

mean 42 and sum of square deviation from mean is 140. Obtain

the 99% confidence interval for the population means.
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3. Attempt any three of the following : [3×10=30]

(a) (i) Obtain the mle for parameter µ of normal distribution

on the basis of random sample of size n, when σ2 is

known.

(ii) Write a note on interval estimation.

(b) (i) Find the Fisher information function I(α) for G(α, λ)

distribution, where λ is known.

(ii) State Neyman’s factorization theorem.

(c) Let X be continuous r.v. with the p.d.f. as below :

1( , ) . ; 0 1f x x xθ −θ = θ < < .

To test the hypothesis H0 : θ = 1 against H1 : θ = 3, a

single observation is drawn from above distribution. H0 is rejected

if single observation is greater or equal to 0.5. Find the probability

of two types of errors and also find the power of the test.

(d) (i) Explain the Wilcoxon-signed rank test.

(ii) If T1, T2 and T3 are independent unbiased estimator

of θ with variances 2 2
1 2,σ σ  and 2

3σ  respectively. Find the

linear combination of T1, T2 and T3 which is unbiased

for θ and has minimum variance.
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(e) (i) Define the empirical distribution function. State its

properties as estimator of F(.).

(ii) Distinguish between parametric and non-parametric problem.

4. Attempt any one of the following : [1×20=20]

(a) (i) State and prove Cramer-Rao inequality. Also state its

uses.

(ii) Show that an estimator (T) is consistent for the unknown

parameter θ, when both bias and its variance tends to

zero as n → ∞

(b) (i) Construct SPRT of strength (α, β) to test 0 0H : µ = µ

against 
H :

 for normal distribution with known

variance.

(ii) Test whether the following random sample of size 5 is

drawn from U(0, 1) distribution by using Kolmogorov-

Smirnov test :

0.13, 0.23, 0.65, 0.47, 0.56



Total No. of Questions—5] [Total No. of Printed Pages—8

Seat

No. [4701]-360

T.Y. B.A. EXAMINATION, 2015

ENGLISH

General Paper III

(G-3 : Enriching Oral and Written Communication)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 60

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. (A) Answer any three of the following in about 20 words each : [6]

(i) Give the definition of informal communication.

(ii) What is downward communication ?

(iii) Define grapevine communication.

(iv) How would you describe non-verbal communication in

short ?

(v) What is the importance of voice in communication ?

P.T.O.
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(B) Attempt any three of the following : [6]

(i) Identify the contrast of sounds in the following pairs

of the words :

(a) Feel—fill

(b) Ship—sip

(ii) Mark the accent :

(a) Democrat

(b) Loudspeaker

(iii) Identify the weak forms in the following sentences :

(a) She is eating her dinner now.

(b) We are going to Munnar.

(iv) Mark intonation in the following sentence :

(a) Give her the money.

(b) Do they speak Telugu ?

(v) How would you express thanks in the following

situation ?

Someone gave you the lift on the way to college.
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2. (A) Attempt any three of the following : [6]

(i) Form two words with each of the following suffixes :

(a) ..........................ness

(b) ..........................ism

(ii) Form antonyms with the help of the prefixes :

(a) understand

(b) agree

(iii) Identify the part of speech of the underlined words :

(a) The frames are made of glass and they tend to

break easily.

(b) I had a quiet talk with her during the lunch break.

(iv) Identify the acceptable combination of the words below :

(a) A good intention/a nice intention

(b) Opposite statement/contradictory statement

(v) Fill in the blanks with appropriate alternatives given in

the brackets :

(a) Dr. Patil is the............................of our college.

(principle/principal)

(b) Angelina Jolly..........................a Combodian child.

(adapted/adopted)
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(B) Attempt any three of the following : [6]

(i) Write a set of two words each closely related in meaning

to the following words :

(a) Destroy

(b) Remember

(ii) Match the following synonyms :

A B

(1) Hardly (a) Hazardous

(2) Hectic (b) Rerely

(3) Station (c) Pitiless

(4) Cruel (d) Junction

(iii) Frame sentences by using the following phrases :

(a) Bring out

(b) Bring up

(iv) Coin as many words as possible from letters used in

the words given below :

(a) Budget

(b) Horizontal

(v) Identify whether the meaning of the underlined words

is literal of figurative :

(a) The water is boiling.

(b) I was boiling with anger.
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3. Attempt any two of the following : [12]

(a) Imagine that you are facing an interview for the post of a

Purchase Manager in a Multi-National Company. Anticipate

any six questions and write down your responses to them.

(b) Imagine that you are going to interview a great poet. List

down ten questions you would ask.

(c) A group of three friends is having a discussion on the recently

watched movie. Write a dialogue anticipating two utterances

for each of the participants.

4. Attempt any two of the following : [12]

(a) Write a paragraph of about 100 words on any one of the

following topics :

(i) An Ideal College;

(ii) Road Accidents.

(b) Write a review of the book you have read recently.

(c) Summarize the following passage :

The computer has been hailed as the greatest invention in

human history. It has transformed our lives and vastly expanded

the horizons of human endeavour. But there is another side
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to the computer that we cannot ignore : by its speed, anonymity

and vast reach, the computer has spawned a new range of

crimes, necessitating the information of a new branch of law

known as cyber law. These crimes are difficult to trace or

prevent since they take place not in the physical world around

us but in cyberspace, the space where all internet activities

take place.

5. (A) Attempt any two of the following : [6]

(i) Punctuate the following passage :

i want my photograph taken i said the photographer looked

at me without enthusiasm he was a drooping man in

a grey suit with the dim eye of a natural scientist but

there is no need to describe him everybody knows what

a photographer is like

(ii) Rearrange the jumbled sentences below to form a well-

written paragraph :

(1) Ordinary steel contains 0.06% to 0.12% of carbon.

(2) Stainless steel contains chromium, and steel used

in making permanent magnets contains cobalt.
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(3) This small quantity of carbon truns iron, which in

its pure state is soft, into hard and elastic.

(4) Besides these common varieties of steel, there are

others designed by the metallurgist, which possess

very special properties and answer very special need.

(5) By the addition of elements other than carbon steel

adapted to particular uses in technology.

(6) The term ‘steel’ refers to a large number of alloys

of iron.

(iii) Explain the use of any one of the punctuation marks

given below :

(a) Full stop

(b) Exclamation mark

(B) Attempt any two of the following : [6]

(i) Match the following expressions of the cell phone

conversation :

A B

(1) Hello (a) You are welcome

(2) May I talk to the Principal (b) Yeah

(3) Take your own time (c) Good morning

(4) Thank you (d) Will you hold on,

please ?
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(ii) Complete the following conversation using suitable

expressions :

A : ..................................Department of English.

B : ..................................could I speak to Professor Patil,

please ?

A : .................................................................... ?

B : I’m Sanjay Kadam from University Press.

A : ..................................I’ll..................................

B : Thank you.

(iii) Write a transcript of a power-point presentation you would

make on ‘Prospects of Democracy in India’.
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1. Attempt any four of the following  : [16]

(i) What do you mean by ‘Morphology’ ?

(ii) Discuss the term ‘Borrowing’ with suitable examples.

(iii) What are ‘Plosives’ in English ? Explain with appropriate examples.

(iv) Explain ‘Diphthongs’.

(v) What do you know about ‘Affixation’ in English ?

(vi) Explain the terms ‘Free Morphemes and Bound Morphemes’.

P.T.O.
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2. Write short notes on any four of the following : [16]

(i) Bilingualism

(ii) Pidgins

(iii) Sentence and Utterance

(iv) Types of Speech Acts

(v) Nativization of English

(vi) Code-switching and Code-mixing.

3. Write short notes on any four of the following : [16]

(i) Use of Falling Tone

(ii) Definite Article

(iii) Grammatical Stress

(iv) Simple Present Tense

(v) Weak Forms in English

(vi) Types of Noun.

4. Write short notes on any four of the following : [16]

(i) Co-operative Principle

(ii) Types of Styles
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(iii) Temporal Deixis

(iv) Grammatical features of Indian English

(v) Phonological features of American English

(vi) Registers.

5. (A) Answer any two of the following : [8]

(i) Explain the difference between British English and American

English.

(ii) What are the salient features of American English ?

(iii) Explain the characteristics of General Indian English (G.I.E.).

(B) Do as directed any four of the following : [8]

(i) Give root words for the following :

(a) Il.............................

(b) .............................tion

(c) Re.............................

(d) .............................ly

(ii) Transcribe the following words phonemically :

Students, Table, Significant, Book
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(iii) Use correct tense form of the verb given in the bracket :

The class.............................(hold) at 04.30 p.m. tomorrow.

(iv) Identify the register of the following utterance and mention

its markers :

The police attempted to investigate the case in as per the

law, long after the public demand.

(v) Identify the deixis in the following utterane and mention

its types :

Now students are reading in the college library as the final

examination is fast approaching.
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N.B. :— (i) All questions are compulsory.
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1. (A) Attempt any two of the following  in about 50 words each : [8]

(i) Comment on basic principles of criticism.

(ii) State the difference between Fine Arts and Useful

Arts.

(iii) Discuss in brief Aristotle’s views on poetic truth and historical

truth.

(B) Attempt any two of the following  in about 50 words each : [8]

(i) Write a note on the biographical approach.

P.T.O.
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(ii) Discuss the merits and demerits of psychological

approach.

(iii) Explain the relationship between literature and

society.

2. Attempt any two of the following  in about 150 words each : [16]

(i) Explain how in Sidney’s view poetry is superior to all other

sciences.

(ii) Examine Sidney’s views on poetry as a speaking picture.

(iii) “Shakespeare united the powers of exciting laughter and not only

in one mind, but in one composition.” Explain.

(iv) Discuss Dr. Johnson’s defence of Shakespeare’s mixing of the

tragic and the comic elements in drama.

3. Attempt any two of the following  in about 150 words each : [16]

(i) Comment on Wordsworth’s definition of poetry.

(ii) What, according to Wordsworth, should be the subjects of

poetry ?

(iii) Examine Arnold’s views on the three kinds of estimates of

poetry ?

(iv) Discuss Eliot’s concept of historical sense.
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4. Explain any four of the following  literary and critical terms : [16]

(i) Symbol

(ii) Soliloquy

(iii) Setting

(iv) Wit and Humour

(v) Comic Relief

(vi) Romanticism.

5. Read the following poem and answer the questions that follow

(any eight) : [16]

When fishes flew and forests walked

And figs grew upon thorn,

Some moment when the moon was blood

Then surely I was born.

With monstrous head and sickening cry

And ears like errant wings,

The devil’s walking parody

On all four-footed things.
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The tattered outlaw of the earth,

Of ancient crooked will;

Starve, scourge, deride me: I am dumb,

I keep my secret still.

Fools! For I also had my hour;

One far fierce hour and sweet;

There was a shout about my ears,

And palms before my feet.

Questions :

(1) Who is speaking, and to what well-known incident does this

poem refer ?

(2) What kind of pictures do we find in the first verse ?

(3) Pick out the adjectives that you find in the poem.

(4) What exactly is the attitude of the donkey towards himself

at the beginning ?

(5) Is there any change in the attitude of the donkey towards

himself at the end ? How ?
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(6) Explain how the poem is directed against people of a certain

mentality.

(7) Give meanings of the following words :

(a) errant

(b) tattered.

(8) Write down two examples of alliteration you find in the

poem.

(9) Identify the figure of speech used in the second stanza of

the poem and explain it.

(10) Give a suitable title to the poem.
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(iii) Draw neat diagrams wherever necessary.

1. Answer the following questions in one or two sentences each

(any five) : [10]

(i) How many countries playing International Test Cricket Tour-

naments ?

(ii) List the Jumping and Throwing events in Athletics.

(iii) After how many years Olympic Games are organized ?

(iv) Give the list of Women’s Gymnastic events.

(v) How many Hurdles are there in 110 Mts. Hurdle race ?

(vi) Who is the father of Modern Olympic Games ?

(vii) Name the Indian Medalist at the London Olympic.

P.T.O.
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2. Answer the following questions in 5 or 6 sentences each (any two) : [10]

(i) Explain the importance of Physical Education in school

level.

(ii) Explain the role of Newton’s Laws of Motion in Long

Jump.

(iii) Give the information of Physical Education before Independence

period.

3. Answer the following questions in 20 to 25 sentences each (any

two) : [20]

(i) Explain the effect of Physical Education on Health.

(ii) Explain the role of Sports Authority of India towards Indian

sports.

(iii) Explain in detail the information of Olympic Games.

4. Answer the following in detail (any one) : [20]

(i) Discuss how you will accomplish personal health and social

health through Physical Education.

(ii) Draw a neat diagram of Football ground with measurements

and explain fundamental skills and rules of the game.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 60

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) vko';d R;k fBdk.kh vkœR;k dk<k-

1. [kk«h«iSdh izðukaph izR;sdh ,d fdaok nksu okD;kr mRrjs f«gk (dks.kR;kgh

ikp) % [10]

(i) vkarjjk"V™h; dlksVh fÿdsV [ksˇ.kkÚ;k jk"V™kaph ukos f«gk-

(ii) vWFk«sfVDle/kh« mMÓk o QsdhP;k izdkjkaph ukos f«gk-

(iii) vkWf«fEid Li/kkZ dhrh o"kkZuh ?ksrY;k tkrkr \

(iv) ftEukWfLVde/kh« L=h;kalkBh vl.kkÚ;k ckchaph ;knh f«gk-

(v) 110 eh- vMFkˇk 'k;Zrhr dhrh vMFkˇs vlrkr \

(vi) vk/kqfud vkWf«afid Li/ksZpk tud dks.k vkgs \

(vii) «aMu vkWf«fEide/kh« ind fotsR;k Hkkjrh; [ksˇkMwaph ukos f«gk-

2. [kk«h«iSdh izðukaph izR;sdh 5 fdaok 6 okD;kr mŸkjs f«gk (dks.kR;kgh nksu) % [10]

(i) 'kk«s; ikrˇhoj 'kkjhfjd f'k{k.kkps egRo Li"V djk-

(ii) «kacmMhe/;s mi;ksxkr ;s.kkjs xrhfo"k;d fu;e Li"V djk-

(iii) Lokra´;iwoZ dkˇkrh« 'kkjhfjd f'k{k.kkph ekfgrh f«gk-
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3. [kk«h«iSdh iz'ukaph izR;sdh 20 rs 25 okD;kr mŸkjs f«gk (dks.kR;kgh nksu) % [20]

(i) 'kkjhfjd f'k{k.kkpk vkjksX;koj gks.kkjk ifj.kke lkaxk-

(ii) Hkkjrh; [ksˇ izkf/kdj.kkps Hkkjrh; ÿhMk {ks=krh« dk;Z Li"V djk-

(iii) vkWf«afid Li/kkZph lfoLrj ekfgrh f«gk-

4. [kk«h«iSdh dks.krkgh ,dk izðukps lfoLrj mŸkj f«gk % [20]

(i) O;Drhxr vkjksX; o lkekftd vkjksX; 'kkjhfjd f'k{k.kk}kjs dls lk/k«s tkrs

ppkZ djk-

(ii) QqVckW« [kš kP;k eSnkukph ekstekiklg vkœrh dk<wu QqVckW«e/kh« eq«Hkwr dkS'kY;s

o fu;e Li"V djk-
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1. Attempt any eight of the following : [16]

(i) If G is a group, then show that every a ∈ G has a unique

inverse a–1 ∈ G.

(ii) Express the permutation 
1 2 3 4 5 6

1 5 4 6 2 3

 
 
 

 as a

product of disjoint cycles.

(iii) State Lagrange theorem for finite groups.

P.T.O.
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(iv) Let C* be the multiplicative group of non-zero complex

numbers. Define φ : C* → C* by φ(z) = |z|. Show that φ

is homomorphism.

(v) Let G be an abelian group and H = {a ∈ G|a2 = e}. Show

that H is a subgroup of G.

(vi) Show that a ring is commutative if it has the property that

ab = ca implies b = c when a ≠ 0.

(vii) Give an example of a subset of a ring that is a subgroup

under addition but not a subring.

(viii) Give an example of a commutative ring without zero-divisors

that is not an integral domain.

(ix) Let φ be a homomorphism from a ring R to a ring S. For

any r ∈ R and any positive integer n, prove that φ(nr) =

nφ(r).

(x) Show that x2 + 1 is irreducible in Z3.
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2. (A) Attempt any one of the following : [6]

(i) Prove that every cyclic group is abelian. Is the converse

true ? Justify your answer.

(ii) Prove that the subgroup N of G is a normal subgroup

of G if and only if every left coset of N in G is a right

coset of N in G.

(B) Attempt any two of the following : [10]

(i) If φ is a homomorphism of G into G , then prove that :

(a) φ(e) = e , the unit element of 

G

.

(b) φ(x–1) = φ(x)–1 for all elements x ∈ G.

(ii) If H is a non-empty finite subset of a group G and H

is closed under multiplication, then prove that H is a subgroup

of G.

(iii) Prove that if H is a subgroup of index 2 in G, then H

is a normal subgroup of G.
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3. (A) Attempt any two of the following : [8]

(i) Show that every proper subgroup of a group of order

35 is cyclic.

(ii) Show that the Kleins four group is isomorphic to Z8
*.

(iii) If G is an abelian group then prove that every subgroup

of a group G is a normal subgroup.

(B) Attempt any one of the following : [8]

(i) If D is an integral domain then prove that D[x] is an

integral domain.

(ii) Let R be a commutative ring with unity and let A be

an ideal of R. Prove that R/A is a field if and only if

A is a maximal ideal.

4. (A) Attempt any one of the following : [6]

(i) Let F be a field and p(x) ∈ F[x]. If p(x) is irreducible

over F then prove that <p(x)> is a maximal ideal

in F[x].

(ii) Prove that every finite integral domain is a field.
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(B) Attempt any two of the following : [10]

(i) Let Z[x] be a ring of polynomials with integer coefficients.

Show that the ideal

<x> = {f(x) ∈ Z[x]/f(0) = 0}

is a prime ideal in Z[x].

(ii) Let R be a ring. Show that the set

S = {x ∈ R/ax = xa for all a ∈ R}

is a subring of R.

(iii) Show that x2 + 3x + 2 has four zeros in Z6.

5. (A) Attempt any one of the following : [6]

(i) Let f(x) = anxn + an–1xn–1 + ... + a0 ∈ Z[x]. If there

is a prime p such that p | an, p|an–1, p|an–2, ...., p|a0

and p2|a0 then prove that f(x) is irreducible over Q.

(ii) Let φ be a homomorphism from a ring R to a ring S.

Show that φ is an isomorphism if and only if φ is

onto and

Ker φ = {x ∈ R/φ(x) = 0} = {0}.
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(B) Attempt any two of the following : [10]

(i) Let R = ,
a b

a b
b a

   
∈  

    
Z  and φ : R → Z, where

a b

b a

  
φ       

 = a – b. Show that φ is a ring homomorphism.

Find Ker φ.

(ii) If A and B are ideals of a ring R then show that

A + B = {a + b/a ∈ A, b ∈ B} is an ideal of R.

(iii) Show that characteristic of an integral domain is zero or

prime.
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(iii) Unless specified Rn is assumed to have usual metric.

1. Attempt any eight of the following : [16]

(i) State the intuitive principle of extension.

(ii) Determine :

(a) { }φ ∩ φ

(b)

{ , { }}φ φ − φ

.

(iii) Write negation of the statements :

(a)

( 0)x x∀ =

(b)

3( 3)y y∃ < −

.

P.T.O.
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(iv) Prove that :

p q p q→ ≡ ¬ ∨ .

(v) Use a direct proof to show that the sum of two odd integers

is even.

(vi) Show that an open interval in R is an open ball.

(vii) Find the interior of Q in R.

(viii) Let :

A |

.

Show that 0 is a cluster point of A.

(ix) Find the limit points of (0 1) [2, 3)∪  in R.

(x) Give an example of a compact subset of R that is not

connected.

2. (A) Answer any one of the following : [6]

(i) If n is a finite cardinal number, then prove that :

n

.
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(ii) Prove that the ordered pair of x and y is uniquely determined

by x and y. Moreover prove that if :

<x, y> = <u, v>,

then x = u and y = v.

(B) Attempt any two of the following : [10]

(i) In the set Z+ × Z+ define :

, ~ ,a b c d< > < >

 iff 

a d b c+ = +

.

Show that ~ is an equivalence relation on this set. Also

describe the equivalence class of <1, 2>.

(ii) Prove that 

2

 is an irrational number.

(iii) Express the definition of limit using quantifiers.

3. (A) Attempt any two of the following : [8]

(i) Show that the set of all positive rational numbers is

countable.
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(ii) Using rules of inference show that the argument,

“Rajesh works hard,” “If Rajesh works hard, then he is

a dull boy” and “If Rajesh is a dull boy, then he will

not get the job” imply the conclusion “Rajesh will not

get job.”

(iii) State and prove distributive laws of logic.

(B) Attempt any two of the following : [8]

(i) Let d be a metric on X. Define

( , ) min {1, ( , )} , Xx y d x y x yδ = ∀ ∈ .

Show that δ is a metric on X.

(ii) Let

U {( , ) | 0 and 0}

Prove that U is open in R2.

(iii) Prove that the limit of a sequence in a metric space

is unique.
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4. (A) Attempt any one of the following : [6]

(i) Prove that a non-empty open set in R is union of countable

family of pairwise disjoint open intervals.

(ii) Let (X, d) be a metric space. Prove that any convergent

sequence in (X, d) is Cauchy.

(B) Attempt any two of the following : [10]

(i) Let E ⊆ R  be a non-empty, bounded and closed subset.

Show that sup 

E E∈

.

(ii) Let X be a connected metric space and 
: X Yg →

 be

a continuous map. Then prove that g(X) is connected.

(iii) Let 

{U : I}i i ∈

 be a family of open sets in a metric space

(X, d). Show that the union 

I

Ui
i∈

U

 is open in X.

5. (A) Attempt any one of the following : [6]

(i) Prove that R is complete.

(ii) Let Y and Y' be connected metric spaces. Then prove

that the product space Y×Y' is connected.
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(B) Attempt any two of the following : [10]

(i) Show that (0, 1] is homeomorphic to [1, )∞ ⊂ R .

(ii) Does there exist a finite set which is dense in R ? Justify

your answer.

(iii) Let X be a metric space and 

Y X

 be open in X. Prove

that a subset Z of Y is open in Y if and only if Z

is open in X.
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1. Attempt any eight of the following : [16]

(i) State the order and degree of the differential equation :

3
3 2

3 2
4

d y d y dy

dxdx dx

   − =      
.

(ii) Define the term orthogonal trajectory.

(iii) Find the integrating factor of the differential euation

(x2 + y2)dx – 2xydy = 0.

P.T.O.
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(iv) Form the differential equation of family of circles with centres

on the x-axis and radii equal to unity.

(v) Find the regular singular points of the differential equation,

x2(x – 2)2y" + 2(x – 2)y' + (x + 1)y = 0.

(vi) Find the integral curves of the equations :

.
dx dy dz

z y x z y x
= =

− − −

(vii) Define the term surface.

(viii) Explain the method of solving the equations 
P Q R

dx dy dz
= = ,

if one of the variables is missing from one of the equations.

(ix) Obtain the partial differential equation by eliminating the arbitrary

function F from the equation

z = xy + F(x2 + y2).

(x) Find the general solution of xp + yq = z.

2. (A) Attempt any one of the following : [6]

(i) Define linear differential equation of first order and explain

the method of solving it.
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(ii) If 
1 M N

( )
N

f x
y x

 ∂ ∂
− =  ∂ ∂

, then prove that ( )f x dx
e∫  is

an integrating factor of the differential equation

Mdx + Ndy = 0.

(B) Attempt any two of the following : [10]

(i) Solve the differential equation

y" + k2y = 0

where k is an arbitrary constant, using reduction of order.

(Independent variable x is missing).

(ii) Show that the family of curves

2 2

1
x y

c c
+ =

− λ ,

where C is a parameter, is self-orthogonal.

(iii) Find the general solution of the system :

3 4
dx

x y
dt

= −

.
dy

x y
dt

= −
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3. (A) Attempt any two of the following : [8]

(i) Find the power series solution of the differential equation

y" + xy' + x2y = 0

in powers of x about x0 = 0.

(ii) Find general solution of

y" + 2y' + y = x2e–x

by using method of undetermined coefficients.

(iii) Compute r, if xr is an integrating factor of the equation

(x + y3)dx + 6xy2dy = 0, hence solve it.

(B) Attempt any two of the following : [8]

(i) If X is a vector such that X.curl X = 0 and µ is an

arbitrary function of x, y, z, then prove that

(µX) . curl (µX) = 0.

(ii) Find integral curves of

2 22

dx dy dz

xy y zxy x
= =

− .
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(iii) Find the complete integral of the equation

px + qy = pq

by Charpit’s method.

4. (A) Attempt any one of the following : [6]

(i) A necessary and sufficient condition that there exists between

two functions u(x, y) and v(x, y) a relation F(u, v) = 0

not involving x or y explicitly is that

( , )
0

( , )

u v

x y

∂
=

∂ .

(ii) Explain Natani’s method of solving Pfaffian differential

equation

Pdx + Qdy + Rdz = 0.

(B) Attempt any two of the following : [10]

(i) Obtain orthogonal trajectories on the cone x2 + y2 = z2

tan2 α of its intersection with the family of planes parallel

to z = 0.
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(ii) Verify that the equation (y + z)dx + (z + x)dy + (x + y)dz

= 0 is integrable and find its solution.

(iii) Show that z = ax + (y/a) + b is a complete integral of

pq = 1 and this equation has no singular solution. Find

the particular integral corresponding to the subfamily

b = a.

5. (A) Attempt any one of the following : [6]

(i) Explain Charpit’s method for solving a partial differential

equation f(x, y, z, p, q) = 0.

(ii) Prove that a necessary and sufficient condition for the

integrability of dz = φ(x, y, z)dx + ψ(x, y, z)dy is

( , ) ( , ) ( , ) ( , )
[ , ] 0

( , ) ( , ) ( , ) ( , )

f g f g f g f g
f g

x p z p y q z q

∂ ∂ ∂ ∂
= + φ + + ψ =

∂ ∂ ∂ ∂

where p = φ(x, y, z), q = ψ(x, y, z) are obtained by solving

partial differential equations f(x, y, z, p, q) = 0 and

g(x, y, z, p, q) = 0.
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(B) Attempt any two of the following : [10]

(i) Find the general solution of

(z2 – 2yz – y2)p + x(y + z)q = x(y – z).

(ii) Obtain complete integral of z3 = pqxy by Jacobi’s

method.

(iii) Determine the integral surface of the differential equation

(x – y)p + (y – x – z)q = z, passing through the circle

z = 1, x2 + y2 = 1.



Total No. of Questions—4] [Total No. of Printed Pages—4+1

Seat

No. [4701]-367

T.Y. B.A. EXAMINATION, 2015

STATISTICAL PRE-REQUISITES

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following : [10]

(a) Define correlation. Explain types of correlation with one example

each.

(b) For a tri-variate data it was found that r12 = 0.7, r13 =

r23 = 0.5. Obtain r13.2 and R1.23.

(c) Find the most likely price of a commodity in Mumbai corresponding

to the price of Rs. 70 in Kolkata from the following

data :

Kolkata (X) Mumbai (Y)

Average 65 67

S.D. 2.5 3.5

Correlation coefficient of the prices of the commodity in two

cities is 0.8.

P.T.O.
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(d) State and explain additive and multiplicative models for time

series data.

2. Answer any four of the following : [20]

(a) Estimate the trend by using 3-yearly moving averages for the

following data :

Year Sales (in tonnes)

2001 78

2002 73

2003 71

2004 73

2005 75

2006 78

2007 73

(b) State and explain the tests to be satisfied by the index numbers.

(c) Explain commonly used acceptance sampling plans.

(d) Explain any four process control tools.
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(e) Compute Laspeyre, Paasche and Fisher’s index number for the

following data :

Commodity Base Year Base Year Current Year Current Year

Price Quantity Price Quantity

A 5 5 6.5 7

B 7.75 6 8.8 10

C 9.63 4 7.75 6

D 12.5 9 12.75 9

(f) Explain in brief different types of production functions.

3. Answer any three of the following : [30]

(a) State and explain different components of time series.

(b) Fit a curve of the type Y = abX using method of least squares

to the following data and estimate the production for the year

1996.

Year (X) Production (Y)

1991 5

1992 40

1993 135

1994 320

1995 625
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(c) Compute correlation coefficient for the following data and interpret

it :

Price Supply

8 25

10 30

15 32

17 35

20 37

22 40

24 42

25 45

(d) State and explain problems in the construction of index numbers.

(e) Explain various methods of measuring trend component in a

time series data.

4. Answer any one of the following : [20]

(a) From a lot consisting of 2200 items, a sample of size 225

is taken. If it contains 14 or less defectives, the lot is accepted

otherwise rejected.

(i) Compute probability of acceptance Pa.

(ii) Plot the operating characteristic curve for the following

P values :

.01, .02, .03, .04, .05, .06, .08, .1.
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(b) Consider the following data on advertisement cost in th. Rs.

(X) and sales of a product in Lakhs Rs. (Y)

(i) Obtain the least square regression line of Y on X and

estimate sales when advertisement cost is Rs. 60,000.

(ii) Obtain the least square regression line of X on Y and

estimate advertisement cost when sales are Rs. 65,00,000.

X Y

41 46

67 52

92 85

38 50

80 83

84 60



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-368

T.Y. B.A. EXAMINATION, 2015

LOGIC & M. SCIENCE

(G-3 : Methodology of Science)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 100 words each : [10]

(i) Teleological approach;

(ii) Inductive leap;

(iii) Durkheim’s social fact;

(iv) Methodological individualism.

2. Write short notes on any four of the following in 100 words each : [20]

(i) What is instrumentalism ?

P.T.O.
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(ii) Discuss the probabilistic model of explanation.

(iii) Explain consistency as condition of acceptability of

Hypothesis.

(iv) 3 stages of evolution of human thought— Comte.

(v) State the basic features of social action.

(vi) Historical explanation.

3. Answer any three of the following in 250 words each : [30]

(i) Critically discuss notion of causation by Aristotle.

(ii) Describe features of Genetic and Functional Model of explanation

in natural sciences.

(iii) Discuss the objectives of social sciences.

(iv) Discuss the unity of method thesis.

4. Answer any one of the following in 500 words each : [20]

(i) Problem of induction and its possible solution.

(ii) Elaborately discuss the critique of positivistic account of social

science.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) ewˇ baxzth izðuif=dkgh igkoh-

1. dks.kR;kgh nksukaph izR;sdh 100 ðkCnkar mŸkjs f«gk % [10]

(i) iz;kstuew«d n`f"Vdksu-

(ii) oSxefud >si-

(iii) Mj[kkbZeph ^lkekftd okLro* gh ladYiuk-

(iv) iºrhðkkL=h; O;fDrokn-

2. dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar FkksMD;kr fVik f«gk % [20]

(i) lk/kuokn Eg.kts dk; \

(ii) laHkkO;rk&izk:ikph ppkZ djk-

(iii) lqlaxrrk gh flºkardYiusP;k LohdkjkgZrsph vV Eg.kwu Li"V djk-

(iv) ekuoh fopkjkP;k mRÿkarhps rhu VIisµdkWEVs-

(v) lkekftd œrhph ew«Hkwr oSfðk"VÓs lkaxk-

(vi) ,sfrgkfld Li"Vhdj.k-
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3. izR;sdh 250 ðkCnkar dks.kR;kgh rhukaph mŸkjs |k % [30]

(i) vWfjLVkWV«P;k dkj.k ladYiusph fpfdRld ppkZ djk-

(ii) uSlfxZd ðkkL=kae/kh« vkuqoafðkdrk vkf.k dk;kZRed Li"Vhdj.kkps izk:i lfoLrj

lkaxk-

(iii) lkekftd ðkkL=kaph mfÌ"VÓs Li"V djk-

(iv) iºrhph ,drk ;k flºkarkph ppkZ djk-

4. izR;sdh 500 ðkCnkar dks.kR;kgh ,dk izðukaps mŸkj |k- [20]

(i) foxeukph leL;k vkf.k R;kph laHkkO; mŸkjs lkaxk-

(ii) lkekftd ðkkL=kaP;k vuqHkooknh n`f"Vdksukojh« Vhdsph lfoLrj ppkZ djk-



Total No. of Questions—4+4] [Total No. of Printed Pages—7

Seat

No. [4701]-369

T.Y. B.A. EXAMINATION, 2015

SOCIOLOGY

Group A (G-3) : Work, Industry and Society

OR

Group B (G-3) : Crime and Society

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :—Attempt Group ‘A’ or Group ‘B’.

xV ^v* fdaok xV ^c* lksMok-

Group A (G-3) : Work Industry and Society

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each : [10]

(1) Importance of work

(2) Feminization of work

(3) Work related stress

(4) Taylorism.

P.T.O.
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2. Write short notes on any four of the following in maximum 100

words each  : [20]

(1) Guild System

(2) Features of Globalization

(3) Importance of informal relations in formal organization

(4) Environment pollution

(5) Job Insecurity

(6) Problems of Unorganized labour.

3. Answer any three of the following in maximum 250 words

each : [30]

(1) Describe the present challenges faced by Trade Union

Movement.

(2) Discuss the nature of work in post-industrial society.

(3) Explain the features of Scientific Management.

(4) Discuss the problems of migrant labour.

(5) Describe the characteristics of unorganized workers.

4. Answer any one of the following in maximum 500 words : [20]

(1) Discuss the characteristics and problems of Bureaucracy.

(2) What is Liberalization and Privatization ? Explain the effects

of liberalization and privatization on workers in formal

sector.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgkasph izR;sdh dek« 50 ðkCnkar mŸkjs f«gk % [10]

(1) Jekps egRo

(2) Jekps ^L=h*dj.k

(3) dkeklaca/kh rk.k

(4) Vs«fj>e-

2. [kk«h«iSdh dks.krsgh pkjoj izR;sdh dek« 100 ðkCnkar fVik f«gk % [20]

(1) la?k iºrh

(2) tkxfrdhdj.kkph oSf'k"V~;s

(3) vkSipkfjd la?kVukae/kh« vukSipkfjd laca/k

(4) i;kZoj.k iznw"k.k

(5) jkstxkjkph vfuf'prrk

(6) vla?kfVr dkexkjkaP;k leL;k-
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3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkar mŸkjs f«gk % [30]

(1) dkexkj pˇoˇhiq<h« l| vkOgkaukaps o.kZu djk-

(2) mŸkj vkS|ksfxd lektkrh« dkekP;k Lo:ikph ppkZ djk-

(3) 'kkL=h; O;oLFkkiukph oSf'k"V~;s Li"V djk-

(4) LFk«karfjr dkexkjkaP;k leL;kaph ppkZ djk-

(5) vla?kfVr dkexkjkaP;k oSf'k"V~;kaps o.kZu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) uksdj'kkghP;k oSf'k"V~;kaph o leL;kaph ppkZ djk-

(2) mnkjhdj.k o [kktxhdj.k Eg.kts dk; \ mnkjhdj.k o [kktxhdj.kkps la?kfVr

{ks=krh« dkexkjkaoj >k«s«s ifj.kke Li"V djk-
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[4701]-369

Group B (G-3) : Crime and Society

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in maximum 50 words

each : [10]

(1) Meaning of Crime

(2) Any two types of Crime

(3) Role of Victim

(4) Meaning of Juvenile Delinquency.

2. Write short notes on any four of the following in maximum 100

words each  : [20]

(1) Theory of Anomie

(2) White-collar Crime

(3) Crime against Caste

(4) Organised Crime

(5) Preventive Theory

(6) Rehabilitation of Prisoners.
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3. Answer any three of the following questions in maximum 250

words each : [30]

(1) Discuss Sutherland’s theory of Crime.

(2) Describe the new trends of Environmental Crime.

(3) Explain the characteristics of Crime.

(4) State the importance of Correction of Criminals.

(5) Describe the types of crime against women.

4. Answer any one of the following in maximum 500 words : [20]

(1) What is Terrorism ? Explain the characteristics of Terrorism.

(2) Discuss the meaning and forms of crime against Caste and

Tribes.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgsr-

(ii) mtohdMh« vad iz'ukaps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu iz'ukaph mŸkjs izR;sdh 50 ðkCnkai;±r f«gk % [10]

(1) xqU·kpk vFkZ

(2) xqU·kps dks.krsgh nksu izdkj

(3) cˇhph Hkwfedk

(4) ck«xqUgsxkjhpk vFkZ-
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2. [kk«h«iSdh dks.kR;kgh pkjkaoj 100 ðkCnkar fVik f«gk % [20]

(1) izek.kd 'kqU;rspk flºkar

(2) ika<jis'kh; xqUgsxkjh

(3) tkrh fo#ºps xqUgs

(4) la?kVhr xqUgsxkjh

(5) izfrca/kkRed flºkar

(6) xqUgsxkjkaps iquoZlu-

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkar f«gk % [30]

(1) lnj«°MP;k xqU·kaP;k flºkarkoj ppkZ djk-

(2) i;kZoj.kkRed xqU·kaP;k uofopkjkaps o.kZu djk-

(3) xqU·kaph oSf'k"VÓs Li"V djk-

(4) xqUgsxkjkae/kh« lq/kkj.ksps egRo lkaxk-

(5) efg«k fo#º xqU·kaP;k izdkjkps o.kZu djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukaps dek« 500 ðkCnkar mŸkj f«gk % [20]

(1) ng'krokn Eg.kts dk; \ ng'kroknkph oSf'k"VÓs Li"V djk-

(2) tkrh&tekrh fo#ºP;k xqU·kapk vFkZ o izdkjkaph ppkZ djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-370

T.Y. B.A. EXAMINATION, 2015

SOCIOLOGY

[S-3 : Social Research Methods]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in maximum 50 words each :

[10]

(1) Importance of Report Writing

(2) Meaning of Survey Method

(3) Any two obstacles in objectivity

(4) Ethnography.

2. Write short notes on any four of the following in maximum 100

words each  : [20]

(1) Mean

P.T.O.
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(2) Ethics is Social Research

(3) Characteristics of hypothesis

(4) Random Sampling

(5) Histograms

(6) Structured Interview.

3. Answer any three of the following in maximum 250 words

each : [30]

(1) State the use of computers in Social Research.

(2) State the relationship between Theory and Research.

(3) Explain the advantages of Constant Analysis.

(4) Describe the disadvantages of Case Study Method.

(5) Explain the disadvantages of Survey Method.

4. Answer any one of the following in maximum 500 words : [20]

(1) What is Social Research ? Explain the steps in Social

Research.

(2) Explain the advantages and disadvantages of questionnaire

techniques.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksgksaps mŸkj izR;sdh dek« 50 ðkCnkai;±r f«gk %  [10]

(1) vgok« «s[kukps egRo

(2) loZs{k.k iºrhpk vFkZ

(3) oLrqfu"BrsP;k ekxkZrh« dks.krsgh nksu vMFkˇs

(4) «ksdk«s[k@laLœrh o.kZu-

2. [kk«h«iSdh dks.krsgh pkjoj izR;sdh dek« 100 ðkCnkai;±r laf{kIr fVik f«gk % [20]

(1) e/;kad

(2) lkekftd la'kks/kukrh« uSfrdrk

(3) x`ghrœR;kph oSf'k"VÓs

(4) ;kn`fPNd uequk fuoM

(5) vk;rk«s[k@LraHkk«s[k

(6) lajfpr eq«k[kr-



[4701]-370 4

3. [kk«h«iSdh dks.kR;kgh rhu izðukaph izR;sdh dek« 250 ðkCnkai;±r mŸkjs f«gk % [30]

(1) lkekftd la'kks/kukr lax.kdkpk mi;ksx lkaxk-

(2) flºkar vkf.k la'kks/ku ;krh« laca/k lkaxk-

(3) vk'k; fo'«s"k.kkps Qk;ns Li"V djk-

(4) O;"Vh v/;;u iºrhP;k nks"kkaps o.kZu djk-

(5) losZ{k.k iºrhP;k e;kZnk Li"V djk-

4. [kk«h«iSdh dks.krkgh ,dk izðukps dek« 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) lkekftd la'kks/ku Eg.kts dk; \ lkekftd la'kks/kukP;k ik;Ú;k Li"V djk-

(2) iz'uko«h ra=kps xq.k vkf.k e;kZnk Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-371

T.Y. B.A. EXAMINATION, 2015

SOCIOLOGY

[S-4 : Indian Society : Continuity and Change]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two in maximum 50 words each : [10]

(1) Indigenous People/Adivasis

(2) Indus Valley Civilization

(3) Modernization—meaning

(4) Any two features of Urban Society.

2. Write short notes on any four in maximum 100 words each  : [20]

(1) Problems of communal harmony in India

(2) NGO—meaning

(3) Any two features of agrarian society

P.T.O.
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(4) Features of Joint Family System

(5) Concept of Privatization

(6) Panchayati Raj.

3. Answer any three in maximum 250 words each : [30]

(1) Discuss the impact of Secularization in Indian Society.

(2) Describe caste in the present context.

(3) Explain Regionalism.

(4) Elaborate the important civic problems in Urban Society.

(5) Explain the causes of migration to Cities.

4. Answer any one in maximum 500 words : [20]

(1) Define democracy. Discuss the challenges before Indian

Democracy.

(2) Elaborate the challenges with reference to Education in

India.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iz'ukps iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1. [kk«h«iSdh dks.kR;kgh nksgksaoj izR;sdh 50 ðkCnkai;±r mŸkjs f«gk % [10]

(1) ^vkfnoklh tu*

(2) fla/kq laLœrh

(3) vk/kqfudhdj.kµvFkZ

(4) 'kgjh lektkrh« dks.krsgh nksu oSf'k"VÓs-

2. [kk«h«iSdh dks.kR;kgh pkj iz'ukaph izR;sdh 100 ðkCnkai;±r FkksMD;kr fVik

f«gk % [20]

(1) Hkkjrkrh« ^lkeqnkf;d ln~Hkko* ckcrP;k leL;k

(2) NGO (fcxj 'kkldh; laLFkkµvFkZ)

(3) 'ksrdh; lektkps dks.krsgh nksu oSf'k"VÓs

(4) la;qDr dqVqac iºrhph oSf'k"VÓs

(5) [kktxhdj.kkph ladYiuk

(6) iapk;rh jkt-

3. [kk«h«iSdh dks.krsgh rhu izðukaph mŸkjs izR;sdh 250 ðkCnkai;±r f«gk % [30]

(1) Hkkjrh; lektkrh« /keZfujis{krsP;k ifj.kkekaph ppkZ djk-

(2) orZeku lanHkkZrh« tkrh o.kZu djk-

(3) ^izknsf'kdokn*µLi"V djk-

(4) 'kgjh lektkrh« izeq[k ukxjh leL;k fo'kn djk-

(5) 'kgjkdMs gks.kkÚ;k LFk«karjkph dkj.ks Li"V djk-
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4. [kk«h«iSdh dks.kR;kgh ,dk izðukps 500 ðkCnkai;±r mŸkj f«gk % [20]

(1) «ksd'kkghph O;k[;k djk- Hkkjrh; «ksd'kkgh leksjh« vkOgkukaph ppkZ

djk-

(2) ledk«hu Hkkjrkrh« f'k{k.kkiq<h« vkOgkus Li"V djk-



Total No. of Questions—4] [Total No. of Printed Pages—4+2

Seat

No. [4701]-372

T.Y. B.A. EXAMINATION, 2015

MATHEMATICAL PRE-REQUISITES

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.
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1. Attempt any ten of the following : [10×2=20]

(i) Given :

6 2
A

5 0

 
=  
 

 and 
14

B
4

 
=  
 

,

find AB.

P.T.O.
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(ii) Given :

3 2

A 9 5

6 7

 
 =  
  

, K = 5,

find KA.

(iii) Determine whether or not :

    
4 6

A
6 9

 
=  
 

singular matrix.

(iv) Write any two properties of determinant.

(v) Find the cofactor of an element a23 and a32 in :

1 2 3

A 4 5 6

7 8 9

 
 =  
  

.

(vi) If

2
1 26 6y x x= +

find 
1

y

x

∂

∂  and 
2

y

x

∂

∂ .
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(vii) Evaluate |A|, where :

1 2 3

A 4 9 6

1 2 3

 
 =  
  

.

(viii) Define : Basic solution of Linear programming problem.

(ix) Sketch the region of the inequality 3x y+ ≤ .

(x) Define : Surplus variable.

(xi) Given :

1 3
A

9 2

− 
=  − 

,

find |At|.

(xii) If A is 2×3 matrix and B is 3×4 matrix, find the dimension

of AB.

(xiii) Given

7

A 6 ,

12

 
 =  
  

 

3

B 8 ,

5

 
 =  
  

 

13

C 2

6

 
 =  
  

.

Find (A – B) + C.
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2. Attempt any two of the following : [2×5=10]

(i) Solve the following system of equations by Gaussian elimination

method :

3x1 + 7x2 = 67

2x1 + 9x2 = 75.

(ii) Find the Jacobian of :

y1 = 5x1 + 3x2  and

y2 = 6x1.

(iii) Write the dual of the following linear programming

problem :

Minimize   π = 60x1 + 80x2

Subject to : 2x1 + 3x2 ≥ 36

  8x1 – 2x2 ≥ 32

  2x1 + x2 ≥ 24

  x1, x2, x3 ≥ 0.
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3. Attempt any two of the following : [2×10=20]

(i) A speciality steel manufacturer produces two types of steel.

Type 1 requires 2 hours of melting, 4 hours of rolling, and

10 hours of cutting. Type 2 requires 5 hours of melting,

1 hour of rolling, and 5 hours of cutting. Fourty hours are

available for melting, 20 for rolling, and 60 for cutting. The

profit margin for type 1 is 24; for type 2 is 8. Formulate

the given information to L.P.P.

(ii) Use eigen values to determine sign-definiteness for :

4 6 3

A 0 2 5

0 1 3

 
 =  
  

.

(iii) Explain the Hessian.

4. Attempt any two of the following : [2×15=30]

(i) Use matrix inversion method to solve the following system

of equation :

2x1 + 4x2 – 3x3 = 12

3x1 – 5x2 + 2x3 = 13

–x1 + 3x2 + 2x3 = 17
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(ii) Solve the following linear programming problem by simplex

algorithm :

Minimize   π = 20x1 + 30x2 + 16x3

Subject to : 2.5x1 + 3x2 + x3 ≥ 3

   x1 + 3x2 + 2x3 ≥ 4

       x1, x2, x3 ≥ 0.

(iii) Maximize utility u = xy + x subject to the budget constraint

6x + 2y = 110 by finding critical values and using the bordered

Hessian |H| to test the second order condition.
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1. Attempt any two of the following : [2×5=10]

(a) What is an uniformity trial ? Describe its use in design of

experiment.

(b) Describe North-West direction method to find IBFS of

transportation problem.

P.T.O.
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(c) Define interaction effect in factorial experiments. Also obtain

their expression in 22 factorial experiment.

(d) What is confounding in factorial experiments ? Describe its

types.

2. Attempt any four of the following : [4×5=20]

(a) Obtain an initial basic feasible solution (IBFS) and corresponding

cost of transportation by using least cost method for the

following T.P. :

   Destination

Origin D1 D2 D3 D4 Availability

O1 2 4 1 3 12

O2 5 3 1 7 8

O3 1 4 2 3 10

Requirement 4 6 9 11

(b) Obtain the least square estimates of parameters in CRD.

(c) Describe the Yates method to obtain the factorial effects in

case of 23 factorial experiment.
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(d) Obtain the graphical solution to the following LPP :

Maximize :    Z = 2x1 + 5x2,

Subject to :      x1 + x2 ≤ 15,

          x1 + 3x2 ≥ 18,

            x1, x2 ≥ 0.

(e) What is analysis of covariance ? State one real life situation

of it.

(f) Obtain the partition of total sum of squares and total degrees

of freedom in RBD.

3. Attempt any three of the following : [3×10=30]

(a) (i) Calculate the efficiency of LSD over CRD by using the

following data :

Sum of squares due to rows = 72

Sum of squares due to treatments = 180

Mean sum of squares due to column = 36

Mean error sum of squares = 12

Error degrees of freedom = 6

(ii) By using above data, test whether treatments are significant

or not at 5% l.o.s.
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(b) Obtain the optimal solution to the following TP by finding IBFS

through Vogel’s Approximation method :

   Destination

Origin D1 D2 D3 D4 Availability

O1 5 8 3 6 20

O2 4 5 7 4 30

O3 6 2 4 6 25

Requirement 35 15 12 13

(c) Describe the basic principles of design of experiments.

(d) Obtain the optimal sequence for the following problem. Also

find total elapsed time and idle time of each machine :

Machines Processing time per job

A B C D E

I 7 12 5 8 10

II 15 16 17 13 19

III 9 10 8 5 7
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(e) Solve the following LPP by simplex method :

Max :         Z = 5x + 8y

Subject to :      x + 4y ≤ 20,

          2x + 3y ≤ 60,

          x ≥ 0, y ≥ 0.

4. Attempt any one of the following : [1×20=20]

(a) (i) Derive the expression of efficiency of RBD over

CRD. [5]

(ii) Obtain the expected value of error mean of squares in

LSD. [5]

(iii) Describe the method of model sampling from normal

distributions by using Box-Muller transformation. [5]

(iv) Describe Monte-Carlo method of simulation. [5]

(b) (i) Write the dual of the following LPP. Also solve the dual

problem by simplex method : [10]

Min :         Z = x + 3y

Subject to :     2x + y ≥ 4,

          x + 2y ≥ 6,

           x + y ≥ 5,

         x ≥ 0; y ≥ 0.
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(ii) Describe the method to find optimal solution to an assignment

problem. [5]

(iii) What is Split plot design (SPD) ? State one illustration

of it. [5]
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1. Attempt any two of the following : [2×5=10]

(a) The discrete probability distribution for r.v. X is as below :

X = x –1 0 1

P(X = x)
1

8

6

8

1

8

Find upper bound for P[|X| 1]≥  by Chebyshev’s inequality.

Also compare with the actual value.

P.T.O.
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(b) Let 

X ( , )

. Obtain harmonic mean of X.

(c) The following is the transition probability matrix (P) is given

below :

P

Find P(2) and P01
(2) using Chapman-Kolmogorov equation.

(d) Let X L(0, 1)→ , find 

P(|X| 1)

.

2. Attempt any four of the following : [4×5=20]

(a) A doctor’s office has four telephone lines, each of which can

be independently dialed by any patient. Assume, on any given

business day, the first call a received on line 1, 2, 3 or 4

with the probabilities are 0.4, 0.3, 0.2, 0.1 respectively. The

calls are independent from one business day to another. For

10 business days, Yi be the number of days on which the

first call arrives on line i, (i = 1, 2, 3, 4). Evaluate :

P (Y1 = Y2 = 3, Y3 = Y4 = 2).

(b) Define order statistic. Obtain distribution of rth order statistic

X(r) corresponding to a random sample of size n from continuous

distribution.
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(c) In a city, number of accidents per day follows Poisson distribution

with mean 2. Find approximate probability that in a month

chosen at random, number of accidents in city lies between

55 and 65.

(d) Let X and Y be two i.i.d. Cauchy r.v.s. with µ = 0 and

λ = 1. Find :

1 1
P 2

X Y

 
+ >  

.

(e) Obtain the distribution of 
1

Y X
n

i
i=

=∏  where Xi are i.i.d. lognormal

(0, µ, σ2) random variables, where i = 1, 2,......n.

(f) If

X W ( , )→ α β

then find coefficient of variation.

3. Attempt any three of the following : [3×10=30]

(a) If

1X (1, 1)→ β

 and 

1Y (1, 1)→ β

are two independent variables, then find the distribution

of (X – Y).



[4701]-374 4

(b) Let 

X C ( )

. Find :

(i) distribution of Y = X2

(ii) distribution function F(X) and hence obtain lower and

upper quartile of X.

(c) The joint probability mass function (p.m.f.) of (X1, X2, X3)

is as follows :

p x x x p p p

1 2 30 , ,p p p i< < ;

p p px x x n

.

Obtain :

(i) Marginal distribution of X2.

(ii) Correlation coefficient between X1 and X3.

(d) Let 

X N ( , )

. If the distribution of r.v. X is truncated

to the left below X = a, find the p.d.f. and mean of the

resulting distribution.
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(e) Let

2 2
1 2 1 2(X, Y) BN( , , , , )→ µ µ σ σ ρ

find conditional distribution of X given Y = y and Y given

X = x.

4. Attempt any one of the following : [1×20=20]

(a) (i) Let

(1) (2) (9)X , X , ......., X

be the order statistics of random sample of size 9 from

a distribution with p.d.f.

1

21
, 0

2
0 , otherwise

x

e x

 −  

 >



Find p.d.f. of X(4) and (4)P[X 2]> . [7]

(ii) Let

12
(X, Y) BN (1, 2, 16, 25, )

13
→

Find P(X 2)>  and 

P(X 2|Y 2)> =

. [7]

(iii) Define :

(1) Markov chain

(2) Transition probability

(3) P2. [6]
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(b) (i) Let

X LN( 0, 4, 4)

.

Find P[X 25]≥ . [7]

(ii) If X and Y are two independent exponential variates with

mean 

1

. Find the distribution of (X – Y) and identify

the distribution. [7]

(iii) If g(X) is a non-negative function a r.v. X such that

E[ (X)]g < ∞  and K is a positive real number, then show

that :

    

P[ (X) K]

. [6]
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1. Attempt any eight of the following : [16]

(i) Give an example of a sequence 
1{ }n ns

∞
=  which is not bounded

but for which lim 0n

n

s

n→∞
= .

(ii) Does the series 
1 2 3 4

........
2 3 4 5
− + − +  converge ? Justify.

P.T.O.
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(iii) Can a series of non-negative numbers converge conditionally ?

Justify.

(iv) Let :

2

0
( ) 4 . ( 0)

x
f x t t dt x= + + >∫ ,

find f' (4).

(v) Let :

1
cos , 0 1

( )

0 , 0

x
f x x

x

 < ≤
= 
 =

.

Is R[0, 1]f ∈  ? Justify.

(vi) Define the length of an open subset G of [a, b].

(vii) Define the inner and outer measure of an arbitrary subset

E of [a, b].

(viii) Justify whether true or false : every constant function is a

measurable.
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(ix) Define the measurable function and give an example of a measurable

function.

(x) Justify whether true or false : If G is an open subset of

[a, b] and |G| = 0, then 

G = φ

.

2. (a) Attempt any one of the following : [6]

(i) If

1lim sup An

n n

a

a
+

→∞
=

,

then prove that the series of real numbers 
1

n
n

a
∞

=
∑  converges

absolutely if A < 1.

(ii) State Cauchy condensation test for convergence of

series of real numbers and use it to test the convergence

of :

3
3

1

(log )n n n

∞

=
∑ .
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(b) Attempt any two of the following : [10]

(i) If f is continuous on a closed and bounded interval

[a, b] and ' ( ) ( ), ( )x f x a x bφ = ≤ ≤ , then prove that :

      

b

a

∫

.

(ii) Prove that :

/22 2

/6

2 2 4

9 sin 9

x
dx

x

π

π

π π
≤ ≤∫ .

(iii) If 
1{ }n ns

∞
=  is a sequence of real numbers, then prove

that :

lim inf lim supn n
n n

s s
→∞ →∞

≤ .

3. (a) Attempt any two of the following : [8]

(i) Test the convergence of :

n

∑

.



[4701]-375 5 P.T.O.

(ii) Prove that every Cauchy sequence of real numbers is

convergent.

(iii) Show that series :

2
1 (1 )n

x

n nx

∞

= +
∑ ,

converges uniformly for all Rx ∈ .

(b) Attempt any two of the following : [8]

(i) If 

E [ , ]a b⊂

, then prove that 

ME ME≤

.

(ii) If E is a measurable subset of [a, b], then prove that

E' is measurable and

mE' = (b – a) – mE.

(iii) Show that a function :

1
, 0 1

( ) 3

0 , 0

x
f x x

x

 < ≤= 
 =

is Lebesgue integrable on [0, 1].
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4. (a) Attempt any one of the following : [6]

(i) If E1 and E2 are measurable subsets of [a, b], then

prove that E1 – E2 is measurable and

1 2 1 2(E E ) E E ,m m m− = −

where 

E E

.

(ii) If 

{ }

 is a sequence of measurable functions on

[a, b] and if

lim ( ) ( )n
n

f x f x
→∞

=

almost everywhere for a x b≤ ≤ , then prove that f is

measurable.

(b) Attempt any two of the following : [10]

(i) If E1 and E2 are disjoint measurable subsets of [a, b]

and 

f a b

, then prove that :

   

E E E E

.
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(ii) If F is a bounded function in L[a, b] such that ( ) 0f x ≥

almost everywhere :

( )a x b≤ ≤

 and 

0,
b

a

f =∫

then prove that f(x) = 0 almost everywhere ( )a x b≤ ≤ .

(iii) If

L[ , ]f a b∈

, 

E [ , ]a b⊂

 and 

E = 0m

,

then show that 

E

0f =∫

.

5. (a) Attempt any one of the following : [6]

(i) Let E be measurable subset of [a, b]. If

[ , ]f a b∈L , 

[ , ]g a b∈L

 and 

( ) ( )f x g x=

almost everywhere 

( E)x ∈

, then prove that 

E E

g f=∫ ∫

.

(ii) If f is a measurable function on [a, b] and C R∈ , then

prove that 

f c+

 and cf are measurable functions.
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(b) Attempt any two of the following : [10]

(i) Let f and g be functions on [a, b] such that 

f x g x

almost everywhere 

( )

. If f is measurable, then

prove that g is measurable.

(ii) If E1, E2, ......... are any measurable subsets of [a, b],

then prove that 

n

 is measurable and

    
11

E En n
nn

m m
∞ ∞

==

 
≤ 

 
∑U .

(iii) Find the Fourier series for the function :

0 , 0
F( )

1 , 0

x
x

x

−π ≤ <
=  ≤ ≤ π

.
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1. Attempt any two of the following : [2×5=10]

(a) Explain each of the following terms with illustration :

(i) Critical region

(ii) Standard error of a statistic.

P.T.O.
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(b) The mean diastolic blood pressure for a group of 81 adults

was found to be 79.2 mm. Test the hypothesis that the mean

diastolic blood pressure is 75 mm. The population standard

deviation is known to be 9 mm.

(c) Describe the procedure of Chi-square goodness of fit test.

(d) If the probability density function of a random variable X is

21
( ) exp ( 12 36) ; 0,

18
f x c x x c x

 
= − − + > − ∞ < < ∞ 

 
,

find P[X > 0.25].

2. Attempt any four of the following : [4×5=20]

(a) A quality control manager of an electronic plant thinks that

handicapped people work better than normal people. A sample

of 400 items produced by handicapped workers was found to

have 20 defectives. On the other hand, a sample of 500 items

produced by normal workers contained 32 defectives. Test the

manager’s claim at 1% level of significance.

(b) Describe the test procedure of two sample sign test.



[4701]-376 3 P.T.O.

(c) A customer who regularly visits a particular restaurant, for

lunch, rates the quality of the food and service over a period

of 25 consecutive days as good (G) or bad (B) as follows :

GGBBGBBGGGBGGBBBGBGBGBGBB

Test the hypothesis that the quality of food and service at

the restaurant is random using run test. Use 5% level of

significance.

(d) Describe the test procedure for testing the hypothesis :

H0 : P = P0 against

H1 : P ≠ P0

where P denotes the population proportion.

(e) Suppose that the marks obtained by students in a certain

examination are normally distributed. If 7% of the students

scored marks less than 35 and 89% of the students scored

marks less than 63, find the mean and variance of the distribution.

(f) Explain the criteria of judging lack of control of the process

with suitable sketch.
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3. Attempt any three of the following : [3×10=30]

(a) (i) Explain the concept of Analysis of variance. [3]

(ii) Three varieties of coal were analyzed by four chemists

and the ash content in the varieties was found as :

Varieties      Chemists

1 2 3 4

A 8 5 5 7

B 7 6 4 4

C 3 6 5 4

Carry out one-way classification completely to test whether

the three methods lead to different levels of productivity

at 5% level of significance. [7]

(b) (i) Consider the following 2×2 contingency table.

Stream of Education Aim

To join civil No to join civil

services services

B.A. 56 44

B.Sc. 25 75
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Test whether the aim of students is associated with

the stream of their education. Use 5% level of

significance. [5]

(ii) State the mathematical model used in two-way classification

of analysis of variance and explain the terms used in it.

Further state the break up of total sum of squares.  [5]

(c) (i) A market research group found that the correlation coefficient

between sales and expenditure on advertisement is 0.5 for

a sample of 103 observations. Can we conclude that the

population correlation coefficient is at least 0.6 ? Use 5%

level of significance. [5]

(ii) Let X and Y be two independent Normal variates such

that :

X → N(4, 32) and Y → N(5, 22)

Find :

(a) P[2X + Y < 12]

(b) P[X < Y]. [5]
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(d) (i) The time (in hrs) taken by workers in performing a job

by two methods is as given below :

Method I Method II

20 17

17 18

16 22

21 27

23 20

22 24

28

Test whether the two populations have the same variances.

(Use 10% level of significance). [7]

(ii) Distinguish between non-parametric tests and parametric

tests. [3]
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(e) (i) Complete the following analysis of variance table : [4]

Source of Degrees of S.S. M.S.S. F-ratio

Variation Freedom

Treatments 9 4530 ? ?

Blocks 4 2300 ? ?

Error ? ? ?

Total 49 9600

(ii) The table below shows the time (in hrs.) of relief provided

by two analgesic drugs in 12 patients suffering from arthritis.

Patient No. 1 2 3 4 5 6

Drug A 2.0 3.6 2.6 2.6 7.3 3.4

Drug B 3.5 5.7 2.9 2.4 9.9 3.3

Patient No. 7 8 9 10 11 12

Drug A 4.9 6.6 2.3 2.0 6.8 8.5

Drug B 6.7 6.0 3.8 4.0 9.1 7.9

Using Wilcoxon’s signed rank test, test whether there is

any evidence that Drug B provides longer relief than

Drug A. Use 5% level of significance. [6]
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4. Attempt any one of the following : [1×20=20]

(a) (i) The following data indicates the sample mean ( X ) and

range (R) values for 12 subgroups of size 5 each.

Sample No. Mean ( X ) Range (R)

1 35.5 2.1

2 34.0 2.3

3 35.2 1.9

4 36.5 2.1

5 34.5 3.0

6 36.0 2.5

7 36.6 1.8

8 34.4 2.5

9 37.6 5.2

10 36.0 2.2

11 35.8 1.3

12 34.6 2.4

Set up X  and R charts. Examine the state of control

of the process. Comment on the result. [12]
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(ii) A company has installed new colour video display terminals

to replace the old ones. A batch of 22 operators were

trained to use new machines. They required on an average

17.2 hours with a standard deviation of 6.2 hours for achieving

satisfactory performance. In order to learn old terminals

the company had trained 20 operators for an average 21.3

hours with standard deviation of 7 hours. Should the

supervisors of the company claim that the new terminals

are easier to operate ? Use 1% level of significance. [8]

(b) (i) The following data indicates the percentage of defectives

in a sample of size 50 taken at equal intervals of a production

process :

Sample No. % of Defectives

1 0.09

2 0.11

3 0.13

4 0.05
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5 0.14

6 0.6

7 0.2

8 0.12

9 0.13

10 0.06

11 0.18

12 0.14

13 0.17

14 0.14

15 0.15

16 0.02

Draw the p-chart to check whether the production process

is under control. Suggest the control limits for future

use. [12]

(ii) The director of a secretarial school wants to test the

effectiveness of a course in increasing typing speed of students.
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The following data give the typing speeds of 9 students

at the end of the first week and at the end of the course

(sixth week) :

Student No. Words per Words per

minute (week 6) minute (week 1)

1 51 45

2 63 51

3 55 50

4 68 56

5 48 42

6 38 39

7 54 47

8 73 62

9 49 56

Test whether the course is effective in increasing typing

speed. Use 5% level of significance. [8]
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-377

T.Y. B.A. EXAMINATION, 2015

PHILOSOPHY

G-3 : Aesthetics and Social Philosophy

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) State the nature of aesthetics as a branch of Philosophy.

(2) Discuss the notion of the medium of art.

(3) Explain the nature of philosophy of religion.

(4) Discuss the problem of fundamentalism.

2. Write notes on any four of the following in 100 words

each : [20]

(1) Sthayibhava

(2) Aesthetic object

(3) Dickie’s view of aesthetic attitude
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(4) Ontological argument for the existence of God

(5) Mill’s view of Society

(6) Secularism.

3. Answer any three of the following in 200 to 250 words each : [30]

(1) Explain Collingwood’s expressionism.

(2) Explain the nature of aesthetic experience.

(3) Discuss in detail the problem of terrorism.

(4) Bring out the relation between religion and morality.

(5) State the problem of evil. Discuss any one response

to it.

4. Answer any one of the following questions in 500 words : [20]

(1) State and discuss cosmological and moral arguments for the

existence of God.

(2) State and examine Croce’s view of art as intuition.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dkgh igkoh-

1- [kk«h«iSdh dks.kR;kgh nksgksaps izR;sdh 50 ðkCnkar mŸkjs f«gk % [10]

(1) rRoKkukph ,d ðkk[kk Eg.kwu lkSan;Zehekalsps Lo:i Lkkaxk-

(2) d«sps ek/;e ;k dYiusph ppkZ djk-

(3) /kekZP;k rRoKkukps Lo:i Li"V djk-

(4) ew«rRooknkP;k leL;sph ppkZ djk-

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) LFkk;hHkko

(2) lkSan;ZoLrq

(3) lkSan;Zo`Ÿkhfo"k;hpk fMdhpk n`f"Vdksu

(4) bZðojkP;k vfLrRoklkBhpk lŸkkðkkL=h; ;qDrhokn

(5) fe«pk lektkfo"k;hpk n`f"Vdksu

(6) /keZfujis{krk-

3- [kk«h«iSdh dks.kR;kgh frghaph mŸkjs izR;sdh 200 rs 250 ðkCnkar f«gk % [30]

(1) dkWf«axoqMpk vfHkO;Drhokn Li"V djk-
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(2) lkSan;kZuqHkokps Lo:i Li"V djk-

(3) ngðkroknkP;k leL;sph lfoLrj ppkZ djk-

(4) /keZ vkf.k uhrh ;karh« laca/k foðkn djk-

(5) nqfjrkph leL;k lkaxk ;k leL;sP;k fujluklkBh ekaM«sY;k dks.kR;kgh ,dk

izfrlknkph ppkZ djk-

4- [kk«h«iSdh dks.kR;kgh ,dkps mŸkj 500 ðkCnkar nÓk % [20]

(1) bZðojkP;k vfLrRoklkBhps foðodkj.krsoj vk/kkfjr vkf.k uSfrd ;qDrhokn lkaxwu

R;kaph ppkZ djk-

(2) d«k Eg.kts var%izKk gk ÿksðkspk n`f"Vdksu lkaxwu R;kps ijh{k.k djk-
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-378

T.Y. B.A. EXAMINATION, 2015

PHILOSOPHY (S-3)

Special Paper III

(Thinkers and Textual Studies : Indian)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) Explain Gandhiji’s notion of Anasakti.

(2) Explain with examples Dr. Barlingay’s notion of separables.

(3) State Rejendra Prasad’s views regarding Kama Purushartha.

(4) Briefly explain Dr. Ambedkar’s views on Liberty.

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Dnyaneshwara’s Adnyana Khandan

(2) Sarvodaya
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(3) Mohanty’s views on Relativism

(4) Authority as a myth in Indian Philosophy

(5) Dr. Ambedkar’s criticism on Hindu Religion

(6) Notion of category according to Prof. Barlingay.

3. Answer any three of the following questions in 200-250 words

each : [30]

(1) Discuss Rajendra Prasad’s views on nature and place of Moksha

Purushartha.

(2) Bring out the relationship between Truth and Non-violence

according to Gandhiji.

(3) Discuss the claim of spirituality as a myth in Indian Philosophy

with reference to Dayakrishna.

(4) How does Dr. Ambedkar distinguish between Religion and

Dhamma.

(5) Explain the relationship within Shiva and Shakti with reference

to Amrutanubhava.

4. Answer in about 500 words any one of the following : [20]

(1) Explain fully Krishnamurti’s views on truth with the help of

his famous attitude ‘Truth as a Pathless Land’.

(2) Discuss fully Dr. Barlingay’s views on distinguishability and

separability.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth iz'uif=dk igkoh-

1- [kkyhyiSdh dks.kR;kgh nksu izðukaps izR;sdh 50 'kCnkar mŸkjs fygk % [10]

(1) xka/khthph vuklDrh gh ladYiuk Li"V djk-

(2) MkW- ckjfyaxs ;kaph vyx djrk ;s.;ktksxs gh laKk lksnkgj.k Li"V djk-

(3) MkW- jktsUÊizlkn ;kapk dke iq#"kkFkkZcÌypk n`f"Vdksu lkaxk-

(4) MkW- vkacsMdjkapk Lokra´;fo"k;d n`f"Vdksu FkksMD;kr Li"V djk-

2- [kkyhyiSdh dks.kR;kgh pkjoj 100 'kCnkar FkksMD;kr fVik fygk % [20]

(1) Kkus'ojkauh dsysys vKku[kaM.k

(2) loksZn;

(3) eksgarh ;kapk lkis{krkoknh n`f"Vdksu

(4) ^vf/kdkjh* (Authority) Hkkjrh; rRoKkukrhy feFkd

(5) fgUnq /kekZojhy MkW- vkacsMdjkaph Vhdk

(6) izks- ckjfyaxs ;kaph ^dksVh* gh ladYiuk-

3- [kkyhyiSdh dks.kR;kgh rhu iz'ukaph izR;sdh 200&250 'kCnkar mŸkjs fygk % [30]

(1) eks{k iq#"kkFkkZps Lo:i vkf.k LFkku ;kcÌy MkW- jktsUÊizlkn ;kaP;k n`f"Vdksukoj

ppkZ djk-
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(2) xka/khthaP;k erkuqlkj lR; vkf.k vfgalk ;kaP;k ijLijlaca/k fo'kn djk-

(3) fpn~oknklaca/khpk nkok Hkkjrh; rRoKkukrys ,d feFkd vkgs ;k lanHkkZr n;kœ".k

;kaP;k vuq"kaxkus ppkZ djk-

(4) /keZ vkf.k /kEe ;kaP;kr MkW- vkacsMdj dlk Hksn djrkr \

(5) ve`rkuqHkokP;k vuq"kaxkus f'ko vkf.k 'kfDr ;kaP;krhy ijLijlaca/k Li"V djk-

4- [kkyhyiSdh dks.kR;kgh ,dk iz'ukaps 500 'kCnkar mŸkj fygk % [20]

(1) ^lR; gh ,d ekxZjfgr Hkwfe vkgs* ;k œ".kewrhZP;k izflº opukP;k vuq"kaxkus

R;kapk lR;kfo"k;hpk n`"Vhdksu Li"V djk-

(2) Qjd djrk ;s.;ktksxs vkf.k vyx djrk ;s.;ktksxs ;kcÌy MkW- ckjfyaxs ;kaP;k

n`f"Vdksukoj lfoLrj ppkZ djk-
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Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-379

T.Y. B.A. EXAMINATION, 2015

PHILOSOPHY

Special Paper IV

[Thinkers and Textual Studies (Western)]

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) Attempt All questions.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following in 50 words each : [10]

(1) What according to Ryle is the Official Doctrine ?

(2) Explain the notion of Herd Morality.

(3) Briefly state Wittgenstein’s understanding of philosophy.

(4) What is Epoche ?

2. Write short notes on any four of the following in 100 words

each : [20]

(1) Ryle’s notion of logical geography

(2) Alethia
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(3) Intentionality

(4) Peirce’s notion of inquiry

(5) Language game

(6) Anguish.

3. Answer any three of the following in 200 words each : [30]

(1) State and discuss Peirce’s theory of meaning.

(2) What according to Heidegger is the essence of technology ?

(3) How does Sartre respond to the objections raised by the followers

of Christianity against Existentialism ?

(4) What is picture theory of meaning ?

(5) What according to Ryle is the origin of category mistake ?

4. Answer any one of the following in 500 words : [20]

(1) Critically discuss Sullivan’s arguments against Euthanasia.

(2) Elaborately discuss Nietzsche’s doctrine of Will to Power.

(ejkBh :ikarj)

osˇ % rhu rkl ,dw.k xq.k % 80

lwpuk :— (i) loZ izðu lksMokosr-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-
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1- [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) jkbZ« ;kaP;k ers ^vf/kœr flºkar* dk; vkgs \

(2) dˇiuhrhph dYiuk Li"V djk-

(3) foV~xsuLVkbups rŸoKkufo"k;d vkd«u FkksMD;kr ekaMk-

(4) ,iksds Eg.kts dk; \

2- [kk«h«iSdh dks.kR;kgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) jkbZ« ;kaph rkfdZd Hkwxks« gh dYiuk

(2) v«sfFk;k

(3) fo"k;kfHkeq[krk

(4) fivlZ ;kaph laðkks/kukcÌ«ph dYiuk

(5) Hkkf"kd [ksˇ

(6) Hk;O;kdqˇrk-

3- [kk«h«iSdh dks.kR;kgh rhu izðukaph mŸkjs izR;sdh 200 ðkCnkar f«gk % [30]

(1) fivlZ ;kaph vFkkZph miiŸkh ekaMwu frph ppkZ djk-
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(2) gk;Msxj ;kaP;k ers ra=foKkukps lkjrŸo dk; vkgs \

(3) f“ðpu /kekZps vuq;k;h vfLrRooknkfo#º ts vk{ksi ?ksrkr] R;kauk lk=Z dlk

izfrlkn nsrkr \

(4) vFkkZph fp= miiŸkh dk; vkgs \

(5) jkbZ« ;kaP;k ers dksVh izeknkps ew« dðkkr vkgs \

4- [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) bPNkej.kkfo#º lqf«ou ;kauh ekaM«sY;k ;qfDroknkaph fpfdRld ppkZ djk-

(2) fuRðksP;k izHkqRokdka{ksP;k flºkarkph lfoLrj ppkZ djk-



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-381

T.Y. B.A. EXAMINATION, 2015

ADULT EDUCATION

General Paper III

(Historical Review of Adult Education in India)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 100

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Discuss mass movement for functional literacy. [20]

Or

Highlight the New Education Policy of 1986 with reference to Adult

Education.

2. Specify Adult Education Programme under point no. 16 of New 20

Point Programme. [20]

P.T.O.
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Or

State similarities and differences between National Adult Education

Programme 1978 and Adult Education under point no. 16 of New

20 Point Programme.

3. Specify non-formal education with special reference to age group

15-25.  [20]

Or

State the need for non-formal education programme in your community

for school dropouts and not school going youth.

4. Throw light on the work of Bombay City Social Education

Committee. [20]

Or

Discuss methods for Adult Education in urban slums.

5. Write short notes on (any two) : [20]

(a) Work of Appa Pendse

(b) Suggestions of Mahatma Phule for Hunter Commission.

(c) Contribution of Rabindranath Tagore in Adult Education.

(d) Causes for low literacy in rural area.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 100

lwpuk :— (i) loZ izðu lksMfo.ks vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. dk;kZRed lk{kjrk lkeqghd pˇoˇ dk;Zÿe ;kph ppkZ djk- [20]

fdaok

izkS< fðk{k.kkP;k lanHkkZr ufou fðk{k.k /kksj.k 1986 ;koj izdkðk Vkdk-

2. ufou 20 d«eh dk;Zÿekr d«e 16 varxZr izk S< fðk{k.k dk;Zÿe Li"V

djk- [20]

fdaok

jk"V™h; izkS< f'k{k.k dk;Zÿe 1978 vkf.k ufou 20 d«eh dk;ZÿekarxZr d«e 16

uqlkj izkS< fðk{k.k&dk;Zÿe ;k nksgkasrh« lekurk vkf.k Qjd Li"V djk-

3. 15&25 o;ksxVkP;k foðks"k lanHkkZr vukSipkfjd fðk{k.k gs Li"V djk- [20]

fdaok

vkiY;k leqnk;krh«&oLrhrh« ^ðkkˇk lksM«s«h eq«s* o ðkk šr u tk.kkjs ;qod ;kaP;klkBh

vukSipkfjd fðk{k.kkph xjt Li"V djk-
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4. ckWEcs flVh lksðk« ,sT;qdsðku dfeVh* P;k dk;kZoj izdkðk Vkdk-  [20]

fdaok

ðkgjh >ksiMiV~VÓkae/;s izkS< fðk{k.kkP;k fofo/k iºrh ;koj ppkZ djk-

5. iq<h«iSdh dks.kR;kgh nksgksaoj fVik f«gk %  [20]

(v) vIik isaMls ;kaps dk;Z

(c) gaVj dfeðku«k e- Qq«s ;kauh fn«sY;k lwpuk

(d) izkS< fðk{k.kkr jfcaÊukFk Vkxksj ;kaps ;ksxnku-

(M) xzkeh.k Hkkxkr deh lk{kjrsph dkj.ks-



Total No. of Questions—2] [Total No. of Printed Pages—2

Seat

No. [4701]-382

T.Y. B.A. EXAMINATION, 2015

COMPUTER APPLICATION VOCATIONAL

Paper V

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

1. Answer the following questions (any four) : [20]

(a) Explain Web Pyramid with diagram.

(b) Define website. Explain three types of websites.

(c) What is Search Engine ? How does it work ?

(d) What is protocol ? Explain different protocols used for

internet.

(e) What are the advantages of E-Commerce.

(f) State uses of Intranet in modern world.

P.T.O.
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2. Write short notes on (any five) : [20]

(a) E-payment

(b) Digital Certificate

(c) Image mapping

(d) Forms in Html

(e) Javascript

(f) EDI.



Total No. of Questions—5555] [Total No. of Printed Pages—4+24+24+24+2

Seat

No.
[4701]-383[4701]-383[4701]-383[4701]-383

T.Y. B.A. EXAMINATION, 2015T.Y. B.A. EXAMINATION, 2015T.Y. B.A. EXAMINATION, 2015T.Y. B.A. EXAMINATION, 2015

FUNCTIONAL ENGLISHFUNCTIONAL ENGLISHFUNCTIONAL ENGLISHFUNCTIONAL ENGLISH

(Vocational Stream)(Vocational Stream)(Vocational Stream)(Vocational Stream)

(Paper V)(Paper V)(Paper V)(Paper V)

(Introduction to Print Media and Writing for Mass Media and(Introduction to Print Media and Writing for Mass Media and(Introduction to Print Media and Writing for Mass Media and(Introduction to Print Media and Writing for Mass Media and

Key Competency Modules)Key Competency Modules)Key Competency Modules)Key Competency Modules)

(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)(2008 PATTERN)

Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80Time : Three Hours Maximum Marks : 80

N.B.N.B.N.B.N.B. :— :— :— :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1.1.1.1. (A) Prepare a news item in about 150150150150 words based on the points

given below : [15]

• Times News Network

• New Delhi

• Supreme Court commuted death penalty to life imprisonment

of 15 convicts

• Reason-delay on part of government in deciding mercy plea

• Another reason-mental illness

• 4 aids of forest brigand, Veerappan among the convicts

• 13 condemned prisoners commuted on ground of inordinate

delay on President’s part in deciding mercy plea.

• 2 convicts on account of mental illness

P.T.O.
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• Judgment may have impact on other cases

• A bench headed by Justice Sadashivam ruled-convicts given

death penalty be informed of rejection of mercy plea and

be given a chance to meet relatives before execution

• All condemned prisoners entitled to legal aid to draft mercy

petition and challenge its rejection

Or

(B) Prepare an alternative copy of the following so as to attract

the customers by making changes only in its verbal aspects. [15]

Winning the confidence of businessesWinning the confidence of businessesWinning the confidence of businessesWinning the confidence of businesses
is what has made us win.is what has made us win.is what has made us win.is what has made us win.

Australia | Bahamas | Bahrain | Bangladesh | Belgium | Canada | China | France | Germany |Australia | Bahamas | Bahrain | Bangladesh | Belgium | Canada | China | France | Germany |Australia | Bahamas | Bahrain | Bangladesh | Belgium | Canada | China | France | Germany |Australia | Bahamas | Bahrain | Bangladesh | Belgium | Canada | China | France | Germany |
Hong Kong | Indonesia | Israel | Japan | Mauritius |Oman | Qatar | Russia | Saudi  Arabia |Hong Kong | Indonesia | Israel | Japan | Mauritius |Oman | Qatar | Russia | Saudi  Arabia |Hong Kong | Indonesia | Israel | Japan | Mauritius |Oman | Qatar | Russia | Saudi  Arabia |Hong Kong | Indonesia | Israel | Japan | Mauritius |Oman | Qatar | Russia | Saudi  Arabia |

Singapore | South Africa | Sri Lanka | UAE | UK | USASingapore | South Africa | Sri Lanka | UAE | UK | USASingapore | South Africa | Sri Lanka | UAE | UK | USASingapore | South Africa | Sri Lanka | UAE | UK | USA

State Bank of India wins theState Bank of India wins theState Bank of India wins theState Bank of India wins the
Best Trade Finace Provider India Award in the Global FinanceBest Trade Finace Provider India Award in the Global FinanceBest Trade Finace Provider India Award in the Global FinanceBest Trade Finace Provider India Award in the Global Finance

World’s Best Trade Finance Provider Awards 2014World’s Best Trade Finance Provider Awards 2014World’s Best Trade Finance Provider Awards 2014World’s Best Trade Finance Provider Awards 2014

Visit us at www.sbi.co.invite or e-mail at dgmgtd log@sbi.co.inVisit us at www.sbi.co.invite or e-mail at dgmgtd log@sbi.co.inVisit us at www.sbi.co.invite or e-mail at dgmgtd log@sbi.co.inVisit us at www.sbi.co.invite or e-mail at dgmgtd log@sbi.co.in

GGGGLOBALLOBALLOBALLOBAL
    F    F    F    FINANCEINANCEINANCEINANCE
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2.2.2.2. Answer the following in about 60606060 words each (any two) : [10]

(i) What is delayed lead ? How does it become important in Feature

Articles ?

(ii) Proficiency in English is vital for a technical writer. Explain.

(iii) How are Articles different from Features ? Explain the structure

of a Feature.

(iv) Explain Nutgraph and its significance in Features.

3.3.3.3. (A) Attempt any two of the following in about 60606060 words each : [10]

(i) The scope of technical writing as a career.

(ii) Define technical writing. Give its characteristic features.

(iii) The role of technical writer in providing information to

the customers.

(B) As a technical writer prepare an instructional manual for the

following product. Give five instructions in a logical order for

the prospective customers (any one) : [5]

(i) How to create a folder on a computer ?

(ii) How to use a smart phone ?
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4.4.4.4. (A) Give Marathi or Hindi words for the English terms given below

(any ten) : [10]

(1) Director

(2) Newsreader

(3) Reminder

(4) Magazine

(5) Rural

(6) Press release

(7) Method

(8) Procedure

(9) Ban

(10) Circular

(11) Protest

(12) Advertisement.

(B) Translate the following passage into Marathi or Hindi : [10]

School friendships are taken very seriously, for men are social

creatures and like to have friends. Our school friends often
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remain loved and trusted throughout all our life. There is no

greater pleasure than to attend a gathering of old pupils of

the same school. We remember that James played for the

football Eleven, that Bill was our captain at cricket. What

a day it was thirty years ago when he made a century against

Lancing ! Our hearts warm still as we think of that exciting

match and how we carried him shoulder-high from the field,

bat in hand.

Or

Translate the following passage into English : [10]
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5.5.5.5. (A) Write short notes in about 60606060 words on any two of the

following : [10]

(i) Shots used in Films

(ii) Major types of Films

(iii) Cinematography.

(B) Write a review in about 200200200200 words of a romantic film or

an animated feature film you have watched. [10]



Total No. of Questions—4] [Total No. of Printed Pages—2

Seat

No. [4701]-384

T.Y. B.A. EXAMINATION, 2015

TRAVEL AND TOURISM MANAGEMENT

(Vocational Stream)

Paper V

(Emerging Concepts of Tourism and Tourism Development)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

(iii) Draw neat diagrams and sketches wherever necessary.

(iv) Use of map stencil is allowed.

1. Explain any two in brief (Around 50 words each) : [10]

(i) Agro tourism

(ii) Metro train

(iii) Conflict management

(iv) Exhibitions.

2. Write short notes on any four (Around 100 words each) : [20]

(i) New trends in Information Technology.

(ii) Recent trends in sports tourism.

P.T.O.
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(iii) Explain Tarkarli as beach tourism.

(iv) Doxey’s Irridex.

(v) Guidelines of sustainable tourism.

(vi) Fairs as tourism product.

3. Answer any three (200-250 words each) : [30]

(i) Explain National Tourism Policy 2002.

(ii) Religious tourism in Uttar Pradesh.

(iii) Explain destination life cycle in detail.

(iv) Negative impacts of tourism on nature.

(v) Medical tourism in Kerala.

4. Answer in detail any one (Around 500 words) : [20]

(i) Explain MICE in detail with suitable examples.

(ii) Explain the different types of tourism in East India with

examples.



Total No. of Questions—5] [Total No. of Printed Pages—4

Seat

No. [4701]-385

T.Y. B.A. EXAMINATION, 2015

(FUNCTIONAL HINDI : VOCATIONAL)

iz;kstuew«d fganh

(vuqokn] fVIi.k&izk:i.k] lafgrk ,oa Qhpj ys[ku] vkosnu] lk{kkRdkj]

lax.kd rFkk ewy{kerk ekinaM)

iz'ui= V % lSºkafrd

(2008 PATTERN)

le; % rhu ?kaVs iw.kk±d % 80

lwpuk,° :—(i) lHkh iz'u vfuok;Z gSaA

(ii) iz'u dh nkfguh vksj fy[ks x, vad iz'u ds iw.kk±d gSaA

foHkkx ^v*

1. (v) fganh esa vuqokn dhft, % [8]

Appointment Letter

No..................

Government of India

Ministry of Works and Housing

New Delhi the............

MEMORANDUM

Shrimati/Kumari/Shri...............................................is offered

a temporary post of.......................................in the Ministry of

P.T.O.
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Works and Housing, New Delhi on a pay of Rs. .............................

in the scale of Rs. ..................................He/she will also be entitled

to drew dearness and other allowances at the rates admissible

under, and subject to the conditions laid in rules and orders

governing the grant of such allowances in force from time

to time.

The terms of appointment are as follows :

(vk) vºZ&'kkldh; i= dk izk:i rS;kj dhft,A [8]

2. fdUgha pkj ij fVIif.k;k° fyf[k, % [16]

(d) fVIi.k dh vko';d Hkk"kk&'kSyh

([k) fVIi.k dh fo'ks"krk,°

(x) Loifjp; dh vko';drk,°

(?k) /kkjk 3(3) dh fjiksVks± dk n~foHkkf"kdhdj.k

(p) dk;kZy;hu i=ksa dk vuqokn

(N) izk:i ds fofHkUu izdkj

(t) vkosnu&i= ds izdkjA

foHkkx ^c*

3. (v) vkids fganh foHkkx n~okjk vk;ksftr ^fganh fnol lekjksg* dk lw=lapkyu

vki dj jgs gSaA bl lw=lapkyu dh lafgrk rS;kj dhft,A [8]

(vk) lQy mn~;kstd dh fo'ks"krk,° crkb,A [8]
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4. fdUgha ik°p ij fVIif.k;k° fyf[k, % [20]

(V) jsfM;ks lafgrk ys[ku

(B) izlkj.k ds ewyrRo

(M) Qhpj ds izdkj

(<) lw=lapkyu rFkk fuosnu dh vko';drk

(r) lk{kkRdkjµdYiuk ,oa okLro

(Fk) lk{kkRdkjdrkZ ds xq.k

(n) Mh-Vh-ih- ls lacn~/k lkW∂Vos;j

(/k) nwjn'kZu lafgrk ys[kuA

5. (v) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, fganh ikfjHkkf"kd 'kCn fyf[k, % [4]

(i) Army Headquarters

(ii) Central Reserve Police

(iii) Directorate of Estates

(iv) Election Commission

(v) Planning Commission.

(vk) fuEufyf[kr esa ls fdUgha pkj 'kCnksa ds fy, vaxzsth ikfjHkkf"kd 'kCn fyf[k, % [4]

(i) LFkxu

(ii) iz'kkldh; lqfo/kk
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(iii) la'kks/ku

(iv) vfxze

(v) vf/kizekf.krA

(b) fuEufyf[kr ds fganh i;kZ; fyf[k, % [4]

(i) I am directed to

(ii) I fully agree with the office note

(iii) In reply to your letter No. .................... dated............

(iv) Relevant papers be put up.



Total No. of Questions—4] [Total No. of Printed Pages—4

Seat

No. [4701]-387

T.Y. B.A. EXAMINATION, 2015

GANDHIAN THOUGHT

General Paper III

(Relevance of Gandhian Thought)

(2008 PATTERN)

Time : Three Hours Maximum Marks : 80

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. Answer any two of the following questions in 50 words each : [10]

(1) Explain the basic components of Sarvodaya.

(2) Explain Dada Dharmadhikari’s views on Role of Women in

Society.

(3) Bring out the importance of Nelson Mandela’s role in anti-

racist movements.

(4) Introduce briefly An San Syuki’s work in Myanmar.

P.T.O.
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2. Write short notes on any four of the following in 100 words

each  : [20]

(1) Synthesis of Gandhi and Marx

(2) Chipko Andolan

(3) Total Revolution : Jaya Prakash Narayan

(4) Women Empowerment Movements in 20th Century

(5) Vinoba’s conception of Nari Shakti

(6) Green Party Movement (Germany).

3. Answer any three of the following in 200-250 words each : [30]

(1) Explain the significance of Gandhian Model of Social

Development.

(2) Explain Dada Dharmadhikari’s views on Sarvadharmasamabhava.

(3) “Women Empowerment Movements are the need of the hour.”

Explain.

(4) Explain briefly the interpretation of Gita by Vinoba Bhave.

4. Answer any one of the following in 500 words : [20]

(1) Explain in detail Bhoodan Movement and comment on the success

and limitations of this movement.

(2) Explain and critically evaluate the work of Medha Patkar in

‘Narmada Bachao Andolan’.
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(ejkBh :ikarj)

osˇ % rhu rkl ,dw .k xq.k % 80

lwpuk :— (i) loZ izðu vkoð;d vkgs-

(ii) mtohdMh« vad iw.kZ xq.k nðkZforkr-

(iii) lanHkkZlkBh ewˇ baxzth izðuif=dk igkoh-

1. [kk«h«iSdh dks.kR;kgh nksu izðukaph mŸkjs izR;sdh 50 ðkCnkar f«gk % [10]

(1) loksZn;kps eq[; vk/kkj Li"V djk-

(2) L=h;kaph lektkrh« Hkwfedk ;kcn~n« nknk/kekZf/kdkjh ;kapk n`f"Vdksu Li"V djk-

(3) usYlu eaMs«k ;kaph oa'kfojks/kh pˇoˇhrh« Hkwfedsps egRo Li"V djk-

(4) vWu L;u L;wadh ;kaP;k E;kuekj ;sFkh« dk;kZph vksˇ[k d:u |k-

2. [kk«h«iSdh dks.krsgh pkjkaoj izR;sdh 100 ðkCnkar fVik f«gk % [20]

(1) xka/kh ekDlZ leUo;

(2) fpidks vkanks«u

(3) lexz ÿkarh % t;izdk'k ukjk;.k

(4) folkO;k 'krdkrh« L=h lc«hdj.k pˇoˇh

(5) fouksckaph ^ukfj'kDrh* gh ladYiuk

(6) xzhu ikVhZ ewOgesaV (teZuh)-
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3. [kk«h«iSdh dks.krsgh rhu izðukaph izR;sdh 200 rs 250 ðkCnkar mŸkjs f«gk % [30]

(1) xka/khthaP;k lkekftd fodklkP;k izk:ikps egRo Li"V djk-

(2) loZ/keZleHkkokcn~n« nknk /kekZf/kdkjhapk n`f"Vdksu Li"V djk-

(3) ^L=h lc«hdj.k pˇoˇh dkˇkph xjt* Li"Vhdj.k djk-

(4) fouksck Hkkosauh ds«s«s xhrsojh« Hkk"; FkksMD;kr Li"V djk-

4. [kk«h«iSdh dks.kR;kgh ,dk izðukps mŸkj 500 ðkCnkar f«gk % [20]

(1) Hkwnku pˇoˇhps lfoLrj Li"Vhdj.k d:u ;k pˇoˇhps ;'k vkf.k e;kZnk

;koj Hkk"; djk-

(2) ueZnk cpkvks vkanks«ukrh« es/kk ikVdjkaP;k dk;kZps Li"Vhdj.k d:u R;kps

fpfdRld ewY;ekiu djk-



Total No. of Questions—3] [Total No. of Printed Pages—2

Seat

No. [4701]-388

T.Y. B.A. EXAMINATION, 2015

ENTREPRENEURSHIP DEVELOPMENT

(Vocational Paper VI)

(2008 PATTERN)

Time : Two Hours Maximum Marks : 40

N.B. :— (i) All questions are compulsory.

(ii) Figures to the right indicate full marks.

1. What are the merits of Joint Stock Company as a form of

organisation ? [12]

Or

Define entrepreneurship. Explain briefly barriers to entrepreneurship.

[12]

2. What are the functions of M.C.E.D. ? [12]

Or

Write a detailed note on ‘Role of various funding agencies’. [12]

P.T.O.
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3. Write short notes on (any two) : [16]

(a) Types of entrepreneurs

(b) Marketing strategy

(c) Interpersonal relations

(d) Soft skills.
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